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Ordinary thinking (Electrovalent bonding )

1. Molecular compounds are usually formed by the combination between :

A. High ionisation potential and low electron affinity

B. Low ionisation potential and high electron affinity

C. High ionisation potential and high electron affinity

D. Low ionisation potential and low electron affinity

Answer: B

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IOkfgt9nrbeB


Watch Video Solution

2. Bond formed in crystal by anion and cation is _________.

A. ionic

B. metallic

C. covalent

D. dipole

Answer: A

Watch Video Solution

3. The species  and  contain the same number of electrons.

In which order do their radii increase ?

A. 

B. 

Ar, K + Ca2 +

Ca2 + < Ar < K +

Ca2 + < K + < Ar

https://dl.doubtnut.com/l/_IOkfgt9nrbeB
https://dl.doubtnut.com/l/_a3PE8gwkbnDU
https://dl.doubtnut.com/l/_mlwJrx1ZvfjA


C. 

D. 

Answer: B

Watch Video Solution

K + < Ar < Ca2 +

Ar < K + < Ca2 +

4. Two elements  have following electronic configurations. 


 


 


The expected compound formed by combination of X and Y will be

expresed as

A. 

B. 

C. 

D. 

Answer: A

X and Y

X : 1s22s22p63s23p64s2

Y : 1s22s22p63s23p5

XY2

X5Y2

X2Y5

XY5

https://dl.doubtnut.com/l/_mlwJrx1ZvfjA
https://dl.doubtnut.com/l/_pDKEeTkfy6ta


Watch Video Solution

5. An atom with atomic number 20 is most likely to combine chemically

with the atom whose atomic number is

A. 11

B. 14

C. 16

D. 10

Answer: C

Watch Video Solution

6. The phosphate of a metal has the formula . The formula of its

nitrate will be

A. 

MPO4

MNO3

https://dl.doubtnut.com/l/_pDKEeTkfy6ta
https://dl.doubtnut.com/l/_1sgHX2NbndG7
https://dl.doubtnut.com/l/_osAjFwI9mxaN


B. 

C. 

D. 

Answer: D

Watch Video Solution

M2(NO3)2

M(NO3)2

M(NO3)3

7. Crystal structure of NaCl is

A. NaCl molecules

B.  and  ions

C. Na and Cl atoms

D. None of the above

Answer: B

Watch Video Solution

Na+ Cl−

https://dl.doubtnut.com/l/_osAjFwI9mxaN
https://dl.doubtnut.com/l/_Muc8m6evjKWs
https://dl.doubtnut.com/l/_1fcpxgIc1Bn8


8. The sulphate of a metal has the formula . The formula for its

phosphate will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

M2(SO4)3

M(HPO4)2

M3(PO4)2

M2(PO4)3

MPO4

9. Which of the following is an electrovalent linkage ?

A. 

B. 

C. 

D. 

CH4

MgCl2

SiCl4

BF3

https://dl.doubtnut.com/l/_1fcpxgIc1Bn8
https://dl.doubtnut.com/l/_lPSnVFNfL9vQ


Answer: B

Watch Video Solution

10. Which of the following is least ionic ?

A. AgCl

B. KCl

C. 

D. 

Answer: A

Watch Video Solution

BaCl2

CaCl2

11. Two elements whose electronegativities are  and  the bond

formed between them would be

1.2 3.0

https://dl.doubtnut.com/l/_lPSnVFNfL9vQ
https://dl.doubtnut.com/l/_I4DR1IUkhWPB
https://dl.doubtnut.com/l/_NYmP1X0ByvtV


A. ionic

B. polar covalent

C. co-ordinate

D. metallic

Answer: A

Watch Video Solution

12. Which of the following is an electrovalent linkage ?

A. 

B. NaCl

C. 

D. 

Answer: B

Watch Video Solution

CH3Cl

CH4

Cl2

https://dl.doubtnut.com/l/_NYmP1X0ByvtV
https://dl.doubtnut.com/l/_4KIZa7NDRCcS


13. Formula of a metallic oxide is MO. The formula of its phosphate will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

M2(PO4)2

M(PO4)

M2PO4

M3(PO4)2

14. The molecular formula of chloride of a metal M is . The formula

of its carbonate would be

A. 

B. 

C. 

MCl3

MCO3

M2(CO3)3

M2CO3

https://dl.doubtnut.com/l/_4KIZa7NDRCcS
https://dl.doubtnut.com/l/_ecn7qKFn25O3
https://dl.doubtnut.com/l/_EwwBpzYciz94


D. 

Answer: B

Watch Video Solution

M(CO3)2

15. Which of the following is least soluble in water ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

BeF2

SrF2

CaF2

MgF2

16. When  is dissolved in water the sodium ion becomesNaCl

https://dl.doubtnut.com/l/_EwwBpzYciz94
https://dl.doubtnut.com/l/_4sYOHvWxBid4
https://dl.doubtnut.com/l/_ln7WOTZiUD1F


A. oxidized

B. reduced

C. hydrolysed

D. hydrated

Answer: D

Watch Video Solution

17. As compared to covalent compounds, electrovalent compounds,

generally have

A. high M.P. and Low B.P.

B. High dielectric constant

C. High M.P. and High B.P.

D. high polarity

Answer: A

https://dl.doubtnut.com/l/_ln7WOTZiUD1F
https://dl.doubtnut.com/l/_5Du21cjha0GR


Watch Video Solution

18. An electrovalent bond is formed between

A. Good conductor of electricity

B. Polar in nature

C. Low M.P. and Low B.P.

D. Easily available

Answer: B

Watch Video Solution

19. Solid NaCl is a bad conductor of electricity because

A. in Solid NaCl there are no ions

B. Solid NaCl is covalent

C. In solid NaCl there is no motion of ions

https://dl.doubtnut.com/l/_5Du21cjha0GR
https://dl.doubtnut.com/l/_HKUDg0VvO5gc
https://dl.doubtnut.com/l/_Ufl7jAkipnE2


D. In solids NaCl there are no electrons

Answer: C

Watch Video Solution

20. The strongest bond is

A. Ionic

B. Covalent

C. Hydrogen bond

D. Metallic

Answer: A

Watch Video Solution

21. The interionic attraction depends on interaction of

https://dl.doubtnut.com/l/_Ufl7jAkipnE2
https://dl.doubtnut.com/l/_ugUMYGMD88KK
https://dl.doubtnut.com/l/_Muc2962S4PcY


A. solute-solute

B. solvent-solvent

C. the charges

D. molecular properties

Answer: C

Watch Video Solution

22. Which one is most ionic ?

A. Cs-Cl

B. Al-Cl

C. C-Cl

D. H-Cl

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Muc2962S4PcY
https://dl.doubtnut.com/l/_dIAK3sCoNUEE


23. A compound is formed by the substitution of two chlorine atoms for

two hydrogen atoms in propane. Write the structures of the isomers

possible. 

Give the IUPAC name of the isomer which can exhibit enantiomerism.

A. H-Cl

B. Cl-Cl

C. Na-Cl

D. C-Cl

Answer: C

Watch Video Solution

24. What is the effect of more electronegative atoms on the strength of

an ionic bond ?

https://dl.doubtnut.com/l/_dIAK3sCoNUEE
https://dl.doubtnut.com/l/_8kWV1Ocmaq3i
https://dl.doubtnut.com/l/_wClwrquESk5W


A. Decreases

B. Increases

C. Decreases slowly

D. Remains the same

Answer: B

Watch Video Solution

25. Which of the following compound contains ionic as well as covalent

bonds?

A. NaCl

B. 

C. 

D. 

Answer: B

NaClO4

PCl3

POCl3

https://dl.doubtnut.com/l/_wClwrquESk5W
https://dl.doubtnut.com/l/_x8GYelQzHLHm


Watch Video Solution

26. Out of the following which compound will have electrovalent bonding

A. He

B. CsF

C. 

D. 

Answer: B

Watch Video Solution

NH3

CHCl3

27. Out of the following which compound will have electrovalent bonding

A. Ammonia

B. Water

C. Calcium chloride

https://dl.doubtnut.com/l/_x8GYelQzHLHm
https://dl.doubtnut.com/l/_6wVKWXzP5iI9
https://dl.doubtnut.com/l/_Vevl3Vd0Xwxv


D. Chloromethane

Answer: C

Watch Video Solution

28. The bonds present in  are

A. only ionic

B. only covalent

C. covalent and coordinate

D. ionic and coordinate

Answer: C

View Text Solution

N2O4

29. Which compound has electrovalent bond

https://dl.doubtnut.com/l/_Vevl3Vd0Xwxv
https://dl.doubtnut.com/l/_sMgg4M0R1Xwz
https://dl.doubtnut.com/l/_g7YutsEXEL9h


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O2

CCl4

NaBr

CHCl3

30. Which of the following is least ionic ?

A. 

B. KCl

C. 

D. 

Answer: A

Watch Video Solution

C2H5Cl

BaCl2

C6H5N
+H3Cl

−

https://dl.doubtnut.com/l/_g7YutsEXEL9h
https://dl.doubtnut.com/l/_fziaChy55jcu


31. Ionic compounds do not have

A. hard and brittle nature

B. high melting and boiling point

C. directional properties

D. soluble in polar solvents

Answer: C

Watch Video Solution

32. Which one is the strogest bond

A. Br-F

B. F-F

C. Cl-F

https://dl.doubtnut.com/l/_fziaChy55jcu
https://dl.doubtnut.com/l/_XBBAfwHoLEmc
https://dl.doubtnut.com/l/_8QJ7Jcx7cVVv


D. Br-Cl

Answer: A

Watch Video Solution

33. Highest melting point would be of

A. He

B. CsCl

C. 

D. 

Answer: B

Watch Video Solution

NH3

CHCl3

34. Which type of bonding exists in  and  respectivelyLi2O CaF2

https://dl.doubtnut.com/l/_8QJ7Jcx7cVVv
https://dl.doubtnut.com/l/_6qbsAxtRnSSf
https://dl.doubtnut.com/l/_Dre9VqFfdlRw


A. covalent ,covalent

B. Ionic, ionic

C. Ionic, covalent

D. covalent, ionic

Answer: B

Watch Video Solution

35. Which of the following statements is not true for ionic compounds ?

A. high melting point

B. least lattice energy

C. least solubility in organic compounds

D. soluble in water

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Dre9VqFfdlRw
https://dl.doubtnut.com/l/_vfv4zM5BWiPk


36. Which of the following has the highest melting point ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

BeCl2

MgCl2

CaCl2

BaCl2

37. Lattice energy of an ionic compound depedns upon :

A. charge on the ion only

B. size of the ion only

C. packing of ions only

https://dl.doubtnut.com/l/_vfv4zM5BWiPk
https://dl.doubtnut.com/l/_jLh0AZtSXyTY
https://dl.doubtnut.com/l/_CWNP1uIw1oZl


D. charge on the ion and size of the ion

Answer: D

Watch Video Solution

38. Which of the following compounds contains ionic bonds?

A. Kl

B. 

C. diamonds

D. 

Answer: A

Watch Video Solution

CH4

H2

https://dl.doubtnut.com/l/_CWNP1uIw1oZl
https://dl.doubtnut.com/l/_EnYPYA8uRmih


39. The electronic structure of four elements  are 


(a)  (b)  


( c)  (d)  


The tendency to form electrovalent bond is largest in

A. A

B. B

C. C

D. D

Answer: C

Watch Video Solution

A, B, C, D

1s2 1s2, 2s2, 2p2

1s2, 2s2, 2p5 1s2, 2s22p6

40. The order of stability of metal oxides is

A. 

B. 

Cr2O3 < MgO < Al2O3 < Fe2O3

Fe2O3 < Cr2O3 < Al2O3 < MgO

https://dl.doubtnut.com/l/_RblxjHLamsAZ
https://dl.doubtnut.com/l/_MoOgaIDPMRvs


C. 

D. 

Answer: B

Watch Video Solution

Fe2O3 < Al2O3 < Cr2O3 < MgO

Al2O3 < MgO < Fe2O3 < Cr2O3

41. An element X with the electronic configuration  would

be expected to form the chloride with the formula

A. 

B. 

C. XCl

D. 

Answer: B

View Text Solution

1s2, 2s22p6, 3s2

XCl3

XCl2

X2Cl

https://dl.doubtnut.com/l/_MoOgaIDPMRvs
https://dl.doubtnut.com/l/_jRuS2PaDUI31
https://dl.doubtnut.com/l/_I0BqGAowTGSa


42. The electronic configuration of four elements  and  are

given in brackets 

 


 


The formula of ionic compounds that can be formed between elements

are

A.  ,PQ and 

B.  and RQ

C. ,RL,PQ and 

D.  and RQ

Answer: C

Watch Video Solution

L, P , Q R

L(1s2, 2s2, 2p4), P(1s2, 2p6, 3s1)

Q(1s2, 2s22p6, 3s23p5), R(1s2, 2s22p6, 3s2)

L2P , RL R2Q

LP , RL, PQ

P2L RQ2

LP , R2L, P2Q

43. From the following which group of elements easily forms cation

A. F,Cl,Br

https://dl.doubtnut.com/l/_I0BqGAowTGSa
https://dl.doubtnut.com/l/_XbySY9Y7zuat


B. Li,Na,K

C. O,S,Se

D. N,P,As

Answer: B

Watch Video Solution

44. Chemical formula for calcium pyrophosphate is . The

formula for ferric pyrophosphate will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ca2P2O7

Fe3(P2O7)3

Fe4P4O14

Fe4(P2O7)3

Fe3PO4

https://dl.doubtnut.com/l/_XbySY9Y7zuat
https://dl.doubtnut.com/l/_G8gHrekJZhzJ


45. Assertion : Water is a good solvent for ionic compounds but poor one

for covalent compounds. 

Reason :Hydrogen energy of ions realeases sufficient energy to overcome

lattice energy and break hydrogen bonds in water, white covalent bonded

compound interact so weakly that even van der walls force between

molecule of convalent compounds cannot be broken .

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_G8gHrekJZhzJ
https://dl.doubtnut.com/l/_g23Irqt0Cb5v


46. Assertion: Order of lattice energy for same halides are as

. 


Reason: Size of alkaline -earth metal increases from Li to K

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: C

Watch Video Solution

LiX < NaX < KX

47. Assertion:Born-Haber cycle is based on Hess's law. 

Reason: Lattice enthalpy can be calculated by Born-Haber cycle

https://dl.doubtnut.com/l/_98XVvD1rqKZx
https://dl.doubtnut.com/l/_oimv8dMzfuX4


A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: B

Watch Video Solution

48. Magnesium reacts with an element (X) to form an ionic compound. If

the ground state electronic configuration of (X) is , the simplest

formula for this compounds is

A. 

B. 

C. 

1s22s22p3

Mg2X3

MgX2

Mg2X

https://dl.doubtnut.com/l/_oimv8dMzfuX4
https://dl.doubtnut.com/l/_BDRE7Ws51Hoi


Ordinary thinking (Covalent bonding)

D. 

Answer: D

View Text Solution

Mg3X2

1. Ionic and covalent bonds are present in

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

CCl4

CaCl2

NH4Cl

H2O

https://dl.doubtnut.com/l/_BDRE7Ws51Hoi
https://dl.doubtnut.com/l/_yUudKWsfxXl4
https://dl.doubtnut.com/l/_EnecBRdkcTuf


2. The table shown below gives the bond dissociation emergies  for

single covalent bonds of carbon (C) atoms with element A,B,C and D.

which element has the smallest atoms 

A. A

B. B

C. C

D. D

Answer: D

Watch Video Solution

(Ediss)

https://dl.doubtnut.com/l/_EnecBRdkcTuf


3. The correct sequence of increasing covalent character is represent by

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

LiCl < NaCl < BeCl2

BeCl2 < NaCl < LiCl

NaCl < LiCl < BeCl2

BeCl2 < LiCl < NaCl

4. Which one of the electron deficient compounds

A. ICl

B. 

C. 

D. 

NH3

BCl3

PCl3

https://dl.doubtnut.com/l/_5YDSid9aKSDW
https://dl.doubtnut.com/l/_nVTFgGYDfRVn


Answer: C

View Text Solution

5. Which of the following statements is correct for covalent bonds

A. Electrons are shared between two atoms

B. it may be polar or non-polar

C. Direction is non-polar

D. Valency electrons are attracted

Answer: A::B

Watch Video Solution

6. The octet rule is not followed in

A. F2

https://dl.doubtnut.com/l/_nVTFgGYDfRVn
https://dl.doubtnut.com/l/_3Sz8wBp5jjOW
https://dl.doubtnut.com/l/_rAZ9jRMh8nW5


B. NaF

C. 

D. 

Answer: D

Watch Video Solution

CaF2

BF3

7. With which of the given pairs,  resembles

A. 

B. 

C. 

D.  and 

Answer: A

Watch Video Solution

CO2

HgCl2, C2H2

HgCl2, SnCl4

C2H2, NO2

N2O NO2

https://dl.doubtnut.com/l/_rAZ9jRMh8nW5
https://dl.doubtnut.com/l/_VFMxhS5uAj9w
https://dl.doubtnut.com/l/_xld4yIVMpfXO


8. Covalent compounds are generally.........in water

A. soluble

B. insoluble

C. dissociated

D. hydrolysed

Answer: B

Watch Video Solution

9. As compared to covalent compounds, electrovalent compounds,

generally have

A. Low melting points and low boiling points

B. Low melting points and high boiling points

C. High melting point and low boiling points

D. high melting points and high boiling points

https://dl.doubtnut.com/l/_xld4yIVMpfXO
https://dl.doubtnut.com/l/_fUAuf5IchTt8


Answer: D

Watch Video Solution

10. If the atomic number of element X is 7, the best electron dot symbol

for the element is _________.

A. X.

B. .X.

C. 

D. 

Answer: C

Watch Video Solution

.
.

X.
.

..

:X.
. .

11. Which is the most covalent?

https://dl.doubtnut.com/l/_fUAuf5IchTt8
https://dl.doubtnut.com/l/_tqZEJdQq0erF
https://dl.doubtnut.com/l/_Kgr2tT08bfX3


A. C-O

B. C-Br

C. C-S

D. C-F

Answer: C

Watch Video Solution

12. Strongest bond is

A. C-C

B. C-H

C. C-N

D. C-O

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_Kgr2tT08bfX3
https://dl.doubtnut.com/l/_eshliMIWuTh3


13. Which of the following has covalents bond

A. 

B. 

C. NaH

D. 

Answer: B

Watch Video Solution

Na2S

AlCl3

MgCl2

14. Which type of bond is present in  molecule

A. Ionic bond

B. covalent bond

C. co-ordinate

H2S

https://dl.doubtnut.com/l/_eshliMIWuTh3
https://dl.doubtnut.com/l/_nhjZyxWV1pHt
https://dl.doubtnut.com/l/_9d5X4SfHLXRM


D. All of three

Answer: B

Watch Video Solution

15. The major binding force of diamond, silicon and quartz is

A. Electrostatic force

B. Electrical attraction

C. Covalent bond force

D. Non-covalent bond force

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_9d5X4SfHLXRM
https://dl.doubtnut.com/l/_OrrJLn6i0IGU


16. Among the species , CO, HCHO which has

longest carbon-oxygen bond

A. 

B. 

C. HCHO

D. 

Answer: D

Watch Video Solution

CO2, CO2 −
3 , CH3COO

−

CO2

CH3COO
−

CO2 −
3

17. The covalent bond length is the shortest in which of the following

bonds

A. C-O

B. C-C

C. C ≡ N

https://dl.doubtnut.com/l/_KmLDvXnRJACy
https://dl.doubtnut.com/l/_PT3xMDFxo6eU


D. 

Answer: D

Watch Video Solution

O − H

18. The normality of  phosphorous acid  is:

A. 2

B. 5

C. 4

D. 1

Answer: B

Watch Video Solution

0.3M H3PO3

19. Oxidation number of sulphur in  isNa2S2O3

https://dl.doubtnut.com/l/_PT3xMDFxo6eU
https://dl.doubtnut.com/l/_lA0dCoyd65bf
https://dl.doubtnut.com/l/_DJU4cm2LgCPU


A. Two

B. Three

C. Four

D. six

Answer: A

Watch Video Solution

20. Which of the following has a giant covalent structure?

A. Iodnine crystal

B. Solid 

C. Silica

D. White phosphorous

Answer: C

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_DJU4cm2LgCPU
https://dl.doubtnut.com/l/_zhPUo6jUH5Rn


21. The nature of chemical bonding in graphite is

A. Covalent

B. ionic

C. Metallic

D. Coordinate

Answer: A

Watch Video Solution

22. Which of the following atoms has miniumum covalent radius

A. B

B. C

C. N

https://dl.doubtnut.com/l/_zhPUo6jUH5Rn
https://dl.doubtnut.com/l/_7igOoI8xugyU
https://dl.doubtnut.com/l/_5vvHNc5mqZMJ


D. Si

Answer: C

Watch Video Solution

23. Silicon has 4 elements in the outermost orbit. In forming the bonds,

A. It gains electrons

B. It loses electrons

C. It shares electrons

D. None of these

Answer: C

Watch Video Solution

24. Bond energy of covalent  bond in water isO − H

https://dl.doubtnut.com/l/_5vvHNc5mqZMJ
https://dl.doubtnut.com/l/_1I80TjXJ2CSU
https://dl.doubtnut.com/l/_Bdwib7z2i4pb


A. Greater than bond energy of H-bonds

B. Equal to bond energy of H-bonds

C. Less than bond energy of H-bond

D. None of these

Answer: A

Watch Video Solution

25. Maximum covalent character is associated with the compound

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CaF2

CaCl2

CaBr2

CaI2

https://dl.doubtnut.com/l/_Bdwib7z2i4pb
https://dl.doubtnut.com/l/_iTqSOv5AOls5


26. The octer rule is not valid for the molecule .

A. 

B. 

C. CO

D. 

Answer: C

Watch Video Solution

CO2

H2O

O2

27. COVALENT BONDING

A. Germanium

B. Sodium chloride

C. Solid neon

https://dl.doubtnut.com/l/_iTqSOv5AOls5
https://dl.doubtnut.com/l/_Nz1HbHRCwMyi
https://dl.doubtnut.com/l/_yzi42JCNzkpH


D. Copper

Answer: A

Watch Video Solution

28. The species ,and  which are isoelectronic with , are

much more reactive than  because

A. CO

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO, CN − NO+ N2

N2

N +
2

N −
2

O+
2

https://dl.doubtnut.com/l/_yzi42JCNzkpH
https://dl.doubtnut.com/l/_C0Vr7SSQoba4


29. A covalent bond is formed between

A. Electron nuclear attraction

B. Electron sharing

C. Electron transfer

D. Electrostatic attraction

Answer: B

Watch Video Solution

30. The electronic configuration of metal M is  The formula

of its oxide will be :

A. MO

B. 

C. 

D. 

1s22s22p63s1.

M2O

M2O3

MO2

https://dl.doubtnut.com/l/_ghCdYQzfvWX5
https://dl.doubtnut.com/l/_L0OmZ8NdXMNd


Answer: B

Watch Video Solution

31. Which of the following statements regarding covalent bond is not

true

A. The electrons are shared between atoms

B. the bond is non-directional

C. the strength of the bond depends upon the extent of overlaping

D. the bond formed may or may not be polar

Answer: B

Watch Video Solution

32. VALENCY OF AN ATOM

https://dl.doubtnut.com/l/_L0OmZ8NdXMNd
https://dl.doubtnut.com/l/_n0P2PAJlmqKP
https://dl.doubtnut.com/l/_s3HGefIY0NpO


A. Combining power of an atom

B. Atomicity of an element

C. oxidation number of an element

D. Charge on an ion

Answer: A

Watch Video Solution

33. The molecule of sulphuric acid contains

A. Only covalent bonds

B. Covalent and ionic bonds

C. Covalent and co-ordinate bonds

D. covalent, ionic and co-ordinate bonds

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_s3HGefIY0NpO
https://dl.doubtnut.com/l/_SBYXoxpuk8fH


34. The interatomic distance in  and  molecules are 74 an d198 pm

respectively. The bond length of HCI is

A. 272 pm

B. 136 pm

C. 124 pm

D. 248 pm

Answer: B

Watch Video Solution

H2 CI2

35. Among the following which property is commonly exhibited by a

covalent compound

A. High solubility in water

B. High electrical conductance

https://dl.doubtnut.com/l/_SBYXoxpuk8fH
https://dl.doubtnut.com/l/_tqIbjy0gz8dJ
https://dl.doubtnut.com/l/_SuLMDkinaNPX


C. Low boiling point

D. High melting point

Answer: C

Watch Video Solution

36. Which of the following is the correct electron-dot structure of 

molecule?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N2O

:N = N =
. .

O
. .

:N ≡ N + −
. .

O:
. .

−

. .

N
. .

−
. .

N =
. .

O
. .

:N = N =
. .

O:
. .

https://dl.doubtnut.com/l/_SuLMDkinaNPX
https://dl.doubtnut.com/l/_QZVdpwmSGlvJ
https://dl.doubtnut.com/l/_5hiiJB2WScUE


37. How many electrons pairs are present in valence shell of oxygen in

water molecule

A. 4

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

38. Boron form covalent compound due to

A. small size

B. higher ionization energy

C. lover ionization energy

D. both (a) and (B)

https://dl.doubtnut.com/l/_5hiiJB2WScUE
https://dl.doubtnut.com/l/_yeg4qNXhCFA0


Answer: D

Watch Video Solution

39. The following element forms a molecules with eight its own atoms

A. Si

B. S

C. Cl

D. F

Answer: B

Watch Video Solution

40. Number of electrons in the valence orbit of nitrogen in an ammonia

molecule are

https://dl.doubtnut.com/l/_yeg4qNXhCFA0
https://dl.doubtnut.com/l/_w3Mq7SLJ8zwe
https://dl.doubtnut.com/l/_B0VgaXOHzV2A


A. 8

B. 5

C. 6

D. 7

Answer: A

Watch Video Solution

41. Covalent compounds have low melting points because

A. covalent bond is less exothermic

B. covalent molecules have definite shape

C. covalent bond is weaker than ionic bond

D. covalent molecules are held by weak Vander waal's force of

attraction

Answer: D

https://dl.doubtnut.com/l/_B0VgaXOHzV2A
https://dl.doubtnut.com/l/_iBlRiUWL8VY4


Watch Video Solution

42. Sodium chloride is an ionic compound whereas hydrogen chloride is a

gas because

A. sodium is reactive

B. covalent bond is weaker than ionic bond

C. hydrogen chloride is a gas

D. covalent bond is stronger than ionic bond

Answer: B

Watch Video Solution

43. Which of the following is not the characteristic of a covalent

compound ?

A. low melting point

https://dl.doubtnut.com/l/_iBlRiUWL8VY4
https://dl.doubtnut.com/l/_4M3wTcRCd5YB
https://dl.doubtnut.com/l/_IyXoQ8UDwrzV


B. No definite geometry

C. insoluble in polar solvent

D. small difference in electronegativily between the combining atoms

Answer: B

Watch Video Solution

44. Among the following groupings, which one represents the set of iso-

electronic species

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NO+ , C 2 −
2 , O−

2 , CO

N2, C 2 +
2 , CO, NO

CO, NO+ , CN − , C 2 −
2

NO, CN − , N2, O−
2

https://dl.doubtnut.com/l/_IyXoQ8UDwrzV
https://dl.doubtnut.com/l/_3CEaWybs748I


45. Among  and  which are covalent hydrides?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

CaH2, NH3, NaH B2H6

NH3 B2H6

NaH CaH2

NaH NH3

CaH2 B2H6

46. Among the following the maximum covalent character is shown by the

compound

A. 

B. 

C. 

FeCl2

SnCl2

AlCl3

https://dl.doubtnut.com/l/_3CEaWybs748I
https://dl.doubtnut.com/l/_tpJvNFQ8ggUL
https://dl.doubtnut.com/l/_fnsaa7sI0MF4


D. 

Answer: C

Watch Video Solution

MgCl2

47. Which of the following substances when dissolved in water will give a

solution that does not conduct electricity

A. Hydrogen chloride

B. potassium hydroxide

C. sodium acetate

D. Urea

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_fnsaa7sI0MF4
https://dl.doubtnut.com/l/_N9wkDKHLI9fC


48. Consider the molecules  and  which of the given

statement is false ?

A. The H-CH-H bond angle in , the H-N-H bond angle in  and

the  bond angle in  are all greater than 

B. The H-O-H bond angle in  is larger than the H-C-H bond angle in

C. The H-O-H bond angle in  is smaller than the H-C-N bond angle

in 

D. H-C-H bond angle in  is larger than the H-N-H bond angle in 

Answer: B

Watch Video Solution

CH4, NH3 H2O

CH4 NH3

H − O − H H2O 90∘

H2O

CH4

H2O

NH3

CH4

NH3

https://dl.doubtnut.com/l/_Ihej5JdUs1Sj


49. If a molecule  has a triple bond, then X will have the electronic

configuration

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

X2

1s22s22p5

1s22s22p3

1s22s1

1s12s22p1

50. Which of the following compounds does not follow the octet rule the

electron distribution

A. 

B. 

C. 

PCl5

PCl3

H2O

https://dl.doubtnut.com/l/_mynVjdd95YdH
https://dl.doubtnut.com/l/_HmPqPOECaLOJ


D. 

Answer: A

Watch Video Solution

PH3

51. Why is  more acidic than water ?

A. O is more electronegativity than S

B. O-H bond is stronger than S-H bond

C. O-H bond is weaker than S-H bond

D. None of these

Answer: B

Watch Video Solution

H2S

https://dl.doubtnut.com/l/_HmPqPOECaLOJ
https://dl.doubtnut.com/l/_Dw9BY3hlhgw2


52. The electronic configuration of four elements  and  are given

in brackets 

 


 


The formula of ionic compounds that can be formed between elements

are

A. Q

B. M

C. R

D. L

Answer: B

Watch Video Solution

L, P , Q R

L(1s2, 2s2, 2p4), P(1s2, 2p6, 3s1)

Q(1s2, 2s22p6, 3s23p5), R(1s2, 2s22p6, 3s2)

53. Which of the following occurs, when two hydrogen atoms bond with

each other

https://dl.doubtnut.com/l/_tIqrNeHBoI0p
https://dl.doubtnut.com/l/_N1gmKgjpnckr


A. Potential energy is lowered

B. Kinetic energy is lowered

C. Electronic motion ceases

D. Energy is absorbed

Answer: A

Watch Video Solution

54. Indicate the nature of bonding in  and 

A. Covalent in  and electrovalent in 

B. Electrovalent in both  and 

C. Covalent in both  and 

D. Electrovalent in  and covalent in 

Answer: A

Watch Video Solution

CCl4 CaH2

CCl4 CaH2

CCl4 CaH2

CCl4 CaH2

CCl4 CaH2

https://dl.doubtnut.com/l/_N1gmKgjpnckr
https://dl.doubtnut.com/l/_e9WC9BupvgzV


55. Carbon has a valency of 2 in CO and 4 in  and . Its valency in

acetylene  is

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

CO2 CH4

(C2H2)

56. Assertion : The atoms in a covalent molecule are said to share

electrons, yet some covalent molecule are polar. 

Reason :In a polar covalent molecule , the shared electron spend more

time on the average near one of the atoms .

https://dl.doubtnut.com/l/_e9WC9BupvgzV
https://dl.doubtnut.com/l/_FxLmqIdQIBBe
https://dl.doubtnut.com/l/_s9au0vjaBqRN


A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: A

Watch Video Solution

57. Assertion : Diborane is electron deficient. 

Reason: There are no enough valence electrons to form the expected

number of covalent bonds.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

https://dl.doubtnut.com/l/_s9au0vjaBqRN
https://dl.doubtnut.com/l/_AQ8vPfMtWr6Q


B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: A

Watch Video Solution

58. The bond between two identical nonmetal atoms has a pair of

electrons

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

https://dl.doubtnut.com/l/_AQ8vPfMtWr6Q
https://dl.doubtnut.com/l/_1b8cUcScYnh3


D. if the assertion and reason both are false

Answer: D

Watch Video Solution

59. Assertion (A): The fluorine has lower reactivity. 

Reason (R ): F-F bond has low bond dissociation energy.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if assertion is false but reason in true.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_1b8cUcScYnh3
https://dl.doubtnut.com/l/_41BUNM1gSgtF


Ordinary thinking (Coordinate or dative bonding )

1. A coordinate bond is formed when an atom an atom in a molecule has

A. electric charge on it

B. All its valency electrons shared

C. A single unshared electrons

D. one or more unshared electron pair.

Answer: D

Watch Video Solution

2. Which one of the following molecules has a coordinate bond

A. 

B. 

NH4Cl

AlCl3

https://dl.doubtnut.com/l/_41BUNM1gSgtF
https://dl.doubtnut.com/l/_tRMEwZZuq34z
https://dl.doubtnut.com/l/_DQxdt9AFE4gK


C. 

D. 

Answer: A

Watch Video Solution

NaCl

Cl2

3. Coordinate covalent compounds are formed by

A. Transfer of electrons

B. Sharing of electrons

C. Donation of electrons

D. None of these process

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_DQxdt9AFE4gK
https://dl.doubtnut.com/l/_UTnbyVaAbHem


4. The bond that exists between  and  is called

A. Electrovalent

B. Covalent

C. Coordinate

D. hydrogen

Answer: C

Watch Video Solution

NH3 BF3

5. The compound containing coordinate bond is

A. 

B. 

C. 

D. All of these

O3

SO3

H2SO4

https://dl.doubtnut.com/l/_IS6OCBjQs18g
https://dl.doubtnut.com/l/_gSyAtuKcIHff


Answer: D

Watch Video Solution

6. Sulphuric acid provides a simple example of

A. co-ordinate bonds

B. non-covalent compound

C. covalent and co-orndinate bond

D. non-covalent ion

Answer: C

Watch Video Solution

7.  is a

A. All ionic

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_gSyAtuKcIHff
https://dl.doubtnut.com/l/_KKOKt2awUdzh
https://dl.doubtnut.com/l/_nByLfRF4qf0c


B. All covalent

C. Ionic and covalent

D. Ionic, covalent and coordinate covalent

Answer: D

Watch Video Solution

8. The compound which contains both covalent and coordinate bond is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

BF3. NH3

CH2Cl2

C2H4

CH3NH2

https://dl.doubtnut.com/l/_nByLfRF4qf0c
https://dl.doubtnut.com/l/_nxth3iKvJMcn
https://dl.doubtnut.com/l/_4JJMEexVU6xm


9. The number of dative bonds in sulphuric acid molecule is

A. 0

B. 1

C. 2

D. 4

Answer: C

Watch Video Solution

10. The compound containing coordinate bond is

A. 

B. 

C. 

D. 

SO2 −
3

CH4

CO2

NH3

https://dl.doubtnut.com/l/_4JJMEexVU6xm
https://dl.doubtnut.com/l/_fNgHfFn4vnFe


Answer: A

Watch Video Solution

11. The coordinate bond is absent in

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

BH Θ
4

CO− 2
3

H3O
+

NH
⊕

4

12. Which of the following contains a coordinate covalent bond?

A. CH3NC

https://dl.doubtnut.com/l/_fNgHfFn4vnFe
https://dl.doubtnut.com/l/_FEXyTuq3709r
https://dl.doubtnut.com/l/_BQdkZLT6orXq


B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3OH

CH3Cl

NH3

13. The structure of orthophosphoric acid is

A. 

B. 

C. 

D. 

H − O −

O

↑

P
∣

O
∣

H

− O − H

O ←

H

↑

P
∣

O
∣

H

− O − H

O ←

H

∣

P
∣

H

− O − H

H − O −

O

↑

P = O

https://dl.doubtnut.com/l/_BQdkZLT6orXq
https://dl.doubtnut.com/l/_U3GhqepjqpXG


Answer: A

Watch Video Solution

14. What is the nature of the bond between B and O in 

A. Covalent

B. Co-ordinate covalent

C. Ionic bond

D. Banana shaped bond

Answer: B

Watch Video Solution

(C2H5)2OBH3

15. Which of the following compounds shows ionic, covalent and co-

ordinate bonds as well ?

https://dl.doubtnut.com/l/_U3GhqepjqpXG
https://dl.doubtnut.com/l/_o2c0RNLGND7v
https://dl.doubtnut.com/l/_lNJfKb4rXVx5


Ordinary thinking (Dipole moment )

A. Water

B. Ammonia

C. Sodium cyanide

D. potassium bromide

Answer: C

Watch Video Solution

1. Which of the following molecules does not posses a permanent dipole

moment

A. 

B. 

C. 

D. 

H2S

SO2

CS2

SO3

https://dl.doubtnut.com/l/_lNJfKb4rXVx5
https://dl.doubtnut.com/l/_52uqbFgtzy8S


Answer: C

Watch Video Solution

2. Which of the following would have permanent dipple moment ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

BF3

SiF4

SF4

XeF4

3. The electronegaivity difference between  and  is greater than that

between  and  yet the dipole moment of  ( 1 .5 D) is larger than

that of . This is because :

N F

N H NH2

NF3(0. 2D)

https://dl.doubtnut.com/l/_52uqbFgtzy8S
https://dl.doubtnut.com/l/_z839AqiK5AJB
https://dl.doubtnut.com/l/_tbaGrnwivrev


A. In  as well as  the atomic dipole and bond dipole are in

opposite directions

B. In  the atomic dipole and bond dipole are in the opposite

directions whears in  these are in the same direction

C. in  as well as in  the atomic dipole and bond dipole are in

the same direction

D. In  the atomic dipole and bond dipole are in the same

direction wheras in  these are in opposite directions

Answer: D

Watch Video Solution

NH3 NF3

NH3

NF3

NH3 NF3

NH3

NF3

4. Dipole-induced dipole interaction are present in which of the following

pairs

A.  and He atomsSiF4

https://dl.doubtnut.com/l/_tbaGrnwivrev
https://dl.doubtnut.com/l/_UlIK1cA0gl2A


B.  and alcohol

C.  and 

D. HCl and He atoms

Answer: D

Watch Video Solution

H2O

Cl2 CCl4

5. Which of the following molecules has the maximum dipole moment ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

NF3

CO2

CH4

https://dl.doubtnut.com/l/_UlIK1cA0gl2A
https://dl.doubtnut.com/l/_VbZqzc2CF5wg
https://dl.doubtnut.com/l/_0k2vtyTPclXG


6. Which bond angle,  would result in the maximum dipole moment for

the triatomic molecule  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

θ

XY2

θ = 90∘

θ = 120∘

θ = 150∘

θ = 180∘

7. The molecule which has zero dipole moment is

A. 

B. 

C. 

D. 

NH3

H2O

BCl3

SO2

https://dl.doubtnut.com/l/_0k2vtyTPclXG
https://dl.doubtnut.com/l/_M6HICIT31NBK


Answer: C

Watch Video Solution

8. The molecule which has the largest dipole moment amongst the

following is

A. HCl

B. Hl

C. HBr

D. HF

Answer: D

Watch Video Solution

9. The dipole moment of chlorobenzene is 1.73 D . The dipole moment of

p-dichlorobenzene is expected to be

https://dl.doubtnut.com/l/_M6HICIT31NBK
https://dl.doubtnut.com/l/_UP5ZU5xVtkuo
https://dl.doubtnut.com/l/_ucSP3XXhPwJN


A. 3.46 D

B. 0.00D

C. 1.73 D

D. 1.00 D

Answer: B

Watch Video Solution

10. Which of the following has zero dipole moment ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH2Cl2

CH4

NH3

PH3

https://dl.doubtnut.com/l/_ucSP3XXhPwJN
https://dl.doubtnut.com/l/_uHfef1FY9fDq


11. Which of the following is the most polar?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CCl4

CHCl3

CH3OH

CH3Cl

12. Which of the following is a polar compound ?

A. HCl

B. 

C. 

H2Se

CH4

https://dl.doubtnut.com/l/_uHfef1FY9fDq
https://dl.doubtnut.com/l/_UsG5WMt8qgXM
https://dl.doubtnut.com/l/_ockDY5wVd3C9


D. HI

Answer: A

Watch Video Solution

13. If the molecule of HCl were totally polar, the observed value of dipole

moment is 1.03 D (debye) but the experimental value of dipole moment

was 6.12 D. Calculate the percentage ionic character.

A. 17

B. 83

C. 50

D. 90

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ockDY5wVd3C9
https://dl.doubtnut.com/l/_I29H3ZgJ3viI
https://dl.doubtnut.com/l/_6XsBmvBYRr6R


14. Which of the following has the least dipole moment?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CCl4

CHCl3

CH3CH2OH

CH3COCH3

15. Which of the following compounds possesses zero dipole moment ?

A. water

B. boron trifluoride

C. benzene

D. carbon tetrachloride

https://dl.doubtnut.com/l/_6XsBmvBYRr6R
https://dl.doubtnut.com/l/_J08xwqUSkeIf


Answer: A

Watch Video Solution

16. Among the following, the molecule with the highest dipole moment is

:

A. water

B. boron trifluoride

C. benzene

D. carbon tetrachloride

Answer: A

Watch Video Solution

17. The unequal sharing of bonded pair of electrons between two atoms

in a molecule causes ___________.

https://dl.doubtnut.com/l/_J08xwqUSkeIf
https://dl.doubtnut.com/l/_fhIPbJpxvICo
https://dl.doubtnut.com/l/_A42kg3eLu98z


A. dipole radical formation

B. covalent bond

C. decomposition of molecule

D. 

Answer: A

Watch Video Solution

18. Which of the following has zero dipole moment ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CCl4

CH3Cl

CH3F

CHCl3

https://dl.doubtnut.com/l/_A42kg3eLu98z
https://dl.doubtnut.com/l/_T05V99X22SFP


19. Which of the following fluorides of Xe has zero dipole moment ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF2

XeF3

XeF4

XeF6

20. The dipole moment of  is  and interatomic

spacing is . The  ionic character of  is

A. 7

B. 10

C. 15

HBr 1.6 × 10− 30cm

1Å % HBr

https://dl.doubtnut.com/l/_T05V99X22SFP
https://dl.doubtnut.com/l/_pozMvaTo4R4n
https://dl.doubtnut.com/l/_xN9YLnybtPfD


D. 27

Answer: B

Watch Video Solution

21. Which molecules does not show zero dipole moment

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

BF3

NH3

CCl4

CH4

22. Which contains both polar and non-polar bonds ? .

https://dl.doubtnut.com/l/_xN9YLnybtPfD
https://dl.doubtnut.com/l/_ovCbuXzjd8v7
https://dl.doubtnut.com/l/_kVUsVRl8jZ9d


A. Dimethyl sulphoxide

B. Carbon tetrachloride

C. Ammonia

D. Ethyl alcohol

Answer: B

Watch Video Solution

23. Which of the following molecules will show dipole moment?

A. methane

B. Carbon tetrachloride

C. chloroform

D. carbon dioxide

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_kVUsVRl8jZ9d
https://dl.doubtnut.com/l/_5S3BahFrFW4S


24. Dipole moment is shown by

A. 

B. 

C. 

D. HF

Answer: D

Watch Video Solution

CCl4

C6H6

BF3

25. Fluorine is more electronegative than either boron or phosphorous.

What conclusion can be drawn from the fact that  has no dipole

moment but  does

A.  is not spherically symmetrical but  is symmetrical

B.  molecule must be linear

BF3

PF3

BF3 PF3

BF3

https://dl.doubtnut.com/l/_5S3BahFrFW4S
https://dl.doubtnut.com/l/_670AlKCEiU0D
https://dl.doubtnut.com/l/_9jacxt3m8vFf


C. The atomic radius of F is larger than the atomic radius of B

D. The  molecule must be planar triangular

Answer: D

Watch Video Solution

BF3

26. Which one of the following is least basic in character?

A. Water

B. ethanol

C. Ethane

D. Ether

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_9jacxt3m8vFf
https://dl.doubtnut.com/l/_LcYH0sxNZWto


27. In a polar molecule , the ionic charge is  esu. If the

interatomic distance is  unit, then the dipole moment is

A. 41.8 debye

B. 4.18 debye

C. 4.8 debye

D. 0.48 debye

Answer: C

Watch Video Solution

4.8 × 10− 10

1Å

28. Among the following, the molecule with the highest dipole moment is

:

A. 

B. 

C. 

CO2

BF3

SO2

https://dl.doubtnut.com/l/_5h1StAR6WnAu
https://dl.doubtnut.com/l/_mlzK7Josz879


D. Trans-2 -butane

Answer: C

Watch Video Solution

29. Which of the following is non polar species.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PCl5

PCl3

SF6

IF7

https://dl.doubtnut.com/l/_mlzK7Josz879
https://dl.doubtnut.com/l/_E8sIi5F4HTUl


30. If the dipole moment of the following molecule is 1.5D 




https://dl.doubtnut.com/l/_zzs5SIxtzX8u


Then the dipole moment of the following compound will be 

A. 1.5 D

B. 2.25 D

C. 1D

D. 3 D

Answer: A

W t h Vid S l ti

https://dl.doubtnut.com/l/_zzs5SIxtzX8u


Watch Video Solution

31. CO is practically non-polar since

A. The -electron drift from C to D is almost nullified by the  -

electron drift from O to C

B. The -electron drift from O to C is almost nullified by the  -

electron drift from C to D

C. the bond moment in low

D. there is a triple bond between C and O

Answer: A

Watch Video Solution

σ π

σ π

32. Which molecules has zero dipole moment ?

A. H2O

https://dl.doubtnut.com/l/_zzs5SIxtzX8u
https://dl.doubtnut.com/l/_2wBgHWNbqdaN
https://dl.doubtnut.com/l/_uACA9JH3FRK2


B. AgI

C. 

D. HBr

Answer: B

Watch Video Solution

PbSO4

33.  is less reactive than  due to

A. presence of more electrons in orbitals

B. absence of dipole moment

C. difference in spin quantum no

D. none of these

Answer: B

Watch Video Solution

N2 CN −

https://dl.doubtnut.com/l/_uACA9JH3FRK2
https://dl.doubtnut.com/l/_NiBoAheT5sNk
https://dl.doubtnut.com/l/_0pkO0I58vbjM


Ordinary thinking (Polarisation and Fajans rule )

34. Which is the weakest out of HF, HCl, HBr and HI?

A. 

B. HCl

C. HF,HBr

D. HBr

Answer: A

Watch Video Solution

H2

1. If the electron pair forming a bond between two atoms and B is not in

the center then the bond is ?

A. single bond

B. polar bond

https://dl.doubtnut.com/l/_0pkO0I58vbjM
https://dl.doubtnut.com/l/_ygFqMPRVAET1


C. non-polar bond

D.  bond

Answer: B

Watch Video Solution

π

2. Which of the following have both polar and non-polar bonds?

A. 

B. 

C. HCl

D. 

Answer: B

Watch Video Solution

C2H6

NH4Cl

AlCl3

https://dl.doubtnut.com/l/_ygFqMPRVAET1
https://dl.doubtnut.com/l/_bqMdonuuVVLJ


3. According to Fazan rule, the covalent bond is favoured by :

A. large cation and small anion

B. large cation and large anion

C. small cation and large anion

D. small cation and small anion

Answer: C

Watch Video Solution

4. Which of the following is a polar compound ?

A. HF

B. HCl

C. 

D. 

HNO3

H2SO4

https://dl.doubtnut.com/l/_Z3wyD87AnhdE
https://dl.doubtnut.com/l/_qtSfMuBU42EP


Answer: A

Watch Video Solution

5. Which of the following possesses highest melting point ?

A. chlorobenzene

B. o-dichlorobenzene

C. m-dichlorobenzene

D. p-dichlorobenzene

Answer: D

Watch Video Solution

6. Which of the following bonds has the most polar character ?

A. C-O

https://dl.doubtnut.com/l/_qtSfMuBU42EP
https://dl.doubtnut.com/l/_L9VgAjwAZezM
https://dl.doubtnut.com/l/_LeLWBii2b1a6


B. C-Br

C. C-S

D. C-F

Answer: D

Watch Video Solution

7. The  molecule is

A. purely electrovalent

B. purely covalent

C. covalent but polar with negative end on iodine

D. covalent but polar with negative end on chlorine

Answer: D

Watch Video Solution

ICl

https://dl.doubtnut.com/l/_LeLWBii2b1a6
https://dl.doubtnut.com/l/_ImrgMR5Q3JNp
https://dl.doubtnut.com/l/_LddiGmZ1edxl


8. Which of the following is the most polar bond

A. O-H

B. S-H

C. N-H

D. C-H

Answer: A

Watch Video Solution

9.  Dipole moment of HCl = 1.03 D, HI-0.38 D. Bond length of 

and  The ratio of fraction of electric charge, delta, existing

on each atom in HCI and HI is

A. 

B. 

C. 

HCI − 1.3A ∘

HI = 1.6A ∘

12: 1

2.7: 1

3.3: 1

https://dl.doubtnut.com/l/_LddiGmZ1edxl
https://dl.doubtnut.com/l/_bn01sXKuTgRH


D. 

Answer: C

Watch Video Solution

1: 3.3

10. The ionic radii of  follows the order

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

N 3 −O2 − , F − , Na+

N 3 − > F − > O2 −

O2 − > N 3 − > F −

O2 − > F − > N 3 −

N 3 − > O2 − > F −

11. In which of the following molecules, is the covalent bond most polar ?

https://dl.doubtnut.com/l/_bn01sXKuTgRH
https://dl.doubtnut.com/l/_DbGz5dSkwO0K
https://dl.doubtnut.com/l/_NucxWGw20SCr


A. HI

B. HBr

C. HCl

D. 

Answer: C

Watch Video Solution

H2

12. Which of the following statement is correct

A.  is polar and non-reactive

B.  is non-polar and very reactive

C.  is a strong fluorinating agent

D.  is prepared by fluorinating  with 

Answer: B

Watch Video Solution

SF4

SF6

SF6

SF4 SCl2 NaF

https://dl.doubtnut.com/l/_NucxWGw20SCr
https://dl.doubtnut.com/l/_sfdpLg2xg2s6


13. The bonds between P atoms and Cl atoms in  are likely to be

A. Ionic with no covalent character

B. covalent with some ionic character

C. covalent with non ionic character

D. ionic with some metallic character

Answer: B

Watch Video Solution

PCl5

14. Among  molencules the one with non-planar

geometry is

A. 

B. 

C. 

CIF3, BF3 and NH3

ClF3

NH3

BF3

https://dl.doubtnut.com/l/_sfdpLg2xg2s6
https://dl.doubtnut.com/l/_zhGdufbQsCUF
https://dl.doubtnut.com/l/_3VYKDdTJXNuK


D. none of these

Answer: B

Watch Video Solution

15. Which of the following has zero dipole moment ?

A. ClF

B. 

C. 

D. 

Answer: C

Watch Video Solution

PCl3

SiF4

CFCl3

16. Maximum covalent character is associated with the compound

https://dl.doubtnut.com/l/_3VYKDdTJXNuK
https://dl.doubtnut.com/l/_4xPOvMEQYIIE
https://dl.doubtnut.com/l/_H0dxICpi1nsv


A. NaI

B. 

C. 

D. 

Answer: D

Watch Video Solution

MgI2

AlCl3

AlI3

17. Choose the correct statement

A. Anion polarisation is more pronounced by highly charged cation

B. small cation has minimum capacity to polarise an anion

C. small anion has maximum polarizability

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_H0dxICpi1nsv
https://dl.doubtnut.com/l/_WxuXJFJH2koY


18. The charge/size ratio of a cation determines its polarizing power.

Which one of the following sequences represents the increasing order of

the polarizing power of the cationic species, 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

K + , Ca2 + , Mg2 + , Be2 +

Mg2 + < Be2 + < K + < Ca2 +

Be2 + < K + < Ca2 + < Mg2 +

K + < Ca2 + < Mg2 + < Be2 +

Ca2 + < Mg2 + < Be2 + < K +

19. Two electrons of one atom A and two electrons of another atom B are

utilized to form a compound AB. This is an example of

A. polar covalent bond

https://dl.doubtnut.com/l/_WxuXJFJH2koY
https://dl.doubtnut.com/l/_vbSVUmPEhu7U
https://dl.doubtnut.com/l/_QakzEzzfjWCT


B. non-polar covalent bond

C. polar bond

D. dative bond

Answer: A

Watch Video Solution

20. polarisibility of halid ions increasing in the order

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

F − , I − , Br− , Cl−

Cl− , Br− , I − , F −

I − , Br− , Cl− , F −

F − , Cl− , Br− , I −

https://dl.doubtnut.com/l/_QakzEzzfjWCT
https://dl.doubtnut.com/l/_YBXiO9jdiHRl
https://dl.doubtnut.com/l/_eUYQ1JfPq2ru


21. For AB bond if percent ionic character is plotted against electro

nehativity difference , the shape of the curve would look like 


A. (A)

B. (B)

C. (C)

D. (D)

Answer: C

(XA − XB)

https://dl.doubtnut.com/l/_eUYQ1JfPq2ru


Watch Video Solution

22. Planar molecule among the following is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CCl4

CO2

CH2Cl2

CH2 = CH2

23. The polarity of the covalent bond among the following is maximum in

A. F-F

B. O-F

C. N-F

https://dl.doubtnut.com/l/_eUYQ1JfPq2ru
https://dl.doubtnut.com/l/_t7vnsXsfAsT9
https://dl.doubtnut.com/l/_bX29fLYwxexs


D. C-F

Answer: D

Watch Video Solution

24. Amongst  and  the compounds whith the

greatrest and the least ionic character respecitely are :

A. LiCl and RbCl

B. RbCl and 

C. RbCl and 

D.  and 

Answer: B

Watch Video Solution

LiCl, RbCl, BeCl2 MgCl2,

BeCl2

MgCl2

MgCl2 BeCl2

https://dl.doubtnut.com/l/_bX29fLYwxexs
https://dl.doubtnut.com/l/_j7SdnkxFVDMe


25. Bond polarity of diatomic molecule is because of _________.

A. Difference in electron affinities of the two atoms

B. difference in electronegativities of the two atoms

C. Difference in ionisation potential

D. All of these

Answer: B

Watch Video Solution

26. Pauling's electronegativity values for elements are useful in predicting

A. polarity of bonds in molecules

B. Position of element in electrochemical series

C. Co-ordination number

D. Dipole moment of various molecules

https://dl.doubtnut.com/l/_4WLkSFRcLPrd
https://dl.doubtnut.com/l/_nYmWixi8jeIQ


Answer: A

Watch Video Solution

27. Which of the following is a polar molecule

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF4

BF3

SF4

SiF4

28. Which of the following has a high polarising power

A. Mg2 +

https://dl.doubtnut.com/l/_nYmWixi8jeIQ
https://dl.doubtnut.com/l/_itw76ZLdOYeQ
https://dl.doubtnut.com/l/_5ZAzH6AW9Xoj


B. 

C. 

D. 

Answer: B

Watch Video Solution

Al3 +

Na+

Ca2 +

29. Among  the order of ionic character is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CaH2, BeH2, BaH2,

BeH2 < CaH2 < BaH2

CaH2 < BeH2 < BaH2

BeH2 < BaH2 < CaH2

BaH2 < BeH2 < CaH2

https://dl.doubtnut.com/l/_5ZAzH6AW9Xoj
https://dl.doubtnut.com/l/_0NLmuLrZQahG


Ordinary thinking (Overlapping -  and -bonds)σ π

1. Which of the following is not correct

A. A sigma bond is weaker than  bond

B. A sigma bond is stronger than  bond

C. A double bond is stronger than a single bond

D. A double bond is shorter than a single bond

Answer: A

Watch Video Solution

π

π

2. In which of the following  bonding is observed ?

A. 

B. 

C. 

pπ − dπ

NO−
3

CO− 2
3

BO− 3
3

https://dl.doubtnut.com/l/_kOZ51c1G3JpB
https://dl.doubtnut.com/l/_DQOom9bV1VxK


D. 

Answer: D

Watch Video Solution

SO− 2
3

3. Angular shape of ozone molecule consists of

A. 1 sigma and 1 pi bonds

B. 2 sigma and 1 pi bonds

C. 1 sigma and 2 pi bonds

D. 2 sigma and 2 pi bonds

Answer: B

Watch Video Solution

4. In a double bond connecting two atoms there is a sharing of

https://dl.doubtnut.com/l/_DQOom9bV1VxK
https://dl.doubtnut.com/l/_R7JdgR9bGFZk
https://dl.doubtnut.com/l/_jFX5xgvnOXty


A. 2 electrons

B. 1 electron

C. 4 electrons

D. All elements

Answer: C

Watch Video Solution

5. In which of the following there exists a  bonding

A. Diamond

B. Graphite

C. Dimethyl amine

D. Trisilylamine

Answer: D

Watch Video Solution

pπ − pπ

https://dl.doubtnut.com/l/_jFX5xgvnOXty
https://dl.doubtnut.com/l/_P4WGXh3UpdDx


6. Which of the following statement is false

A.  molecule has one sigma bond

B. HCl molecule has one sigma bond

C. water molecule has five sigma bonds and one pi bond

D. Acetylene molecule has three pi bonds and three sigma bonds

Answer: D

Watch Video Solution

H2

7. Which type of overlapping results in the formation of a  bonds

A. Axia overlapping of S-S orbitals

B. Lateral overlapping of p-p orbitals

C. Axial overlapping of p-p orbitals

π

https://dl.doubtnut.com/l/_P4WGXh3UpdDx
https://dl.doubtnut.com/l/_aoersD99vQyd
https://dl.doubtnut.com/l/_mGTY92OWRIrP


D. Axial overlapping of S-P orbitals

Answer: B

Watch Video Solution

8. Strongest bond is

A. C-C

B. C=C

C. 

D. All are equally strong

Answer: C

Watch Video Solution

C ≡ C

https://dl.doubtnut.com/l/_mGTY92OWRIrP
https://dl.doubtnut.com/l/_MWIugI1xGx7u


9. The number of  -bonds present in  and 

respectively are

A. 3,4

B. 4,2

C. 2,3

D. 3,2

Answer: A

Watch Video Solution

(pπ − dπ) π XeO3 XeO4

10. The type of bonds present in sulphuric anhydride

A.  and three 

B.  one  and two 

C.  three 

D.  and two 

3σ pπ − dπ

3σ pπ − pπ pπ − dπ

2σ pπ − dπ

2σ pπ − dπ

https://dl.doubtnut.com/l/_cHg6Gh8LlVvt
https://dl.doubtnut.com/l/_LxETIqzX2bIK


Answer: B

Watch Video Solution

11. All the four sigma bonds in perchlorate ion are

A.  bond

B.  bond

C.  bond

D.  bond

Answer: C

Watch Video Solution

sp3 − sp3

sp3 − p

sp3 − sp2

sp2 − p

12. The C-C bond length is shortest in

A. sp − sp

https://dl.doubtnut.com/l/_LxETIqzX2bIK
https://dl.doubtnut.com/l/_bi61xnsnaKud
https://dl.doubtnut.com/l/_ywxGGhGbE2wW


B. 

C.  bond

D. 

Answer: A

Watch Video Solution

sp2 − sp

sp2 − sp2

sp2 − sp

13. How many  and  bonds are in the molecule of tetracyanoethylene 


A. Nine  and nine 

B. five  and nine 

C. nine  and seven 

D. five  and eight 

σ π

σ π

σ π

σ π

σ π

https://dl.doubtnut.com/l/_ywxGGhGbE2wW
https://dl.doubtnut.com/l/_jflkTOuf9Hui


Answer: A

Watch Video Solution

14. The bond in the formation of fluorine molecule will be

A. due to s-s overlapping

B. due to s-p overlapping

C. due to p-p overlapping

D. due to hybridization

Answer: C

Watch Video Solution

15. Which of the molecule has p-p overlapping ?

A. hydrogen

https://dl.doubtnut.com/l/_jflkTOuf9Hui
https://dl.doubtnut.com/l/_W1Db8dJYN50h
https://dl.doubtnut.com/l/_FMK9yJVm8ebs


B. hydrogen bromide

C. hydrogen chloride

D. chlorine

Answer: D

Watch Video Solution

16. Assertion(A) - In  molecule, the N atoms are bonded by one sigma

and two -bonds. 


Reason(R) :N atoms assume  hybrid state to constitute  molecule.

A. one , two 

B. one , one 

C. two , one 

D. three  bonds

Answer: A

N2

π

sp2 N2

σ π

σ π

σ π

σ

https://dl.doubtnut.com/l/_FMK9yJVm8ebs
https://dl.doubtnut.com/l/_YmTdIvRAUz0B


Watch Video Solution

17. How many  and  bonds are present in the given compound 

A.  and  bonds

B. and  bonds

C.  and  bonds

D.  and  bonds

Answer: C

Watch Video Solution

σ π

Ph − CH = C
∣

CH3

− C2H5

19σ 4π

22σ 4π

25σ 4π

19σ 4π

18. The number of  bonds in  is

A. 6

B. 7

σ P4O10

https://dl.doubtnut.com/l/_YmTdIvRAUz0B
https://dl.doubtnut.com/l/_xdteIvyjfLNK
https://dl.doubtnut.com/l/_BSvA4C0xkeE3


C. 17

D. 16

Answer: D

Watch Video Solution

19. The bond dissociation energy of  in  is 

whereas that of  in  is . The correct reason for

higher  bond dissociation energy as compared to that of  in

 is

A. smaller size of B -atom as compared to that of C- atom

B. Stronger  bond between B and F in  as compared to that

between C and F in 

C. Significant  interaction between B And F in  whereas

there is no possibility of such interaction between C and F in 

B − F BF3 646kJmol− 1

C − F CF4 515kJmol− 1

B − F C − F

CF4

σ BF3

CF4

pπ − dπ BF3

CF4

https://dl.doubtnut.com/l/_BSvA4C0xkeE3
https://dl.doubtnut.com/l/_ypiOab8hye8S


D. Lower degree of  interaction between B and F in  than

that between C and F in 

Answer: C

Watch Video Solution

pπ − dπ BF3

CF4

20. Number of bond in 

A. two  and two 

B. two  and one 

C. two , two  one lone pair

D. none of these

Answer: C

Watch Video Solution

SO2

σ π

σ π

σ π

https://dl.doubtnut.com/l/_ypiOab8hye8S
https://dl.doubtnut.com/l/_5C1gRQP17VGN


21. In pyrophosphoric acid, , number of  and 

A. 8 AND 2

B. 6 and 2

C. 12 and zero

D. 12 and 2

Answer: D

Watch Video Solution

H4P2O7 σ dπ − pπ

22. Which one of the following molecules contains no  - bond ?

A. 

B. 

C. 

D. 

π

NO2

CO2

H2O

SO2

https://dl.doubtnut.com/l/_uJLZ2GBc0v2A
https://dl.doubtnut.com/l/_UsQuXR7tPXmP


Answer: C

Watch Video Solution

23. The outer orbitals of C in ethene molecule can be considered to be

hybridized to given three equivalent  orbitals. The total number of

sigma  and pi  bonds in ethene molecule is

A. 3 sigma  and 2 pi ( ) bonds

B. 4 sigma  and 1 pi ( ) bonds

C. 5 sigma  and 1 pi bond

D. (sigma) pi`) bonds

Answer: C

Watch Video Solution

sp2

(σ) (π)

(σ) π

(σ) π

(σ) (π)

1σ and 2π(

24. In the series ethan ethyman and acceylene the  bond energy isC − H

https://dl.doubtnut.com/l/_UsQuXR7tPXmP
https://dl.doubtnut.com/l/_KewlyHU1wdc4
https://dl.doubtnut.com/l/_BcQCItek58mS


A. The same in all the three compound

B. Greatest in ethane

C. Greatest in ethylene

D. Greatest in acetylene

Answer: D

Watch Video Solution

25. Assertion : -bond is strong white  -bond is a weak bond. 


Reason :Atomic rotate freely about -bond.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

σ π

π

https://dl.doubtnut.com/l/_BcQCItek58mS
https://dl.doubtnut.com/l/_1J7kt7dhL0CS


Ordinary thinking (Hybridisation )

D. if the assertion and reason both are false

Answer: C

Watch Video Solution

1. Which of the following possesses only sp hydridized carbonds?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH2 = C. Cl − CH = CH2

C. Cl2 = C. Cl2

CH2 = C = CH2

CH2 = CH − CH = CH2

https://dl.doubtnut.com/l/_1J7kt7dhL0CS
https://dl.doubtnut.com/l/_Wc6qDylRkAv7
https://dl.doubtnut.com/l/_w0mcEfU6F9wO


2. The structural formula of a compound is . The

type of hybridization at the four carbons from left to right are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CH = C = CH2

sp2, sp, sp2, sp3

sp2, sp3, sp2, sp

sp3, sp2, sp, sp2

sp3, sp2, sp2sp2

3. In which one of the following molecules , the central atom said to

adopt  hybridisation ?

A. 

B. 

C. 

sp2

BeF2

BCl3

C2H2

https://dl.doubtnut.com/l/_w0mcEfU6F9wO
https://dl.doubtnut.com/l/_dXjKvP2tVGuP


D. 

Answer: B

Watch Video Solution

NH3

4. Which one of the following formulae does not correctly represent the

bonding capacities of the atoms involved ?

A. 

B. 

C. 

D. 

Answer: D

⎡
⎢⎢
⎣
H −

H

∣

P
∣

H

− H
⎤
⎥
⎥
⎦

+

https://dl.doubtnut.com/l/_dXjKvP2tVGuP
https://dl.doubtnut.com/l/_tcwVxFkdupew


Watch Video Solution

5. Which contains both polar and non-polar bonds?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sp3

dsp2

sp2

sp

6. In which of the following molecule has the maximum bond angle is ?

A. 

B. 

C. 

CH4

H2O

NH3

https://dl.doubtnut.com/l/_tcwVxFkdupew
https://dl.doubtnut.com/l/_8AB9I0FJMYf2
https://dl.doubtnut.com/l/_gsh0hjNlseSH


D. 

Answer: D

Watch Video Solution

CO2

7. The structure and hybridization of  is

A. Bent, sp

B. Trigonal, 

C. Octahedral , 

D. Tetrahedral , 

Answer: D

Watch Video Solution

Si(CH3)4

sp2

sp3d

sp3

8. In graphite, electrons are

https://dl.doubtnut.com/l/_gsh0hjNlseSH
https://dl.doubtnut.com/l/_MtiVzKAfObCj
https://dl.doubtnut.com/l/_LInWQUoxNZDR


A. Localised on every third C atoms

B. present in antibonding orbital

C. Localised on each C atom

D. Spread out between the structure

Answer: D

Watch Video Solution

9. The structure of  is

A. Planar

B. Non-planar

C. Spherical

D. Linear

Answer: B

Watch Video Solution

H2O2

https://dl.doubtnut.com/l/_LInWQUoxNZDR
https://dl.doubtnut.com/l/_kx4FODYUzCJW


10. In a regular octahedral molecule  the number of 

bonds at  is

A. Six

B. Four

C. Three

D. Two

Answer: C

Watch Video Solution

MX6 X − M − X

180∘

11. In an octahedral structure , the pair of d orbitals involved in 

hybridization is

A. 

B. 

d2sp2

dx2, dxz

dxy, dyz

https://dl.doubtnut.com/l/_kx4FODYUzCJW
https://dl.doubtnut.com/l/_XXPkR0qXpcI2
https://dl.doubtnut.com/l/_fHR5KQGRFlQE


C. 

D. 

Answer: C

Watch Video Solution

dx2 −y2, dz2

dxz, dx2 −y2

12. Which of the following molecule has trigonal planner geometry?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

IF3

PCl3

NH3

BF3

https://dl.doubtnut.com/l/_fHR5KQGRFlQE
https://dl.doubtnut.com/l/_OchaEyg2PIeq


13. In which of the following molecules are all the bonds not equal ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AlF3

NF3

ClF3

BF3

14. In which of the following molecular/ions  and 

the correct atom is  hybridized ?

A.  and 

B.  and 

C.  and 

D.  and 

BF2, NO−
2 , NH2 H2O

sp2

NO−
2 NH −

2

NH −
2 H2O

NO−
2 H2O

BF3 NO−
2

https://dl.doubtnut.com/l/_M9YOzRaCHvev
https://dl.doubtnut.com/l/_6Tr8xRoNfZGi


Answer: D

Watch Video Solution

15. In which one of the following species , the central atom has the tuype

of hybdridiztion which is not the same as that present in other three?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PCl5

SF4

I −
3

SbCl2 −
5

16. In which of the following molecules the central atom does not have

 hybridization ?sp3

https://dl.doubtnut.com/l/_6Tr8xRoNfZGi
https://dl.doubtnut.com/l/_5PfKBe9kcZzF
https://dl.doubtnut.com/l/_8gJkAOENPz1Y


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH4

SF4

BF
−

4

NH
+

4

17. Some of the properties of the two species,  and  are

described below.Which one of them is correct?

A. Dissimilar is hybridization for the central atom with different

structures

B. Isostructural with same hybridization for the central atom

C. isostructural with different hybridisation for the central atom

D. similar in hybridization for the central atom with structures

NO−
3 H3O

+

https://dl.doubtnut.com/l/_8gJkAOENPz1Y
https://dl.doubtnut.com/l/_VZtSYGqPiajC


Answer: A

Watch Video Solution

18. Which of the two lons from the list given have the geometry that is

explained by the same hybridization of orbitals

?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

NO−
2 , NO−

3 , NH −
2 NH

+
4 SCN −

NO−
2 NH −

2

NO−
2 NO−

3

NH
+

4 NO−
3

SCN − NH −
2

https://dl.doubtnut.com/l/_VZtSYGqPiajC
https://dl.doubtnut.com/l/_sIUGvaSrX2AB


19. Which of the following pairs is isostractural (i.e having the same shape

and hybridization ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[BCl3and BrCl3]

[NH3andNO−
3 ]

[NF3  and BF3]

[BF −
4 and NH

+
4 ]

20.  is iso-structural with

A. 

B. 

C. 

D. 

XeF2

BaCl2

TeF2

ICl−
2

SbCl3

https://dl.doubtnut.com/l/_VBCUMKSib8wE
https://dl.doubtnut.com/l/_pN0bSexIJe4j


Answer: C

Watch Video Solution

21. Which of the following species has plane tringular shape ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NO−
2

CO2

N3

NO−
3

22. Which of the following statement is not correct

https://dl.doubtnut.com/l/_pN0bSexIJe4j
https://dl.doubtnut.com/l/_sNx6prJYRTMw
https://dl.doubtnut.com/l/_GvTbwsH9Wvwn


A. Hybridization is the mixing of atomic orbitals prior to their

combining into molecular orbitals

B.  hybrid orbitals are formed from two p atomic orbitals and one s

atomic orbitals

C.  hybrid orbitals are directed towards the corners of a regular

octahedron

D.  hybride orbitals are all at  to one another

Answer: D

Watch Video Solution

sp2

d2sp3

dsp3 90∘

23. When the hybridization state of a carbon atom changes from  to 

 and finally to , the angle between the hybridized orbitals

A. decreases gradually

B. increases gradually

sp3

sp2 sp

https://dl.doubtnut.com/l/_GvTbwsH9Wvwn
https://dl.doubtnut.com/l/_FK9sk8fzqcdF


C. decreases considerably

D. all of these

Answer: B

Watch Video Solution

24. in  has following hybridization

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Cu(NH3)4]SO4, Cu

dsp2

sp3

sp2

sp3d2

https://dl.doubtnut.com/l/_FK9sk8fzqcdF
https://dl.doubtnut.com/l/_1SulhxRIkiid


25. The single, double and triple bond lengths of carbon in carbon dioxide

are respectively

A. 1.15, 1.22 and 1.10 Å

B. 1.22,1.15 and 1.10 Å

C. 1.10,1.15 and 1.22 Å

D. 1.15 , 1.10 and 1.22 Å

Answer: B

Watch Video Solution

26. The smallest bond angle around the central atom will be there in

A. 

B. 

C. 

D. 

IF7

CH4

BeF2

BF3

https://dl.doubtnut.com/l/_qJHnkAztYhYJ
https://dl.doubtnut.com/l/_soFGmPJTT6DF


Answer: A

Watch Video Solution

27. The hybridization of Ag in the linear complex  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Ag(NH3)2]
+

dsp2

sp

sp2

sp3

28. In diborane, the H-B-H bond angle is . The hybridization of borons

is likely to be

120∘

https://dl.doubtnut.com/l/_soFGmPJTT6DF
https://dl.doubtnut.com/l/_vSTmmTuPQEUP
https://dl.doubtnut.com/l/_wwzYdPXb1EU2


A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

sp

sp2

sp3

dsp2

29. The number of shared pairs of electrons in propane is

A. 2

B. 4

C. 6

D. 10

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_wwzYdPXb1EU2
https://dl.doubtnut.com/l/_qBO171SEqOP6


30. Which of the following have  d hybridisation ? .

A. Planar

B. pyramidal

C. angular

D. trigonal bipyramidal

Answer: D

Watch Video Solution

sp3

31. Which of the following hybridisation has maximum s-characters

A. 

B. 

C. 

sp3

sp2

sp

https://dl.doubtnut.com/l/_qBO171SEqOP6
https://dl.doubtnut.com/l/_uC9d47THNM83
https://dl.doubtnut.com/l/_0EMG3YtO45yr


D. none of these

Answer: C

Watch Video Solution

32. As the s-character of hybridisation orbital increases, the bond angle

A. increases

B. decreases

C. becomes zero

D. does not change

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_0EMG3YtO45yr
https://dl.doubtnut.com/l/_oJzH0fIlqT8f


33. Which of the following pair has same structure but different

hybridisation ?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

PH3 BCl5

SO2 NH3

PCl5 SF6

NH
+

4 SO
2 −
4

34. An  hybrid orbital possesses

A.  s -character

B.  s -character

C.  s -character

D.  s -character

sp3

1

4

1

2

2

3

3

4

https://dl.doubtnut.com/l/_VuExo5M3SGeD
https://dl.doubtnut.com/l/_iaeQQNj4c91C


Answer: A

Watch Video Solution

35. Carbon atoms in diamond show

A. tetrahedral

B. planar

C. linear

D. octahedral

Answer: A

Watch Video Solution

36. Geometry of ammonia molcule and the hybridisation of nitrogen

involved in it are

https://dl.doubtnut.com/l/_iaeQQNj4c91C
https://dl.doubtnut.com/l/_pigAE4PQ1yPu
https://dl.doubtnut.com/l/_0i5iJECHrEfD


A. -hybridization and tetrahedral geometry

B.  -hybridization and distorted tetrahedral geometry

C. -hybridization and triangular geometry

D. none of these

Answer: B

Watch Video Solution

sp3

sp3

sp2

37. In  and  the hybridisation of carbon atoms are

A.  and  respectively

B.  and  respectively

C.  respectively

D.  respectively

Answer: B

Watch Video Solution

CO2, CH4 CH +
3

sp2, sp3 sp2

sp, sp3 sp2

sp, sp3 and sp

sp2, sp3 and sp

https://dl.doubtnut.com/l/_0i5iJECHrEfD
https://dl.doubtnut.com/l/_DKpFvFxbbyLF


38. The structure of  is

A. 

B. H-O-O-H (straight line )

C.  

Where  and all the four

atoms are in the same plane

D.  


Where  and the angle

between H-O-O plane and O-O-H' plane is 

Answer: D

H2O2

∠H − O − O = ∠O − O − H' = 101.5∘

∠H − O − O = ∠H − O − H' = 97∘

101∘

https://dl.doubtnut.com/l/_DKpFvFxbbyLF
https://dl.doubtnut.com/l/_Al0XwKAcy8cr


Watch Video Solution

39. Which of the following molecules is not linear?

A. 

B. HCl

C. 

D. 

Answer: A

Watch Video Solution

SnCl2

CO2

HgCl2

40. Which of the following is isoelectronic as well as has the same

structure as that of  ?

A. 

B. 

N2O

N3H

H2O

https://dl.doubtnut.com/l/_Al0XwKAcy8cr
https://dl.doubtnut.com/l/_4Yzl91gI233a
https://dl.doubtnut.com/l/_oxywxuGdAPJe


C. 

D. 

Answer: D

Watch Video Solution

NO2

CO2

41. What is the geometry of the molecule with  hybridised contral

atom is

A. square planar

B. Trigonal bipyramidal

C. octahedral

D. square puramidal

Answer: C

Watch Video Solution

sp3d2

https://dl.doubtnut.com/l/_oxywxuGdAPJe
https://dl.doubtnut.com/l/_sas7pXiFqNRO
https://dl.doubtnut.com/l/_v5QM3VQGIYRH


42. The structure of  molecule is _________.

A. tetrahedral

B. trigonal bipyramidal

C. square planar

D. pentagonal bipyramidal

Answer: B

Watch Video Solution

PF5

43. The structure of  is

A. Octahedral

B. Pentagonal bipyramidal

C. trigonal bipyramidal

D. Tetrahedral

IF7

https://dl.doubtnut.com/l/_v5QM3VQGIYRH
https://dl.doubtnut.com/l/_TIxPp9ym5mo4


Answer: B

Watch Video Solution

44. The molecule of  has  bond angle it one be explained on the

basic of

A.  hybridisation

B.  hybridisation

C. sp hybridisation

D.  hybridisation

Answer: C

Watch Video Solution

CO2 180∘

sp3

sp2

d2sp3

45. The hydrogen bond is the strongest in

https://dl.doubtnut.com/l/_TIxPp9ym5mo4
https://dl.doubtnut.com/l/_KexuvjC3gCCP
https://dl.doubtnut.com/l/_lPPxT6yemR31


A. HF

B. HI

C. 

D. 

Answer: A

Watch Video Solution

CH4

PH3

46. Among the compounds  and ., identify

the ones in which the central atom has the same type of hybridisation

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

BF3, NCI3, H2S, SF4 BeCI2

BF3 NCl3

H2S BeCl2

BF3, NCl3 H2S

NCl3 H2S

https://dl.doubtnut.com/l/_lPPxT6yemR31
https://dl.doubtnut.com/l/_TY55TpdQxYas


Watch Video Solution

47. Which of the following molecule is planar?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH4

NH3

C2H4

SiCl4

48. The bond enthalpy is highest for:

A. 

B. 

C. 

F2

Cl2

Br2

https://dl.doubtnut.com/l/_TY55TpdQxYas
https://dl.doubtnut.com/l/_dtUasESbK8oC
https://dl.doubtnut.com/l/_CL4az3AXHo5G


D. 

Answer: D

Watch Video Solution

H2

49. All carbon atoms are -hybridised in:

A. 1,3-butadiene

B. 

C. Cyclohexane

D. 2-butene

Answer: A

Watch Video Solution

sp2

CH2 = C = CH2

50. The incorrectly matched pair, among the following is

https://dl.doubtnut.com/l/_CL4az3AXHo5G
https://dl.doubtnut.com/l/_JwNeGG1rhcuI
https://dl.doubtnut.com/l/_nEPTP6Eve8mZ


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Molecules Shape

BrF5 Trigonal bipyramidal

Molecules Shape

SF4 See Saw

Molecules Shape

ClF3 T-shape

Molecules Shape

NH
+

4 Tetrahedral

51. Experiment shows that  has a dipole moment while  has not .

Point out the structure which best illustrate these facts

A. 

B. 

C. 

D. 

H2O CO2

O = C = O, H − O − H

O

∣ ∣

C = O,

H

∣

O − H

https://dl.doubtnut.com/l/_nEPTP6Eve8mZ
https://dl.doubtnut.com/l/_K5f9XYBRVvi7


Answer: A

Watch Video Solution

52. In which of the following molecules the central atom does not have

 hybridization ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sp3

NH3

CH4

H2O

CO2

53. Explain hybridisation in . Also draw its molecular structure.XeF2

https://dl.doubtnut.com/l/_K5f9XYBRVvi7
https://dl.doubtnut.com/l/_JiFm86MXmdQT
https://dl.doubtnut.com/l/_lsKcKH7TBYkE


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

sp3

sp3d

sp3d2

54. As the p - charcter increases the bond angle in in hydrid orbital

formed by a and atomic orbitals

A. decreases

B. increases

C. doubles

D. remains unchanged

Answer: A

https://dl.doubtnut.com/l/_lsKcKH7TBYkE
https://dl.doubtnut.com/l/_ztvMYTha1zJJ


Watch Video Solution

55. Which of the following molecule/molecules have zero dipole moment?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

NH3, H2O, CO2, CBr4, CHBr3, BCl3, BeCl2

sp2, sp3 sp

sp, sp2 sp3

sp2, sp3 sp2

sp2, sp sp3

56. Which of the following having plane of symmetry ?

A. 

B. 

H2SO4

H2O

https://dl.doubtnut.com/l/_ztvMYTha1zJJ
https://dl.doubtnut.com/l/_gYsMlNVDGbpt
https://dl.doubtnut.com/l/_bMRK8AqTm0Fq


C. 

D. 

Answer: C

Watch Video Solution

HNO3

CCl4

57. Which of the following statements is true for ammonium ion

A. All bonds are ionic

B. All bonds are coordinate covalent

C. H atoms are situated at the corners of a square

D. H atoms are situated at the corners of a tetrahedron

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_bMRK8AqTm0Fq
https://dl.doubtnut.com/l/_KIVLfdCPcYjb


58. Which of the following is a planar molecule ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH3

H3O
+

BCl3

PCl3

59. Which of the following is a correct set with respect to molecule,

hybridization, and shape?

A.  linear

B.  triangular planar

C. , triangular planar

D.  , tetrahedral

BeCl2, sp2

BeCl2, sp2

BCl3, sp2

BCl3, Sp3

https://dl.doubtnut.com/l/_PB3uFnC9BVUF
https://dl.doubtnut.com/l/_HTSR9UyPzycB


Answer: C

Watch Video Solution

60. In which of the following molecule in the bond angle is maximum ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

120∘

180∘

109∘ 28'

104∘ 30'

61. In ethene, the bond angles are exactly

A. 109∘ 28'

https://dl.doubtnut.com/l/_HTSR9UyPzycB
https://dl.doubtnut.com/l/_SKrohJcbVI6Z
https://dl.doubtnut.com/l/_2nnXODmIZUwq


B. 

C. 

D. different

Answer: B

Watch Video Solution

120∘

180∘

62. Which molecules has zero dipole moment ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH4

C2H6

NH3

C6H6

https://dl.doubtnut.com/l/_2nnXODmIZUwq
https://dl.doubtnut.com/l/_GOQ5VG8aDIjU
https://dl.doubtnut.com/l/_vOfINiGwPhum


63. What is the correct mode of hybridization of the central atom in the

following compounds. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NO+
2 , SF4, PF −

6

sp2, sp3, d2sp3

sp3, sp3d2, sp3d2

sp, sp3d, sp3d2

sp, sp2, sp3

64. Which of the following species has square planar geometry ?

A. 

B. 

C. 

D. 

sp3d

dsp3

dsp2

sp3

https://dl.doubtnut.com/l/_vOfINiGwPhum
https://dl.doubtnut.com/l/_5ecppOlinn3b


Answer: C

Watch Video Solution

65. Which of the following compounds has square pyramidal geometry ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF6

XeO3

BrF5

XeF4

66. Which of the following species has a linear shape ?

A. H +
3

https://dl.doubtnut.com/l/_5ecppOlinn3b
https://dl.doubtnut.com/l/_pLT9oe2fUbuC
https://dl.doubtnut.com/l/_TLlLPhC39vR3


B. 

C. 

D. 

Answer: B

Watch Video Solution

LiH2

NH2

OH2

67. What is the oxidation number of  in ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Xe XeOF2

sp3d3

sp3d2

sp3d

sp3

https://dl.doubtnut.com/l/_TLlLPhC39vR3
https://dl.doubtnut.com/l/_FG5rgfAUsBGF
https://dl.doubtnut.com/l/_fAdcJOwsvkdu


68. -hybridisation is involved in the molecule of

A. pyramidal

B. tetrahedral

C. octahedral

D. trigonal planar

Answer: D

Watch Video Solution

sp2

69. Out of the following hybrid orbitals, the one which forms the bond at

angle  , is

A. 

B. 

C. 

D. 

120∘

d2sp3

sp3

sp2

sp

https://dl.doubtnut.com/l/_fAdcJOwsvkdu
https://dl.doubtnut.com/l/_SsGNwpvEA0RJ


Answer: C

Watch Video Solution

70. Which of the following molecule is linear?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SO2

NO+
2

NO−
2

SCl2

71. Which of the following is not tetrahedral ?

A. SCl4

https://dl.doubtnut.com/l/_SsGNwpvEA0RJ
https://dl.doubtnut.com/l/_FOFI8SVaNjPc
https://dl.doubtnut.com/l/_UbGr1Cu3mdrZ


B. 

C. 

D. 

Answer: A

Watch Video Solution

SO
2 −
4

Ni(CO)4

NiCl
2 −
4

72. Which one of the following compounds has  hybridisation ? .

A. 

B. 

C. 

D. CO

Answer: C

Watch Video Solution

sp2

CO2

N2O

SO2

https://dl.doubtnut.com/l/_UbGr1Cu3mdrZ
https://dl.doubtnut.com/l/_GBSh0Dj6Wpki
https://dl.doubtnut.com/l/_4mm5iigcLzn5


73.  is a solid containing

A. An angular Cl-Hg-Cl molecule

B. A linear Cl-Hg-Cl molecule

C. A T-shaped Cl-Hg-Cl molecule

D. A pyramidal Cl-Hg-Cl molecule

Answer: B

Watch Video Solution

HgCl2

74. Hybridisation shown by N in  is

A. 

B. 

C. 

D. 

HNO3

sp2

sp3d

sp

sp3

https://dl.doubtnut.com/l/_4mm5iigcLzn5
https://dl.doubtnut.com/l/_nSFc3AIAtbUm


Answer: A

Watch Video Solution

75. State of hybridization of carbon atoms in vinyl acetylene is/are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sp2

sp

sp2 and sp

sp3, sp2 and sp

76. In which of the following pairs of molecule/ions , the central atom has

 hybridization?sp2

https://dl.doubtnut.com/l/_nSFc3AIAtbUm
https://dl.doubtnut.com/l/_BtYsuCy0nst1
https://dl.doubtnut.com/l/_w9KdC1G4Ly1y


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

OF2

H2S

BeCl2

SnCl2

77. The  molecule is a result of the hybridisation of

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

PCl5

sp2d2

sp3d

spd3

sp2d3

https://dl.doubtnut.com/l/_w9KdC1G4Ly1y
https://dl.doubtnut.com/l/_9YPgx6dx9gc3


78. Which one is false in the following statements

A. Each carbon in ethylene is in  hybridisation

B. Each carbon in acetylene in in  hybridisation

C. Each carbon in benzene is in  hybridisation

D. Each carbon in ethane is in  hybridisation

Answer: B

Watch Video Solution

sp2

sp3

sp2

sp3

79. Which of the following will be octahedral ?

A. 

B. 

C. 

SF6

BF
−

4

PCl5

https://dl.doubtnut.com/l/_9YPgx6dx9gc3
https://dl.doubtnut.com/l/_f4Vmbx4UCnp3
https://dl.doubtnut.com/l/_3l35jIJ9FUik


D. 

Answer: A

Watch Video Solution

BO3 −
3

80. The length of C-C bonds in benzene is

A. Tautomerism

B.  hybridisation

C. Isomerism

D. Inductive effect

Answer: B

Watch Video Solution

sp2

https://dl.doubtnut.com/l/_3l35jIJ9FUik
https://dl.doubtnut.com/l/_n2sKGb3b4mDW


81. Which of the following does not involves -hybridisation and are

square planar ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

dsp2

NiCl
2 −
4

SCl4

NH
+

4

PtCl
2 −
4

82. Match List I with List II. Select the correct answer using the codes

given below the list 

https://dl.doubtnut.com/l/_r9lvumyfQek1
https://dl.doubtnut.com/l/_h1KPryyEhtj3


 

Answer the code

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A B C D

3 2 4 1

A B C D

1 2 3 4

A B C D

2 3 1 4

A B C D

4 1 2 3

83. The correct order towards bond angle is

A. sp < sp2 < sp3

https://dl.doubtnut.com/l/_h1KPryyEhtj3
https://dl.doubtnut.com/l/_gYNboALaXa4h


B. 

C. 

D. Bond angle does not depends on hybridisation

Answer: C

Watch Video Solution

sp2 < sp < sp3

sp3 < sp2 < sp

84. Bond angle in  is

A. Much less than 

B. Equal to that of 

C. Much greater than 

D. Slightly greater than 

Answer: A

Watch Video Solution

PH3

NH3

NH3

NH3

NH3

https://dl.doubtnut.com/l/_gYNboALaXa4h
https://dl.doubtnut.com/l/_nz7yZzjFNRx2
https://dl.doubtnut.com/l/_KrwlzkPUcZFa


85. The hybridisation present in  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

IF3

sp3d

sp3

sp3d2

sp3d3

86. Which of the following compounds doesn't have linear structure

A. 

B. 

C. 

D. 

CO2

SO2

BeCl2

C2H2

https://dl.doubtnut.com/l/_KrwlzkPUcZFa
https://dl.doubtnut.com/l/_iltWK0NFOcuP


Answer: B

View Text Solution

87. Which compound does not possess linear geometry

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH2 = CH2

HC ≡ CH

BeCl2

CO2

88. In which of the following pairs , bond angle is 

A. 

109∘ 28' ?

NH3, (BF4) − 1

https://dl.doubtnut.com/l/_iltWK0NFOcuP
https://dl.doubtnut.com/l/_RT1ZtsRzsvN4
https://dl.doubtnut.com/l/_2GIHmRbM03xN


B. 

C. 

D. 

Answer: A

Watch Video Solution

(NH4) + , BF3

NH3, BF4

(NH2) − 1, BF3

89. A square planar complex is formed by hybridisation of which atomic

orbitals?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

s, px, py, dyz

s, px, py, dx2 −y2

s, px, py, dz2

s, py, pz, dxy

https://dl.doubtnut.com/l/_2GIHmRbM03xN
https://dl.doubtnut.com/l/_AsJ8wJsBmURF


90. The correct order of decreasing bond angles in  and 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2S, NH3, BF3

SiH4

H2S < NH3 < SiH4 < BF3

NH3 < H2S < SiH4 < BF3

H2S < SiH4 < NH3 < BF3

H2S < NH3 < BF3 < SiH4

91. Which of the following has the regular tetrahedral structure?

A. 

B. 

C. 

BF
−

4

SF4

XeF4

https://dl.doubtnut.com/l/_AsJ8wJsBmURF
https://dl.doubtnut.com/l/_RvRBhe6XrLJK
https://dl.doubtnut.com/l/_t7M26GWhKOU5


D. 

Answer: A

Watch Video Solution

[Ni(CN)4]
2 −

92. The states of hybridisation of boron and oxygen atoms in boric acid

 are respecitivelty :

A.  and 

B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

(H3BO3)

sp3 sp2

sp2 sp3

sp2 sp2

sp3 sp3

https://dl.doubtnut.com/l/_t7M26GWhKOU5
https://dl.doubtnut.com/l/_I5zzkDgqB5Wq


93. In which of the following molecules /ions , are all the bonds not equal

?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SF4

SiF4

XeF4

BF
−

4

94. The correct order regarding the electronegativity of hybrid orbitals of

carbon is ?

A. 

B. 

C. 

sp < sp2 > sp3

sp < sp2 < sp3

sp > sp2 < sp3

https://dl.doubtnut.com/l/_GqX8tf5Paroi
https://dl.doubtnut.com/l/_CM0JWB5QmLwl


D. 

Answer: D

Watch Video Solution

sp > sp2 > sp3

95. In which of the following pairs, the two species are not isostructural?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

CO2 −
3 NO−

3

PCl
+
4 SiCl4

PF5 BrF5

AlF 3 −
6 SF6

96. The C-H bond distance is the longest in:

https://dl.doubtnut.com/l/_CM0JWB5QmLwl
https://dl.doubtnut.com/l/_Zafu3CgCAL72
https://dl.doubtnut.com/l/_urFZz70wM8a6


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H2

C2H4

C2H4Br2

C6H6

97. In which of the following the central atom does not use  hybrid

orbitals in its bonding

A. 

B. 

C. 

D. 

Answer: A

sp3

BeF −
3

OH +
3

NH −
2

NF3

https://dl.doubtnut.com/l/_urFZz70wM8a6
https://dl.doubtnut.com/l/_r7d9DZGnPAxO


Watch Video Solution

98. In the complex  hybridization is present. Geometry of

the complex is

A. square

B. Square pyramidal

C. Square bipyramidal

D. Tetrahedral

Answer: B

Watch Video Solution

[SbF5]2 − , sp3d

99. Bond angle is minimum for

A. 

B. 

H2Te

H2Se

https://dl.doubtnut.com/l/_r7d9DZGnPAxO
https://dl.doubtnut.com/l/_TouEMUWft9zb
https://dl.doubtnut.com/l/_saQUPkPFtkMs


C. 

D. 

Answer: A

Watch Video Solution

H2O

H2S

100. Be in  undergoes

A. Linear hybridization

B. Trigonal hybridization

C. Tetrahedral hybridization

D. No hybridization

Answer: A

Watch Video Solution

BeCl2

https://dl.doubtnut.com/l/_saQUPkPFtkMs
https://dl.doubtnut.com/l/_LkJQGTBg8xL9


101. The d-orbitals involved in  hybridisation is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sp3d

dx2 −y2

dxy

dz2

dzx

102. The pair having similar geometry is

A. 

B. 

C. 

D. 

PCl3, NH3

BeCl2, H2O

CH4, CCl4

IF5, PF5

https://dl.doubtnut.com/l/_jXxPtfclAOHC
https://dl.doubtnut.com/l/_Qekwn0EjvH68


Answer: A::C

Watch Video Solution

103. The shape of the ammonia molecule is

A. tetrahedral

B. Trigonal pyramid

C. trigonal bipyramidal

D. trigonal planar

Answer: B

Watch Video Solution

104. The hybridization in  is

A. 

PF3

sp3

https://dl.doubtnut.com/l/_Qekwn0EjvH68
https://dl.doubtnut.com/l/_lYJrjqEXDp8X
https://dl.doubtnut.com/l/_dCGM53El0aeE


B. 

C. 

D. 

Answer: A

Watch Video Solution

sp2

dsp3

d2sp3

105. Which of the following is not linear ?

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

CO2

ClO2

I −
3

https://dl.doubtnut.com/l/_dCGM53El0aeE
https://dl.doubtnut.com/l/_cX8gRl2fssJh
https://dl.doubtnut.com/l/_x2qlDFXAPuNd


106. Which of the following is non-linear molecule

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

CO2 −
3

CO2

CS2

BeCl2

107. The hybrid state of sulphur in  molecule is

A. 

B. 

C. 

D. 

SO3

sp3d

sp3

sp3d2

sp2

https://dl.doubtnut.com/l/_x2qlDFXAPuNd
https://dl.doubtnut.com/l/_ARv0G53bXpfa


Answer: D

Watch Video Solution

108. The molecule which has pyramidal shapes is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

PCl3

SO3

CO2 −
3

NO−
3

109. The pair of species having identical shapes for molecules of both

species is

https://dl.doubtnut.com/l/_ARv0G53bXpfa
https://dl.doubtnut.com/l/_cfR3d3t7G1hL
https://dl.doubtnut.com/l/_pupPw5AiZMEq


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CF4, SF4

BF3, PCl3

XeF2, CO2

PF5, IF5

110.  and  have the hybridisation at sulphur atom

respectively as .

A. 

B. 

C. 

D. 

Answer: C

SF2, SF4 SF6

sp2, sp3, sp2d2

sp3, sp3, sp3d2

sp3, sp3d, sp3d2

sp3, spd2, d2sp3

https://dl.doubtnut.com/l/_pupPw5AiZMEq
https://dl.doubtnut.com/l/_io5GhjRsR4Rk


Watch Video Solution

111. In which pair of species both species do have the similar geometry ? .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CO2, SO2

NH3, BH3

CO2 −
3 , SO2 −

3

SO2
4 − , ClO−

4

112. The percentage s-character of the hybrid orbitals in methane , ethene

are respectively

A. 25,33,50

B. 25,50,75

https://dl.doubtnut.com/l/_io5GhjRsR4Rk
https://dl.doubtnut.com/l/_YXK1u0CO45bV
https://dl.doubtnut.com/l/_MtsfRzvLybiB


C. 50,75,100

D. 10,20,40

Answer: A

Watch Video Solution

113. Which of the following conversion involves change in both

hybridization and shape ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH4 → C2H6

NH3 → NH
+

4

BF3 → BF
−

4

H2O → H3O
+

https://dl.doubtnut.com/l/_MtsfRzvLybiB
https://dl.doubtnut.com/l/_mo1rDiZlgrO7
https://dl.doubtnut.com/l/_TNOayQ8ntauw


114. The percentage of p character of hybrid orbitals in graphite and

diamond are respectively

A. 33 and 25

B. 50 and 75

C. 67 and 75

D. 33 and 75

Answer: C

Watch Video Solution

115. The state of hybridization of the central atom and the number of lone

pairs over the central atom in  are

A. sp,0

B. 

C. 

POCl3

sp2, 0

sp3, 0

https://dl.doubtnut.com/l/_TNOayQ8ntauw
https://dl.doubtnut.com/l/_Dp0pUsFp18XB


D. 

Answer: C

Watch Video Solution

dsp2, 1

116. Hybridisation of central atom in  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NF3

sp3

sp

sp2

dsp2

117. Explain why all bonds in  molecule are not equivalent.SF4

https://dl.doubtnut.com/l/_Dp0pUsFp18XB
https://dl.doubtnut.com/l/_RYxoiGlaIabP
https://dl.doubtnut.com/l/_Mqz7JTKqHCL1


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

89∘ , 117∘

120∘ , 180∘

45∘ , 118∘

117∘ , 92∘

118. Pentagonal bipyramidal structure contains bond angles

approximately.

A. 

B. 

C. 

D. 

Answer: D

120∘ , 90∘ , 180∘

120∘ , 72∘ , 180∘

72∘ , 90∘ , 120∘

72∘ , 90∘ , 180∘

https://dl.doubtnut.com/l/_Mqz7JTKqHCL1
https://dl.doubtnut.com/l/_cv0UpVpvqFHY


Watch Video Solution

119. a completely filled d orbital 

A. Spherically symmetrical

B. Has octahedral symmetrical

C. Has octahedral symmetry

D. Depends on the atom

Answer: B

View Text Solution

(d10)

120. Which of the following has  hybridisation of central atom ?

A. 

B. 

C. 

sp3

PCl3

SO3

BF3

https://dl.doubtnut.com/l/_cv0UpVpvqFHY
https://dl.doubtnut.com/l/_CIxJwngPfhEB
https://dl.doubtnut.com/l/_IhCfmAyhP0Gn


D. 

Answer: A

Watch Video Solution

NO−
3

121. Which of the following bonds require the largest amount of bond

energy to dissociate the atoms concerned ?

A.  bond in 

B. C-C bond in 

C.  bond in 

D.  bond in 

Answer: C

Watch Video Solution

H − H H2

CH4

N ≡ N N2

O = O O2

https://dl.doubtnut.com/l/_IhCfmAyhP0Gn
https://dl.doubtnut.com/l/_vOt8GITD9Xa7


122. The trigonal bipyramidal geometry results from the hybridisation

A.  or 

B.  or 

C.  and 

D.  or 

Answer: A

Watch Video Solution

dsp3 sp3d

dsp2 sp2d

d2sp3 sp2

d3sp2 d2sp3

123. The hybridization of atomic orbitals of nitrogen is , and 

 respectively are

A.  and 

B.  and 

C.  and sp

D. sp,  and 

NO+
2 , NO−

3

NH
+

4

sp2, sp sp3

sp, sp3 sp2

sp2, sp3

sp2 sp3

https://dl.doubtnut.com/l/_1ZiQfkICCvWH
https://dl.doubtnut.com/l/_QoU2pTKHSrc9


Answer: D

Watch Video Solution

124. Identify the incorrect statements, regarding the molecule 

A.  molecule is square planar

B. There are four  bonds

C. There are four  -p,  bonds

D.  molecule is tetrahedral

Answer: A

Watch Video Solution

XeO4

XeO4

pπ − dπ

sp3 σ

XeO4

125. In which of the following species the underlined C atom has 

hybridization?

sp3

https://dl.doubtnut.com/l/_QoU2pTKHSrc9
https://dl.doubtnut.com/l/_RUTv75Jdnirc
https://dl.doubtnut.com/l/_pqhSGbWkGHo1


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SiF4, BeH2

NF3, H2O

NF3, BF3

H2S, BF3

126. Which of the following has tetrahedral structure

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

CO2 −
3

NH
+

4

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_pqhSGbWkGHo1
https://dl.doubtnut.com/l/_ukCY3JuIKu4K


127. The electronic structure of molecule  is a hybrid of

A. sp

B. 

C. 

D. 

Answer: C

Watch Video Solution

OF2

sp2

sp3

sd3

128. 

A. sp

B. 

C. 

CH2Cl − CHCl2

sp2

sp3

https://dl.doubtnut.com/l/_ukCY3JuIKu4K
https://dl.doubtnut.com/l/_er8yAAkPBJeG
https://dl.doubtnut.com/l/_COj6PyaJyb0e


D. 

Answer: C

Watch Video Solution

sp2d

129. As compared to pure atomic orbitals, hybrid orbitals have

A. Low energy

B. Same energy

C. High energy

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_COj6PyaJyb0e
https://dl.doubtnut.com/l/_TBGm6a3ZWvS7


130. The valency of carbon in four. On what principle it can be explained in

a better way

A. Resonance

B. Hybridization

C. Electron transfer

D. None of the above

Answer: B

Watch Video Solution

131. A) C-H bond in ethyne is shorter than C-H bonds in ethene. 

R) Carbon atom in ethene is sp-hybridised while it is  in ethyne.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

sp2

https://dl.doubtnut.com/l/_YUPyGjLBLwGM
https://dl.doubtnut.com/l/_cXO80XErzPhi


B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: C

Watch Video Solution

132. Assertion : Bond order can assume any value number including zero. 

Reason :Higher the bond order ,shorter is bond length and greater is

bond energy.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

https://dl.doubtnut.com/l/_cXO80XErzPhi
https://dl.doubtnut.com/l/_sgY4pI4c64tt


Ordinary thinking (Resonance)

D. if the assertion and reason both are false

Answer: B

Watch Video Solution

133. The species, having bonds angle of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

120∘

CF3

NCl3

BCl3

PH3

https://dl.doubtnut.com/l/_sgY4pI4c64tt
https://dl.doubtnut.com/l/_lCkPPNtRbBPJ
https://dl.doubtnut.com/l/_A2Bc08uqD8Wa


1. Which molecule does not show resonance

A. Benzene

B. Aniline

C. Ethyl amine

D. Toluene

Answer: C

Watch Video Solution

2. In  the formal charge on each O-atom and  bond order

respectively are .

A. 

B. 

C. 

D. 

PO
3 −
4 P − O

−0.75, 1.25

−0.75, 1.0

−0.75, 0.6

−3, 1.25

https://dl.doubtnut.com/l/_A2Bc08uqD8Wa
https://dl.doubtnut.com/l/_du1APvLOP76P


Answer: A

Watch Video Solution

3. Explain the important aspects of resonance with reference to the

 ion.

A. 2

B. 3

C. 6

D. 9

Answer: B

Watch Video Solution

CO2 −
3

4. Point out incorrect statement about resonance

https://dl.doubtnut.com/l/_du1APvLOP76P
https://dl.doubtnut.com/l/_Lry4KtzeFhQ9
https://dl.doubtnut.com/l/_U1GL2xDtfrg2


A. Resonance structure should have equan energy

B. In resonance structure, the constituents atoms should be in the

same position

C. In resonance structure, there should not be the same number of

electron pairs.

D. Resonance structure should differ only in the location of electrons

around the constituent atoms

Answer: C

Watch Video Solution

5. Resonance Hybrid of nitrate ion is 

A. 

B. 

:

https://dl.doubtnut.com/l/_U1GL2xDtfrg2
https://dl.doubtnut.com/l/_bJkgmYF7KHvu


C. 

D. 

Answer: C

Watch Video Solution

6. The bond order in  ion between C - O is

A. Zero

B. 0.88

C. 1.33

D. 2

Answer: C

Watch Video Solution

CO2 −
2

https://dl.doubtnut.com/l/_bJkgmYF7KHvu
https://dl.doubtnut.com/l/_vPLb2hdc9ds0


7. Reonance is due to

A. Delocalization of sigma electrons

B. Delocalization of pi electrons

C. Migration of H atoms

D. Migration of protons

Answer: B

Watch Video Solution

8. Select the incorrect statement about the following :

A.  is used as germicide for purification of air

B. In  bond length is identical with that of molecular

oxygen

C.  molecule is angular in shape

O3

O3, O − O

O3

https://dl.doubtnut.com/l/_uZFAvbOIgG7w
https://dl.doubtnut.com/l/_iAIdazrRU94A


D.  is an oxidizing agent

Answer: B

Watch Video Solution

O3

9. Which one in the following is not the resonance structure of 

A. O=C=O

B. 

C. 

D. 

Answer: D

Watch Video Solution

CO2

. − O − C ≡ O+

. + O ≡ C − O−

O ≡ C = O

https://dl.doubtnut.com/l/_iAIdazrRU94A
https://dl.doubtnut.com/l/_15mMR5UWXEBS


10. Which iof the folowing molecule contains one pair of non-bonding

electrons?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH4

NH3

H2O

HF

11. A resonance hybrid is always more stable than any of its canonical

structures. 

This stability is due to delocalization of electrons.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

https://dl.doubtnut.com/l/_m6h2rR83dlmU
https://dl.doubtnut.com/l/_7yPABdbk49QF


Ordinary thinking (VSEPR Theory )

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: A

Watch Video Solution

1. The  bond angle in water is

A. 

B. 

C. 

D. 

H − O − H

120∘ 28'

60∘

90∘

105∘

https://dl.doubtnut.com/l/_7yPABdbk49QF
https://dl.doubtnut.com/l/_zeixQjxxvvvT


Answer: D

Watch Video Solution

2. Which of the following molecule does not have a linear arrangement of

atoms ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2S

C2H2

BeH2

CO2

3.  is depolar, wheras  is not. it becauseH2O BeF2

https://dl.doubtnut.com/l/_zeixQjxxvvvT
https://dl.doubtnut.com/l/_6ZTglM0gjO3J
https://dl.doubtnut.com/l/_R01ciOcdfxkE


A.  is linear and  is angular

B.  is angular and  is linear

C. The electronegativity of F is greater than that of O

D.  involves hydrogen bonding whereas  is a discrete

molecule

Answer: B

Watch Video Solution

H2O BeF2

H2O BeF2

H2O BeF2

4. Which one has a pyramidal structure

A. 

B. 

C. 

D. 

Answer: B

CH4

NH3

H2O

CO2

https://dl.doubtnut.com/l/_R01ciOcdfxkE
https://dl.doubtnut.com/l/_1UbyVer3h9CF


Watch Video Solution

5.  molecule is planar while  is pyramidal because

A.  has no lone pair of electrons but  has a lone pair of

electrons

B. B-Cl bond is more polar than N-Cl bond

C. Nitrogen atom is smaller than boromatom

D. N-Cl bond is more covalent than B-Cl bond

Answer: A

Watch Video Solution

BCl3 NCl3

BCl3 NCl3

6. In  molecule, the lone pair occupies equatorial position minimize

A. Lone pair-lone pair repulsion and lone pair-bond pair repulsion

B. Lone pair -lone pair repulsion only

BrF3

https://dl.doubtnut.com/l/_1UbyVer3h9CF
https://dl.doubtnut.com/l/_gAwxL8fCXJPn
https://dl.doubtnut.com/l/_fMlhTijNRkvo


C. Lone pair -bond pair repulsion only

D. Bond pair-bond pair repulsion only

Answer: B

Watch Video Solution

7. Among the following the pair in which the two species are not

isostructural is

A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

BH
−

4 NH
+

4

PF −
6 SF6

SiF4 SF4

IO−
3 XeO3

https://dl.doubtnut.com/l/_fMlhTijNRkvo
https://dl.doubtnut.com/l/_I7PDblU0zF4o
https://dl.doubtnut.com/l/_DKW9F9tY82pY


8. Which of the following is not a correct statement

A. Every  molecules does in fact have square pyramid structure

B. Multiple bonds are always shorter than corresponding single bond

C. The electron-deficient molecules can act as lewis acids

D. The canonical structure have no real existence

Answer: A

Watch Video Solution

AB5

9. In which of the following pairs, the two species are isostructural :

A.  and 

B.  and 

C.  and 

D.  and 

SF4 XeF4

SO2 −
3 NO−

3

BF3 NF3

BrO−
3 XeO3

https://dl.doubtnut.com/l/_DKW9F9tY82pY
https://dl.doubtnut.com/l/_iS48PyDareUr


Answer: D

Watch Video Solution

10. The correct order of increasing bond angles in the following triatomic

species is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NO+
2 < NO2 < NO−

2

NO+
2 < NO−

2 < NO2

NO−
2 < NO+

2 < NO2

NO−
2 < NO2 < NO+

2

11. Predict the correct order omong the following:

https://dl.doubtnut.com/l/_iS48PyDareUr
https://dl.doubtnut.com/l/_NP3Wo534hwTi
https://dl.doubtnut.com/l/_THFWrQFWLl18


A. Lone pair-lone pair gt lone pair -bond pair gtbond pair-bond pair

B. Lone pair-lone pair gt bond pair-bond pairgtlone pair bond pair

C. Bond pair -bond pair gt lone pair-bond pair gt lone pair-lone pair

D. Lone pair-bond pair gt bond pair gt lone pair-lone pair

Answer: A

Watch Video Solution

12. The isoelectronic pair is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl2O, Icl−
2

ICl−
2 , ClO2

IF +
2 , I −

3

ClO−
2 , ClF +

2

https://dl.doubtnut.com/l/_THFWrQFWLl18
https://dl.doubtnut.com/l/_YQtS4FN1oORs


13. Planar structure is shown by

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

CO2 −
3

BCl3

N(SiH3)3

14.  molecule is

A. Linear

B. Triangular planar

C. Pyramidal

XeF2

https://dl.doubtnut.com/l/_YQtS4FN1oORs
https://dl.doubtnut.com/l/_JGdnG2r5VhR8
https://dl.doubtnut.com/l/_g85Hnczauvqc


D. Square planar

Answer: A

Watch Video Solution

15. The decreasing order of bond angle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NH3 < CH4 < C2H2 < H2O

C2H2 > NH3 > H2O < CH4

NH3 > H2O > CH4 < C2H2

H2O < NH3 > CH4 < C2H2

https://dl.doubtnut.com/l/_g85Hnczauvqc
https://dl.doubtnut.com/l/_kiFoxl1DnXaB


16. Which of the following gives correct arrangement of compounds

involved based on their bond strength?

A. HF gtHCl gt HBr gtHI

B. HIgtHBr gtHCl gtHF

C. HFgtHBr gtHCl gtHI

D. HCl gtHF gtHBr gtHI

Answer: A

Watch Video Solution

17. The shape of  ion is

A. Square planar

B. tetrahedral

C. trigonal bipyramidal

D. Hexagonal

SO
2 −
4

https://dl.doubtnut.com/l/_vgKvynUEbYDA
https://dl.doubtnut.com/l/_GAsXWjGX0Efi


Answer: B

Watch Video Solution

18. Which of the following has maximum bond angle?

A. 

B. 

C. 

D. All have maximum bond angle

Answer: A

Watch Video Solution

CHF3

CHCl3

CHBr3

19. Which of the following is a non-linear molecule ?

A. CO2

https://dl.doubtnut.com/l/_GAsXWjGX0Efi
https://dl.doubtnut.com/l/_YNgq3Dn8Pz4D
https://dl.doubtnut.com/l/_p5BG64LYKxW9


B. 

C. 

D.  involves hydrogen bonding whereas  is a discrete

molecule

Answer: D

Watch Video Solution

CS2

HgCl2

H2O BeF2

20. In water molecule, the bond angle of  around oxygen is

accounted due to

A. Repulsion between lone pair and bond pair

B.  hybridization of O

C. Bonding of 

D. Higher electronegativity of O

Answer: A

104.5∘

sp3

H2O

https://dl.doubtnut.com/l/_p5BG64LYKxW9
https://dl.doubtnut.com/l/_4uS4EoBHklP9


Watch Video Solution

21. Among the following molecules :  , and  ,

which of the following shapes does not describe any of the molecules

mentioned ?

A. Bent

B. trigonal bipyramidal

C. See-saw

D. T-Shape

Answer: B

Watch Video Solution

SO2, SF4, CIF3, BrF5 XeF4

22. Which of the following has the least bond angle ?

A. NH3

https://dl.doubtnut.com/l/_4uS4EoBHklP9
https://dl.doubtnut.com/l/_sBynlTBl8uaE
https://dl.doubtnut.com/l/_0poEa3sjvUJP


B. 

C. 

D. 

Answer: C

Watch Video Solution

BeF2

H2O

CH4

23. Which of the following molecules has one lone pair of electrons on

the central atom

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O

NH3

CH4

PCl5

https://dl.doubtnut.com/l/_0poEa3sjvUJP
https://dl.doubtnut.com/l/_dmqpAd1XOL77


24. Discuss the shape of  using VSEPR model .

A. Linear

B. Angular

C. Trigonal planar

D. Trigonal pyramidal

Answer: D

Watch Video Solution

H3O
+

25. In , bond angle is less than tetrahedral bond angle due to

________.

A. Bond pair repulsion

B. Lone pair repulsion

C. Bond pair -lone pair repulsion

NH3

https://dl.doubtnut.com/l/_dmqpAd1XOL77
https://dl.doubtnut.com/l/_OfVqN2KH2SLH
https://dl.doubtnut.com/l/_5vhel4jGBbog


D. None of these

Answer: C

Watch Video Solution

26. In , oxidation state and of hybridisation of Xe and shape of the

molecule are, respectively

A.  distorted octahedral

B.  square planar

C.  pyramidal

D. , square pyramidal

Answer: A

Watch Video Solution

XeF6

+6, sp3d3,

+4, sp3d2,

+6, sp3

+6, sp3d2

https://dl.doubtnut.com/l/_5vhel4jGBbog
https://dl.doubtnut.com/l/_PTwWkxNptNgt


27. Which of the following is a non-linear molecule ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ICl−
2

I −
3

N −
3

ClO−
2

28. The bond angle and % of d-character in  are

A. 

B. 

C. 

D. 

SF6

120∘ , 20 %

90∘ , 33 %

109∘ , 25 %

90∘ , 25 %

https://dl.doubtnut.com/l/_QT9qQMFRNcwh
https://dl.doubtnut.com/l/_lODJhvsLzqPg


Answer: B

Watch Video Solution

29. Using the  theory, identify the type of hybisation and draw

the structure of  What are the oxidation states of  and  ? .

A. Linear

B. Square planar

C. Tetrahedral

D. Octahedral

Answer: C

Watch Video Solution

V SEPR

OF2 O F

30. The structure of  ion is[Cu(H2O)4]
+ +

https://dl.doubtnut.com/l/_lODJhvsLzqPg
https://dl.doubtnut.com/l/_PpkNdgCB3JvD
https://dl.doubtnut.com/l/_dQpalRY7bCoS


A. Square planar

B. tetrahedral

C. Distorted rectangle

D. Octahedral

Answer: A

Watch Video Solution

31. Which one of the following compounds has bond angle close to  ?

A. 

B.  and 

C. 

D. 

Answer: B

Watch Video Solution

90∘

H2O

H2S BeCl2

NH3

CH4

https://dl.doubtnut.com/l/_dQpalRY7bCoS
https://dl.doubtnut.com/l/_rEgNczTIF5OU


32. Bond angle between two hybrid orbitals is  Percentage of s-

orbital character of hybrid orbital is between

A. Between 20-21%

B. Between 19-20%

C. Between 21-22%

D. Between 22-23%

Answer: D

Watch Video Solution

105∘

33. In which of the following moleucles, all atoms are coplanar?

A. 

B. 

C.  and 

CH4

BF3

PF5 BrF5

https://dl.doubtnut.com/l/_rEgNczTIF5OU
https://dl.doubtnut.com/l/_gqdjZHY2aX8z
https://dl.doubtnut.com/l/_XbrVKhfettWF


D. 

Answer: B

Watch Video Solution

NH3

34. One of the following is having square planar structure

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH
+

4

BF
−

4

XeF4

SCl4

https://dl.doubtnut.com/l/_XbrVKhfettWF
https://dl.doubtnut.com/l/_JTEYbB16RJko


35. According to VSEPR theory, the most probable shape of the molecule

having 4 electrons pairs in the outer shell of the central atom is

A. Linear

B. Tetrahedral

C. Hexahedral

D. Octahedral

Answer: B

Watch Video Solution

36. The correct sequence of decrease in the bond angles of the following

hydrides is

A. 

B. 

C. 

NH3 > PH3 > AsH3 > SbH3

NH3 > AsH3 > PH3 > NH3

SbH3 > AsH3 > PH3 > NH3

https://dl.doubtnut.com/l/_Q2p9fdk1xza4
https://dl.doubtnut.com/l/_sbZwaGIJSjz3


D. 

Answer: A

Watch Video Solution

PH3 > NH3 > AsH3 > SbH3

37. Among ,  and ,unpaired electrons is present

in .

A.  and 

B.  and 

C.  only

D.  only

Answer: C

Watch Video Solution

KO2, ALOΘ
2 BaO2 NO+

2

NO+
2 BaO2

KO2 AlO−
2

KO2

BaO2

https://dl.doubtnut.com/l/_sbZwaGIJSjz3
https://dl.doubtnut.com/l/_OPml5BylYXgN


38. Which of the following set do not have  hybridization

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sp3d

ClF3, IF3, XeF +
3

Icl−
2 , ClF −

2 , I −
3

ClF , BrF , IF

PCl3, AsCl3, PF5

39. The actual geometry of  is

A. Planar

B. Linear

C. V shape

D. Tetrahedral

NO−
2

https://dl.doubtnut.com/l/_p6CuAmMq3jrU
https://dl.doubtnut.com/l/_c0csKcngZIh7


Answer: C

Watch Video Solution

40. 


The bond angle in  is . This fact can be best explained with the

help of

A. Valence shell electron pair repulsion (VSEPR) theory

B. Molecular orbital theory

C. Presence of hydrogen bond

H2O 104.5∘

https://dl.doubtnut.com/l/_c0csKcngZIh7
https://dl.doubtnut.com/l/_WQHoiqu1tCTq


D. Electronegativity difference between hydrogen and oxygen atom

Answer: A

Watch Video Solution

41. The maximum number of  angles between bond pair-bond pair of

electrons is observed in

A.  hybridization

B.  hybridization

C.  hybridization

D.  hybridization

Answer: D

Watch Video Solution

90∘

dsp2

sp3d

dsp3

sp3d2

https://dl.doubtnut.com/l/_WQHoiqu1tCTq
https://dl.doubtnut.com/l/_2NToWIJ9v5iO


42. Of the following sets which one does not contain isoclectronic species

?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PO
3 −
4 , SO2 −

4 , ClO−
4

CN − , N2, C 2 −
2

SO2 −
3 , CO2 −

3 , NO−
3

BO3 −
3 , CO2 −

3 , NO−
3

43. The molecule having smallest bond angle is

A. 

B. 

C. 

D. 

NCl3

AsCl3

SbCl3

PCl3

https://dl.doubtnut.com/l/_KcHBLAtgbC5N
https://dl.doubtnut.com/l/_nCpOO7UrqlPk


Answer: C

Watch Video Solution

44. On comparision with H-C-H bond angle of methane, the C-N-C bond

angle of trimethylamine is

A. Higher

B. No change

C. Not comparable

D. Lower

Answer: A

Watch Video Solution

45.  bond angles in  molecule areCl − P − Cl PCl5

https://dl.doubtnut.com/l/_nCpOO7UrqlPk
https://dl.doubtnut.com/l/_C0RRPzSmuLF7
https://dl.doubtnut.com/l/_BmvFaGtRkC6h


A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

120∘ 90∘

60∘ 90∘

60∘ 120∘

120∘ 30∘

46. in compound  all the bond angles around central atom are 

one of the following will be  ? .

A. Chloromethane

B. Iodoform

C. Carbon tetrachloride

D. Chloroform

Answer: C

X 109∘ 28∘

X

https://dl.doubtnut.com/l/_BmvFaGtRkC6h
https://dl.doubtnut.com/l/_obbeugwTJCEr


Watch Video Solution

47. The largest bond angle in

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

AsH3

NH3

H2O

PH3

48. The shape of  on the basis of VSEPR theory is

A. See saw

B. V-shaped

C. Trigonal planar

XeOF2

https://dl.doubtnut.com/l/_obbeugwTJCEr
https://dl.doubtnut.com/l/_aCmI1qLM47Hd
https://dl.doubtnut.com/l/_dV75hItw5Isc


D. T-Shape

Answer: D

Watch Video Solution

49. According to VSEPR theory, the shape of the water molecule is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ClF3

NH3

BF3

H2O

https://dl.doubtnut.com/l/_dV75hItw5Isc
https://dl.doubtnut.com/l/_oHlut2HgMohP


50. Two types  angles are presnet in which of the following molecule

 ? .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

FXF

(X = S, Xe, C)

SF4

XeF4

SF6

CF4

51. For  the best three-dimensional view is .

A. 

Θ

NH2

https://dl.doubtnut.com/l/_qiIMmNyJjHW9
https://dl.doubtnut.com/l/_o5WTRLXLMtpR


B. 

C. 

D. 

Answer: A

Watch Video Solution

52. The shape of  according to valence shell electron pair repulsion

theory will be

A. Planar triangle

B. Pyramidal

C. Tetrahedral

ClO−
3

https://dl.doubtnut.com/l/_o5WTRLXLMtpR
https://dl.doubtnut.com/l/_S2utrRtOJHYz


D. Square planar

Answer: B

Watch Video Solution

53. A lone pair of electrons in an atom implies

A. A pair of valence electrons not involved in bonding

B. A pair of electrons involved in bonding

C. A pair of electrons

D. A pair of valence electrons

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_S2utrRtOJHYz
https://dl.doubtnut.com/l/_yxzU8CGnDiiO


54. A covalent molecule  has pyramidal structure. The number of lone

pair and bond pair electrons in the molecule are respectively

A. 0 and 4

B. 3 and 1

C. 1 and 3

D. 2 and 2

Answer: C

Watch Video Solution

AB3

55. Amongest the halides 

1.  , 2.  


3.  , 4.  


The order of decreasing Lewis acid character is

A. 

BCl3 AlCl3

GaCl3 InCl3

BCl3 < AlCl3 < GaCl3

https://dl.doubtnut.com/l/_paevLPGWDEms
https://dl.doubtnut.com/l/_9EcKu8yoR543


B. 

C. 

D. 

Answer: C

Watch Video Solution

GaCl3 < AlCl3 < BCl3

BCl3 < GaCl3 < AlCl3

AlCl3 < BCl3 < GaCl3

56. Which of the following number of lone pair at central atom zero. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeO3, XeO2F2, XeO4, XeO3F2, Ba2XeF4

NH3

PH3

BF3

PCl3

https://dl.doubtnut.com/l/_9EcKu8yoR543
https://dl.doubtnut.com/l/_Mp6KPS6o7Efd


57. Which one of the following molecules has the smallest bond angle ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3

PH3

H2O

H2Se

58. Shape and hybridization of , respectively, are

A. Trigonal bipyramidal , 

B. Sea, Saw 

C. Square pyramidal 

D. Pentagonal pyramidal 

IF5

sp3d

sp3d

sp3d2

sp3d2

https://dl.doubtnut.com/l/_Mp6KPS6o7Efd
https://dl.doubtnut.com/l/_ILq6QFFTbUmH
https://dl.doubtnut.com/l/_13ykjaBziRwt


Answer: C

Watch Video Solution

59. The bond angle and dipole moment of water respectively are 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

:

109.5∘ , 1.84D

107.5∘ , 1.56D

104.5∘ , 1.84D

102.5∘ , 1.56D

60. Among  and , the linear species are ………..and……….

A. 

N2O, SO2, I +
3 I −

3

NO−
2 , I +

3 , H2O

https://dl.doubtnut.com/l/_13ykjaBziRwt
https://dl.doubtnut.com/l/_GpiocnkbBnf0
https://dl.doubtnut.com/l/_E1KeFnbkbDNg


B. 

C. 

D. 

Answer: C

Watch Video Solution

N2O, I +
3 , N −

3

N2O, I −
3 , N −

3

N 3 − , I 3 + , SO2

61. Correct order of Bond angle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NH3 > PCl3 > BCl3

BCl3 > NH3 > PCl3

BCl3 > PCl3 > NH3

PCl3 > BCl3 > NH3

https://dl.doubtnut.com/l/_E1KeFnbkbDNg
https://dl.doubtnut.com/l/_L97ycdBBC1wv
https://dl.doubtnut.com/l/_0r27SAbzMSbE


62. Which of the following has a regular geometry

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CHCl3

PCl3

XeF6

SF4

63. Incorrect matching amongest the following is 

(i) Linear -  V-Shaped  


(iii) See Saw  T-Shaped 

A. Only (i)

B. Both (i) and (ii)

C. only (iii)

H2O, SO2        (ii) −CH2, SnCl2

−SF4, TeCl4       (iv) −ICl3, ClF3

https://dl.doubtnut.com/l/_0r27SAbzMSbE
https://dl.doubtnut.com/l/_lXhuBCBcKulj


D. Both (iii) and (iv)

Answer: A

Watch Video Solution

64. Which of the following species are planar ?

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

CO2 −
3

NH3

PCl3

https://dl.doubtnut.com/l/_lXhuBCBcKulj
https://dl.doubtnut.com/l/_sndgpzWwQYrO


65. In which of the following molecules, the central atom has one lone

pair and three bond pairs of electrons,

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2S

AlCl3

NH3

BF3

66. The shape of  is ……….

A. tetrahedral

B. Square planar

C. Trigonal planar

D. Linear

(CH3) +

https://dl.doubtnut.com/l/_fai3s01Jf4al
https://dl.doubtnut.com/l/_a6fC5qmG1A5L


Answer: C

Watch Video Solution

67. Maximum bond angle is present in case of

A. 

B. 

C. 

D. Same for all

Answer: D

Watch Video Solution

BCl3

BBF3

BF3

68. Bond angle in  is

A. 

PH3

90∘

https://dl.doubtnut.com/l/_a6fC5qmG1A5L
https://dl.doubtnut.com/l/_isQmMCRhrPXl
https://dl.doubtnut.com/l/_7wIVwUIO3ODJ


B. 

C. 

D. 

Answer: A

Watch Video Solution

105∘

109∘

120∘

69. Assertion : All F - S - F angle in  are greater than  but less than 

. 


Reason :The lone pair -bond pair repulsion is weaker than bond pair -

bond pair repulsion

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

SF4 90∘

180∘

https://dl.doubtnut.com/l/_7wIVwUIO3ODJ
https://dl.doubtnut.com/l/_KX9dWr0DS2TC


D. if the assertion and reason both are false

Answer: C

Watch Video Solution

70. Assertion :The S-S-S bond in  molecule is . 

Reason :  has V-shape.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: C

Watch Video Solution

S8 105∘

S8

https://dl.doubtnut.com/l/_KX9dWr0DS2TC
https://dl.doubtnut.com/l/_jaD7wfK9z7WS


71. Assertion : H-S-H bond angle in  is closer to  but H-O-H bond

angle in  is  


Reason: lp-lp repulsion is stronger in  than in 

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: B

Watch Video Solution

H2S 90∘

H2O 104.5∘

H2S H2O

72. Which of the following pairs of compound is isoelectronic and

isostructure ?

https://dl.doubtnut.com/l/_jaD7wfK9z7WS
https://dl.doubtnut.com/l/_4uoNXgbCiPsO
https://dl.doubtnut.com/l/_nMIhp0YkX1X9


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

TeI2, XeF2

IBr−
2 , XeF2

IF3, XeF2

BeCl2, XeF2

73. In the structure of , the number of lone pairs of electrons on

central atom 'Cl' is

A. One

B. two

C. Four

D. Three

Answer: B

ClF3

https://dl.doubtnut.com/l/_nMIhp0YkX1X9
https://dl.doubtnut.com/l/_woRjy8jwd7m5


Ordinary thinking (Molecular orbital theory)

Watch Video Solution

1. The size of  ion is same as that of

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na⊕

Li+

Mg+ 2

Ca+ 2

Ba+ 2

2. Which of the following oxides of nitrogen is isoelectronic with 

A. 

CO2

NO2

https://dl.doubtnut.com/l/_woRjy8jwd7m5
https://dl.doubtnut.com/l/_ce1VlVhEFBSI
https://dl.doubtnut.com/l/_YFTye5H3Zv6J


B. 

C. 

D. 

Answer: B

Watch Video Solution

N2O

NO

N2O2

3. The correct order in which the O-O bond length increases in the

following is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O2 < O2 < O3

O2 < H2O2 < O3

O2 < O3 < H2O2

O3 < H2O2 < O2

https://dl.doubtnut.com/l/_YFTye5H3Zv6J
https://dl.doubtnut.com/l/_GuC11I5AqMFk


4. The bond order in  molecule is ________.

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

N2

5.  and  are converted into monoanions  and  respectively.

Which of the following statements in wrong ?

A. In , the N-N bond weakens

B. In , the O-O bond order increases

C. In  , bond length increases

N2 O2 N −
2 O−

2

N2

O2

O2

https://dl.doubtnut.com/l/_GuC11I5AqMFk
https://dl.doubtnut.com/l/_ftD5I4GxG5hE
https://dl.doubtnut.com/l/_ezw1sY3txVk2


D.  becomes diamagnetic

Answer: D

Watch Video Solution

N −
2

6. In  molecule, the angle between the two O-H planes is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2O2

90∘

101∘

103∘

105∘

https://dl.doubtnut.com/l/_ezw1sY3txVk2
https://dl.doubtnut.com/l/_ccIsT2f6wfQF


7. Which one of the following oxides is expected to exhibit paramagnetic

behaviour?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CO2

SO2

ClO2

SiO2

8. The number of unpaired electrons in a parmamagnetic diatomic

molecule of an element with atomic number  is :

A. 4

B. 1

C. 2

16

https://dl.doubtnut.com/l/_OSnEvouylEi4
https://dl.doubtnut.com/l/_P1HN62SEeW3x


D. 3

Answer: C

Watch Video Solution

9. Four diatomic species are listed below in different sequences. Which of

these represents the correct order of their increasing bond order?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C 2 −
2 < He2 +

< NO < O−
2

He+
2 < O−

2 < NO < C 2 −
2

O−
2 < NO < C 2 −

2 < He+
2

NO < C 2 −
2 < O−

2 < He+
2

https://dl.doubtnut.com/l/_P1HN62SEeW3x
https://dl.doubtnut.com/l/_AdCDkvo5uiew


10. According to MO theory which of thhe following lists makes the

nitrogen species in terms of increasing bond order?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N −
2 < N2 < N 2 −

2

N 2 −
2 < N −

2 < N2

N2 < N 2 −
2 < N −

2

N −
2 < N 2 −

2 < N2

11. Which of the following species does not exist under normal condition

?

A. 

B. 

C. 

Li2

Be+
2

Be2

https://dl.doubtnut.com/l/_aJpwYQyarDfR
https://dl.doubtnut.com/l/_zlpsM7Mskzm6


D. 

Answer: C

Watch Video Solution

B2

12. The pairs of species of oxygen and their magnetic behaviour are noted

below. Which of the following presents the correct description ?

A.  -Both paramagnetic

B. -Both paramagnetic

C. , Both diamagnetic

D. -Both paramagnetic

Answer: A

Watch Video Solution

O+
2 , O2

O, O2 −
2

O−
2 , O2 −

2

O+ , O2 −
2

https://dl.doubtnut.com/l/_zlpsM7Mskzm6
https://dl.doubtnut.com/l/_7H4NLuhuRqNj


13. Which of the following has the minimum bond length ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

O2

O+
2

O−
2

O2 −
2

14. During change of  to  ion, the electrons add on which of the

following orbitals ?

A.  orbitals

B.  orbitals

C.  orbitals

D.  orbitals

O2 O2 −
2

π ∗

π

σ ∗

σ

https://dl.doubtnut.com/l/_k9uGFPEmc2bM
https://dl.doubtnut.com/l/_IYjO745lAZDg


Answer: A

Watch Video Solution

15. The pair of species with the same bond order is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

O2 −
2 , B2

O+
2 , NO+

NO, CO

N2, O2

16. Decreasing order of stability of  and  is

A. 

O2, O−
2 , O+

2 O2 −
2

O+
2 > O2 > O−

2 > O2 −
2

https://dl.doubtnut.com/l/_IYjO745lAZDg
https://dl.doubtnut.com/l/_JpYc0UitOv5Y
https://dl.doubtnut.com/l/_ZYXiLa0mZkVO


B. 

C. 

D. 

Answer: A

Watch Video Solution

O2 −
2 > O−

2 > O2 > O+
2

O2 > O+
2 > O2 −

2 > O−
2

O−
2 > O2 −

2 > O+
2 > O2

17. Bond order is a concept in the molecular orbital theory. It depends on

the number of electrons in the bonding and antibonding orbitals. Which

of the following statements is true about ? The bond order

A. Can have a negative quantity

B. Has always an integral value

C. can assume any positive or integral or fractional value including

zero

D. Is a non zero quantity

https://dl.doubtnut.com/l/_ZYXiLa0mZkVO
https://dl.doubtnut.com/l/_xVLZEOeXufJe


Answer: C

Watch Video Solution

18. Bond length is maximum in

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

O2

O− 1
2

O+ 1
2

O− 2
2

19. Which of the following species have maximum number of unpaired

electrons ?

https://dl.doubtnut.com/l/_xVLZEOeXufJe
https://dl.doubtnut.com/l/_qVteU9bZj6Tv
https://dl.doubtnut.com/l/_P9Aqzi8zwuL7


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

O2

O+
2

O−
2

O2 −
2

20. Which of the following is not paramagnetic ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

S − 2

N −
2

O−
2

NO

https://dl.doubtnut.com/l/_P9Aqzi8zwuL7
https://dl.doubtnut.com/l/_2z5I0Ws4mv8E


21. Which of the following molecule has highest bond energy ?

A. F-F

B. C-C

C. N-N

D. O-O

Answer: C

Watch Video Solution

22. Molecular orbital theory was developed mainly by

A. pauling

B. pauling and slater

C. mulliken

https://dl.doubtnut.com/l/_2z5I0Ws4mv8E
https://dl.doubtnut.com/l/_KhIbKt3N35QJ
https://dl.doubtnut.com/l/_BpGKKEdf4Gpa


D. Thomson

Answer: C

Watch Video Solution

23. The paramagnetic nature of oxygen molecules is best explained on

the basis of

A. Valence bond thoery

B. Resonance

C. Molecular orbital theory

D. Hybridization

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BpGKKEdf4Gpa
https://dl.doubtnut.com/l/_dI8TGV6cI0nK


24. The increassing order of bond order of and O_(2)^(--)` is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

O2, O+
2 , O−

2

O−
2 , O−

2 , O+
2 , O2

O+
2 , O2, O−

2 , O− −
2

O2, O+
2 , O−

2 , O− −
2

O− −
2 , O−

2 , O2, O+
2

25. Which of the following complexes is paramagnetic

A. Chlorine

B. Nitrogen

C. Oxygen

D. Hydrogen

https://dl.doubtnut.com/l/_HmZmhVKSR2Cu
https://dl.doubtnut.com/l/_wBvJ4E6JStdM


Answer: C

Watch Video Solution

26. Which has the highest bond energy?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F2

Cl2

Br2

I2

27. Which of the following is correct for  triple bond

A. 3s

N2

https://dl.doubtnut.com/l/_wBvJ4E6JStdM
https://dl.doubtnut.com/l/_znfweBARbzYg
https://dl.doubtnut.com/l/_1jv1qq44B3Kl


B. 1p,2s

C. 2p,1s

D. 3p

Answer: C

Watch Video Solution

28. The bond order in  is the same as in :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

O+
2

N +
2

CN −

CO

NO+

https://dl.doubtnut.com/l/_1jv1qq44B3Kl
https://dl.doubtnut.com/l/_VuCVuDsNhmUb
https://dl.doubtnut.com/l/_ppJVcDRusrvz


29. Which of the following does not exist on the basis of molecule orbital

theory ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H +
2

He+
2

He2

Li2

30. Bond energies in  and  are such as

A. 

B. 

C. 

D. 

NO, NO+ NO−

NO− > NO > NO+

NO > NO− > NO+

NO+ > NO > NO−

NO+ > NO− > NO

https://dl.doubtnut.com/l/_ppJVcDRusrvz
https://dl.doubtnut.com/l/_ZydfCjGebRL8


Answer: C

Watch Video Solution

31. The bond order in  ion is __________.

A. 1

B. 2

C. 2.5

D. 3

Answer: C

Watch Video Solution

N +
2

32. The paramagnetic property of the oxygen molecule is due to the

presence of unpiared electrons present in .

https://dl.doubtnut.com/l/_ZydfCjGebRL8
https://dl.doubtnut.com/l/_CrNIKhN1Y6LP
https://dl.doubtnut.com/l/_VHzc0Ea7Yv6f


A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

(σ2px)1 (σ ∗ 2px)1

(σ2px)1 (π2py)
1

(π ∗ 2py)
1

(π ∗ 2pz)1

(π ∗ 2py)
1

(π2py)
1

33. The paramagnetism of  is due to the presence of an odd electron

in the MO

A. 

B. 

C. 

D. 

Answer: D

O+
2

σ ∗ 2s

π2py

π2pz

π ∗ 2py

https://dl.doubtnut.com/l/_VHzc0Ea7Yv6f
https://dl.doubtnut.com/l/_IuGvQhbeezNx


Watch Video Solution

34. Arrange the following ions in the order of decreasing  bond

length where X is the central atom:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

X − O

ClO
−
4 , SO2 −

4 , PO3 −
4 , SiO4 −

4

SiO
4 −
4 , PO3 −

4 , SO2 −
4 , ClO4 −

4

SiO
4 −
4 , PO3 −

4 , ClO−
4 , SO2 −

4

SiO
4 −
4 , SO2 −

4 , PO3 −
4 , ClO−

4

35. Which of the following species is/are paramagnetic 

A.  only

Fe2 + , Zn0, Hg2 + , Ti4 +

Fe2 +

https://dl.doubtnut.com/l/_IuGvQhbeezNx
https://dl.doubtnut.com/l/_DmJsviwpsnLE
https://dl.doubtnut.com/l/_6EZIpmm1IMo8


B.  and 

C.  and 

D.  and 

Answer: A

View Text Solution

Zn0 Ti4 +

Fe2 + Hg2 +

Zn0 Hg2 +

36. Which one of the following is not correct with respect to bond length

of the species?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C2 > C 2 −
2

B+
2 > B2

Li2 +

> Li2

O2 > O−
2

https://dl.doubtnut.com/l/_6EZIpmm1IMo8
https://dl.doubtnut.com/l/_S2L7OVdDPVy0


37. The following species is repelled by a magnetic field

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

O2

H2O

CrO2

Fe3O4

38. Which of the following has the shortest bond length

A. C-H

B. C-N

C. C-O

D. C-C

https://dl.doubtnut.com/l/_S2L7OVdDPVy0
https://dl.doubtnut.com/l/_d6SkGvj7Agux
https://dl.doubtnut.com/l/_lfcLlmR9ZNy6


Answer: A

Watch Video Solution

39. Which one of the following is the correct statement

A.  molecule has bond order 2 and is diamagnetic

B.  molecule has bond order 3 and is paramagnetic

C.  molecule has bond order zero and is diamagnetic

D.  molecules has bond order 2 and is diamagnetic

Answer: D

Watch Video Solution

O2

N2

H2

C2

40. Which one of the following is paramagnetic

A. H2O

https://dl.doubtnut.com/l/_lfcLlmR9ZNy6
https://dl.doubtnut.com/l/_nKiMVys6cXDY
https://dl.doubtnut.com/l/_4ZTZ6artKYR0


B. 

C. 

D. 

Answer: B

Watch Video Solution

NO2

SO2

CO2

41. If  is the number of bonding orbitals of an atom and  is the

number of antibonding orbitals, then the molecule/atom will be stable if

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Nx Ny

Nx > Ny

Nx = Ny

Nx < Ny

Nx ≤ Ny

https://dl.doubtnut.com/l/_4ZTZ6artKYR0
https://dl.doubtnut.com/l/_PXOzgvolbags


42. Which one does not exhibit paramagnetism

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ClO2

ClO−
2

NO2

NO

43. The bond order of  and  are _________ respectively.

A. 2

B. 1.5

C. 3

D. 3.5

O2 O+
2

https://dl.doubtnut.com/l/_PXOzgvolbags
https://dl.doubtnut.com/l/_fEfaKiqSBAxP
https://dl.doubtnut.com/l/_oBS9e3uQpLRd


Answer: A

Watch Video Solution

44. Which of the following is paramagnetic

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2

C2

N +
2

O2 −
2

45. Isoelectronic species are

A. K + , Cl−

https://dl.doubtnut.com/l/_oBS9e3uQpLRd
https://dl.doubtnut.com/l/_cVJ6x9vD2pC4
https://dl.doubtnut.com/l/_L0nCGMkHE1mw


B. 

C. Na,Ar

D. 

Answer: A

Watch Video Solution

Na+ , Cl−

Na+ , Ar

46. Which of the following is isoelectronic with carbon?

A.  and 

B.  and O

C. Ne and O

D.  and 

Answer: A

Watch Video Solution

Na+ Ne

K +

Na+ K +

https://dl.doubtnut.com/l/_L0nCGMkHE1mw
https://dl.doubtnut.com/l/_ygc9oDGxo0xe
https://dl.doubtnut.com/l/_sps2dQF6WOUC


47. Bond order increases in which of the given transitions ?

A. Energy and bond length increases

B. Energy increases, bond length decreases

C. Energy decreases, bond length increases

D. Both decreases

Answer: B

Watch Video Solution

48. Bond order of N-O bonds in nitrate ion is

A. 0.33

B. 1

C. 1.33

D. 1.5

https://dl.doubtnut.com/l/_sps2dQF6WOUC
https://dl.doubtnut.com/l/_TJCluRCFlvPd


Answer: C

Watch Video Solution

49. Cl-O bond order in perchlorate ion is

A. 1.33

B. 1.5

C. 1.75

D. 1.9

Answer: C

Watch Video Solution

50. In which of the following pairs, the two molecules have identical bond

orders :

https://dl.doubtnut.com/l/_TJCluRCFlvPd
https://dl.doubtnut.com/l/_wOY3naDPVB6j
https://dl.doubtnut.com/l/_ceX9sU2fj5Yx


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N2, O2 +
2

N2, O−
2

N −
2 , O2

O+
2 , N2

51. The bond order is of three for

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N +
2

O2 +
2

N2

NO+

https://dl.doubtnut.com/l/_ceX9sU2fj5Yx
https://dl.doubtnut.com/l/_rm5FeUVr6E6w


52. Identify the paramagnetic substance

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

B2

C2

N2

F2

53. The bond order in  is

A. 2

B. 2.5

C. 1.5

O+
2

https://dl.doubtnut.com/l/_rm5FeUVr6E6w
https://dl.doubtnut.com/l/_XPyUFXZ39lWg
https://dl.doubtnut.com/l/_yVrFiOsv6BwQ


D. 3

Answer: B

View Text Solution

54. Paramagnetism is exhibited by molecules which

A. Not attracted into a magnetic field

B. Containing only paired electrons

C. Carrying a positive charge

D. Containing unpaired electrons

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yVrFiOsv6BwQ
https://dl.doubtnut.com/l/_iMx1pRuNekxg


55. Which of the following pairs of molecules have bond order three and

are isoelectronic?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CN − , CO

NO+ , CO+

CN − , O+
2

CO, O+
2

56. Which of the following is paramagnetic ?

A. 

B. 

C. 

D. 

O+
2

CN −

CO

N2

https://dl.doubtnut.com/l/_BCzCTk0Fn6K5
https://dl.doubtnut.com/l/_k8OFedVWaWXD


Answer: A

Watch Video Solution

57. How many bonding electron pairs are there in white phosphorus ?

A. 6

B. 12

C. 4

D. 8

Answer: A

Watch Video Solution

58. The total number of electrons that take part in forming the bond in

 is .N2

https://dl.doubtnut.com/l/_k8OFedVWaWXD
https://dl.doubtnut.com/l/_9tt2LiDyTTsv
https://dl.doubtnut.com/l/_1QlytgyQu46E


A. 2

B. 4

C. 6

D. 10

Answer: C

Watch Video Solution

59. When two atoms combine to form a molecule .

A. One molecular orbital

B. Two molecular orbital

C. Three molecular orbital

D. Four molecular orbital

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1QlytgyQu46E
https://dl.doubtnut.com/l/_G3gcDFToWCa5


60. Identify the least stable ion amongst the following:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Be−

Li−

B−

C −

61. Using  theory predict which of the following sepcies has the

shortest bond length ?

A. 

B. 

C. 

MO

O2 +
2

O+
2

O−
2

https://dl.doubtnut.com/l/_G3gcDFToWCa5
https://dl.doubtnut.com/l/_VUmaNutfgNbb
https://dl.doubtnut.com/l/_hHJCJJPnmvom


D. 

Answer: A

Watch Video Solution

O2 −
2

62. Which one of the following groupings represents a collection of

isoelectronic species ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na+ , Ca2 + , Mg2 +

N 3 − , F − , Na+

Be, Al3 + , Cl−

Ca2 + , Cs+ , Br

https://dl.doubtnut.com/l/_hHJCJJPnmvom
https://dl.doubtnut.com/l/_2usPGA3JPocb


63. The bond order in NO is 2.5 while that in  is 3. Which of the

following statements is true for these two species ?

A. Bond length in  is equal to that in NO

B. Bond length in NO is greater than in 

C. Bond length in  is greater than in NO

D. Bond legnth is unpredictable

Answer: B

Watch Video Solution

NO+

NO+

NO+

NO+

64. Which one of the following sepcies is diamagnetic in nature ?

A. 

B. 

C. 

D. 

He+
2

H2

H +
2

H −
2

https://dl.doubtnut.com/l/_zjIyAYnC57ss
https://dl.doubtnut.com/l/_vJnr6WP5DAan


Answer: B

Watch Video Solution

65. Which of the following molecules/ins does not contain unpaired

electrons?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

O2 −
2

B2

N +
2

O2

66. Which of the following sets of ions represents a collection of

isoelectronic species ?

https://dl.doubtnut.com/l/_vJnr6WP5DAan
https://dl.doubtnut.com/l/_nWC25Az9bgdW
https://dl.doubtnut.com/l/_vp8GRXe6cwc1


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K + , Cl− , Ca2 + , Sc3 +

Ba2 + , Sr2 + , K + , Ca2 +

N 3 − , O2 − , F − , S2 −

Li+ , Na+ , Mg2 + , Ca2 +

67. In which of the following ionixation processes , the bond order has

increased and the magnetic behaviour has changed ?

A. 

B. 

C. 

D. 

Answer: B

C2 → C +
2

NO → NO+

O2 → O+
2

N2 → N +
2

https://dl.doubtnut.com/l/_vp8GRXe6cwc1
https://dl.doubtnut.com/l/_s0MQ4zWIau5f


Watch Video Solution

68. Which of the following pairs of species have the same bond order ?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

CN − CN +

O−
2 CN −

NO+ CN +

CN − NO+
2

69. Which one of the following constitutes a group of the isoelectronic

species

A. 

B. 

NO+ , C 2 −
2 , CN − , N2

CN − , N2, O2 −
2 , C 2 −

2

https://dl.doubtnut.com/l/_s0MQ4zWIau5f
https://dl.doubtnut.com/l/_N9E5ymiobTqy
https://dl.doubtnut.com/l/_cXN4CmjDe73Y


C. 

D. 

Answer: A

Watch Video Solution

N2, O−
2 , NO+ , CO

C 2 −
2 , O−

2 , CO, NO

70. The number of antibonding electron pairs in  molecular ion on

the basic of molecular orbital theory is

A. 4

B. 3

C. 2

D. 5

Answer: A

Watch Video Solution

O2 −
2

https://dl.doubtnut.com/l/_cXN4CmjDe73Y
https://dl.doubtnut.com/l/_QzfwNgL2WdNl
https://dl.doubtnut.com/l/_4pOAgCdEpovI


71. The bond order in  ions is :

A. 1

B. 2

C. 

D. 

Answer: C

Watch Video Solution

He+
2

1

2

1

4

72. The bond order in  is-

A. 3

B. 2

C. 1

D. 

O22 −

1

2

https://dl.doubtnut.com/l/_4pOAgCdEpovI
https://dl.doubtnut.com/l/_7xzVreqgi1pD


Answer: C

Watch Video Solution

73. Which is false statement about LCAO

A. Addition of atomic orbitals result in molecular orbitals

B. Atomic orbitals of nearly same energy combine to form molecular

orbitals

C. Bonding molecular orbitals occupy higher energy than atomic

orbitals

D. Each molecular orbital accommodates maximum no. of two

electrons

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7xzVreqgi1pD
https://dl.doubtnut.com/l/_H1uX14H0fXNa
https://dl.doubtnut.com/l/_VotUxgtVqXxZ


74. The correct order of bond energy is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl2 > Br2 > F2 > I2

Cl2 > F2grBr2 > I2

I2 > Br2 > Cl2 > F2

I2 > Br2 > F2 > Cl2

75. Peroxide ion....... 

(i) Has five completely filled antibonding molecular orbitals 

(ii) Is diamagnetic 

(iii) Has bond order one 

(iv) Is isoelectric with neon 

Which one of these is correct

A. (iv) and (iii)

https://dl.doubtnut.com/l/_VotUxgtVqXxZ
https://dl.doubtnut.com/l/_FqnaLUTirw4o


B. (i),(ii) and (iv)

C. (i),(ii) and (iii)

D. None of these

Answer: D

View Text Solution

76. In  and  molecular species, the total number of

antibonding electrons respectively are

A. 7,6,8

B. 1,0,2

C. 6,6,6

D. 8,6,8

Answer: A

Watch Video Solution

O−
2 , O2 O− 2

2

https://dl.doubtnut.com/l/_FqnaLUTirw4o
https://dl.doubtnut.com/l/_IFlH4rDqxHEX


77.  accept electron and convert into , where this electron goes

A. Antibonding  molecules orbitals

B. Bonding  molecular orbital

C.  bonding molecular orbitals

D. -anti-bonding molecular orbital

Answer: A

Watch Video Solution

N2 N −
2

π

π

σ

σ

78. Which is the correct statement about  and  molecular orbitals?

Statements are 

(i)  bonding orbitals are ungerade 


 antibonding orbitals are ungerade 


(iii)  antibonding orbitals are gerade

σ π

π

π

σ

https://dl.doubtnut.com/l/_IFlH4rDqxHEX
https://dl.doubtnut.com/l/_uZ4arQP5xTNe
https://dl.doubtnut.com/l/_k7flHtzqWBwQ


A. (i) only

B. (ii) and (iii)

C. (iii) only

D. (ii) only

Answer: A

Watch Video Solution

79. In forming  and  the electrons respectively

removed from .

A. 

B. 

C.  and  or 

D. 

Answer: C

(i)N2 → N ⊕
2 O2 → O⊕

2

(π ∗ 2pyor π ∗ 2px)  and (π ∗ 2pyorπ ∗ 2px)

(π2pyor π2py)  and (π2pyor 2px)

(σ2pz) (π ∗ 2py) π ∗ 2px

(π ∗ 2pyor π ∗ 2px)  and (π2py  or π2px)

https://dl.doubtnut.com/l/_k7flHtzqWBwQ
https://dl.doubtnut.com/l/_8V3wU6FoYvfg


Watch Video Solution

80. Which of the following molecular orbitals has two nodal planes

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

σ2s

π2py

π ∗ 2py

σ ∗ 2px

81. The bnumber of nodal planes d orbital has

A. zero

B. one

C. two

https://dl.doubtnut.com/l/_8V3wU6FoYvfg
https://dl.doubtnut.com/l/_kdXVLUwBL0U7
https://dl.doubtnut.com/l/_YYVe87sTZrlt


D. three

Answer: C

Watch Video Solution

82. Which of the following has the highest bond energy?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N2

O2

He2

H2

83. The number of nodal planes present in a  antibonding orbital isσ ∗

https://dl.doubtnut.com/l/_YYVe87sTZrlt
https://dl.doubtnut.com/l/_E4Q2W2jCLoQ1
https://dl.doubtnut.com/l/_GA7JIrPzH5us


A. 0

B. 3

C. 1

D. 2

Answer: C

Watch Video Solution

84. The correct statement with regard to  and  is

A. Both  and  do not exist

B.  is more stable than 

C.  is more stable than 

D. Btoh  and  are equally stable

Answer: B

Watch Video Solution

H +
2 H −

2

H +
2 H −

2

H −
2 H +

2

H +
2 H −

2

H +
2 H −

2

https://dl.doubtnut.com/l/_GA7JIrPzH5us
https://dl.doubtnut.com/l/_p0ljWsXX5M9a


85. The bond order in ion is

A. 2

B. 1

C. 2.5

D. 1.5

Answer: D

Watch Video Solution

O−
2

86. The paramagnetic behaviour of  is due to the presence of

A. 2 unpaired electrons in 

B. pi^(**) MO`

C. 2 unpaired electrons in 

B2

πnMO

2unpairede ≤ ctrons ∈

σ ∗MO

https://dl.doubtnut.com/l/_p0ljWsXX5M9a
https://dl.doubtnut.com/l/_Z60YHyHVNzSH
https://dl.doubtnut.com/l/_EpDSweiRh8M7


D. 2 unpaired electrons in 

Answer: A

Watch Video Solution

σbMO

87. In the process,  +e the electron lost is from

A. Bonding - orbital

B. Antiboonding -orbital

C.  orbital

D.  orbital

Answer: B

Watch Video Solution

O+
2 → O+ 2

2

π

π

2pz

2px

88. Bond order and magnetic moment of  isCO+

https://dl.doubtnut.com/l/_EpDSweiRh8M7
https://dl.doubtnut.com/l/_QzWu3UHgsLJK
https://dl.doubtnut.com/l/_DFQTXx8GiB27


A. 2.5 and paramagnetic moment

B. 3.5 and diamagnetic moment

C. 3.5 and paramagnetic moment

D. 2.5 and diamagnetic moment

Answer: C

Watch Video Solution

89. During change of , the electron is added to

A. -orbital

B. -orbital

C.  orbitals

D.  orbital

Answer: D

Watch Video Solution

NO+ → NO

σ

π

σ ∗

π ∗

https://dl.doubtnut.com/l/_DFQTXx8GiB27
https://dl.doubtnut.com/l/_RKGmelLpEiFo


90. Which of the following species is expected to be paramagnetic ?

A. Copper crystals

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu+

Cu+ +

H2

91. From elementary molecular orbital theory we can deduce the

electronic configuration of the singly positive nitrogen molecular ion 

as

A. 

B. 

N +
2

σ(1s)2
σ ∗ (1s)2

σ(2s)2
σ ∗ (2s)2

π(2p)4
σ(2p)1

σ(1s)2
σ ∗ (1s)2

σ(2s)2
σ ∗ (2s)2

σ(2p)1
π(2p)3

https://dl.doubtnut.com/l/_RKGmelLpEiFo
https://dl.doubtnut.com/l/_GguKLCvNhRfm
https://dl.doubtnut.com/l/_JrFy5gRlGROu


C. 

D. 

Answer: A

Watch Video Solution

σ(1s)2
σ ∗ (1s)2

σ(2s)2
σ ∗ (2p)2

π(2p)4

σ(1s)2
σ ∗ (1s)2

σ(2s)2
σ ∗ (2s)2

σ(2p)2
π(2p)2

92. Which of the following pairs of ions are isoelectronic and

isostructural?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ClO−
3 , SO2 −

3

CO2 −
3 , NO−

3

ClO−
3 , CO2 −

3

SO2 −
3 , CO2 −

3

https://dl.doubtnut.com/l/_JrFy5gRlGROu
https://dl.doubtnut.com/l/_6YE2KQgCw7SP
https://dl.doubtnut.com/l/_drQUCS6jIRJm


93. With increasing bond order, strength of a bond

A. Remain unaltered

B. Decreases

C. Increases

D. None of these

Answer: C

View Text Solution

94. Which of the following is diamagnetic

A. Oxygen molecule

B. Boron molecule

C. 

D. None

N +
2

https://dl.doubtnut.com/l/_drQUCS6jIRJm
https://dl.doubtnut.com/l/_aOrAUA4wzNEz


Answer: D

Watch Video Solution

95. Which of the following is correctly based on molecular orbital theory

for peroxide ion?

A. Its bond order is two and it is diamagnetic

B. Its bond order is one and it is paramagnetic

C. Its bond order is two and it is paramagnetic

D. Its bond order is one and it is diamagnetic

Answer: D

Watch Video Solution

96. The bond order of a molecule is given by __________.

https://dl.doubtnut.com/l/_aOrAUA4wzNEz
https://dl.doubtnut.com/l/_JXDXlMKJ9RDj
https://dl.doubtnut.com/l/_bNYDMOBonmav


A. The difference between the number of electrons in bonding and

antibonding orbitals

B. Total number of electrons in bonding and antibonding orbitals

C. Twice the difference between the number of electrons in bonding

and antibonding electrons

D. Half the difference between the number of electrons in bonding

and antibonding electrons

Answer: D

Watch Video Solution

97. The molecular electronic configuration of  ion is

A. 

B. 

C. 

H −
2

(σ1s)2

(σ1s)2(σ ∗ 1s)2

(σ1s)2(σ ∗ 1s)1

https://dl.doubtnut.com/l/_bNYDMOBonmav
https://dl.doubtnut.com/l/_4IeJgiN0pyDc


D. 

Answer: C

Watch Video Solution

(σ1s)3

98. Which one is paramagnetic and has the bond order 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1/2

O2

N2

F2

H +
2

99. Of the following statements, which one is correct

https://dl.doubtnut.com/l/_4IeJgiN0pyDc
https://dl.doubtnut.com/l/_mkVqwPJAHYdx
https://dl.doubtnut.com/l/_QCYPdBogkC3L


A. Oxygen and nitric oxide molecules are both paramagnetic because

both contain unpaired electrons

B. Oxygen and nitric oxide molecules are both diamagnetic because

both contain no unpaired electrons

C. Oxygen is paramagnetic because it contains unpaired electrons,

while nitric oxide is diamagnetic because it contains no unpaired

electrons

D. Oxygen is diamagnetic because it contains no unpaired electrons,

while nitric oxide is paramagnetic because it contains an unpaired

electron

Answer: A

Watch Video Solution

100. The difference in energy between the molecule orbital formed and

the combining atomic orbitals is called

https://dl.doubtnut.com/l/_QCYPdBogkC3L
https://dl.doubtnut.com/l/_GwRQHXmrMBdu


A. Bond energy

B. Activation energy

C. Stabilization energy

D. Destabilization energy

Answer: C

Watch Video Solution

101. Assertion: Nitrogen molecule is diamagnetic. 

Reason:  molecule have unpaired electrons.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

N2

https://dl.doubtnut.com/l/_GwRQHXmrMBdu
https://dl.doubtnut.com/l/_pGDucx4z3Uzg


D. if the assertion and reason both are false

Answer: C

Watch Video Solution

102. Assertion: Bond energy has order like . 


Reason: Bond energy increases with increase in bond order.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: A

Watch Video Solution

C − C < C = C < C ≡ C

https://dl.doubtnut.com/l/_pGDucx4z3Uzg
https://dl.doubtnut.com/l/_5buOQZ01l8Ep


103. Assertion: The bond order of helium molecule is always zero. 

Reason: The number of electrons in bonding molecular orbital and

antibonding molecular orbital is equal.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: A

Watch Video Solution

104. Assertion(A) - Fluorine molecule has bond order one. 

Reason(R)-The number of electrons in antibonding molecular orbital is

https://dl.doubtnut.com/l/_5buOQZ01l8Ep
https://dl.doubtnut.com/l/_1hmFzj05mGaH
https://dl.doubtnut.com/l/_c8LftNyUI150


two less than that of bonding molecular orbitals.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: A

Watch Video Solution

105. Assertion  molecule is diamagnetic 


Reasoning The highest occupied molecular orbital is of sigma type .

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B2

https://dl.doubtnut.com/l/_c8LftNyUI150
https://dl.doubtnut.com/l/_1znTofcmWm44


B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: D

Watch Video Solution

106. Which of the following pairs of species have the same bond order

A. 

B. 

C. 

D. CO,NO

Answer: B

Watch Video Solution

O2, NO+

CN − , CO

N2, O−
2

https://dl.doubtnut.com/l/_1znTofcmWm44
https://dl.doubtnut.com/l/_ee9ku8D2R71m


Ordinary thinking (Hydrogen bonding )

107. Consider the following species 

CN`. 


Which one of these will hqave the highest bond order ?

A. NO

B. 

C. 

D. CN

Answer: B

Watch Video Solution

CN − , CN − , NO and

CN −

CN +

1. In which of the following compounds does hydrogen bonding occur

https://dl.doubtnut.com/l/_ee9ku8D2R71m
https://dl.doubtnut.com/l/_LBWXA6AMMFsD
https://dl.doubtnut.com/l/_KBfkrNBj72iF


A. 

B. LiH

C. Hl

D. 

Answer: D

Watch Video Solution

SiH4

NH3

2. The high density of water compared to ice is due to

A. Hydrogen bonding interaction

B. Dipole- dipole interactions

C. Dipole-induced dipole interactions

D. Induced dipole-induced dipole interactions

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KBfkrNBj72iF
https://dl.doubtnut.com/l/_hllKGoPGCViH


3. What is the dominant intermolecular forces or bond that must be

overcome in converting liquid  to gas ?

A. Hydrogen bonding

B. Dipole-dipole interaction

C. Covalent bonds

D. London dispersion force

Answer: A

Watch Video Solution

CH3OH

4. The variation of the boiling points of the hydrogen halides is in the

order . 

What explains the higher boiling point of hydrogen fluoride?

HF > HI > HBr > HCl

https://dl.doubtnut.com/l/_hllKGoPGCViH
https://dl.doubtnut.com/l/_OX4e9Acdkvmf
https://dl.doubtnut.com/l/_B2X0E1wvhKC1


A. The electronegativity of fluorine is much higher than for other

elements in the group

B. There is strong hydrogen bonding between HF molecules

C. The bond energy of HF molecules is greater than in other hydrogen

halides

D. The effect of nuclear shielding is much reduced in fluorine which

polarises the HF molecule

Answer: B

Watch Video Solution

5. Which of the following explanations accounts for o-nitro-phenol to be

more volatile than p-nitrophenol?

A. Resonance

B. Hyperconjugation

https://dl.doubtnut.com/l/_B2X0E1wvhKC1
https://dl.doubtnut.com/l/_mTL2NTE4zJHw


C. Hydrogen bonding

D. Steric hindrence

Answer: C

Watch Video Solution

6. Hydrogen bonding is not present in

A. Glycerine

B. Water

C. Hydrogen sulphide

D. Hydrogen fluoride

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mTL2NTE4zJHw
https://dl.doubtnut.com/l/_ud586l8ELdRF


7. H-bonding is maximum in

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H5OH

C6H5COOH

CH3CH2OH

CH3COCH3

8. Acetic acids exists in dimer state in benzene due to

A. Condensation reaction

B. Hydrogen bonding

C. Presence of carboxyl group

D. Presence of hydrogen atom at -carbonα

https://dl.doubtnut.com/l/_WA7UvtV1Pe0M
https://dl.doubtnut.com/l/_keu0TH9qi5rF


Answer: B

Watch Video Solution

9. Ethanol and Methanol are miscible in water due to

A. Covalent character

B. Hydrogen bonding character

C. Oxygen bonding character

D. None of these

Answer: B

Watch Video Solution

10. Compounds showing hydrogen bonding among

 areHF , NH3, H2S and PH3

https://dl.doubtnut.com/l/_keu0TH9qi5rF
https://dl.doubtnut.com/l/_UwyZDJw0Skcz
https://dl.doubtnut.com/l/_qqiu7wsdZ9js


A. Only  and 

B. Only HF and 

C. only  and 

D. All the four

Answer: B

Watch Video Solution

HF , NH3 PH3

NH3

NH3, H2S PH3

11. Water has high heat of vaporisation due to ?

A. Covalent bonding

B. H-bonding

C. Ionic bonding

D. None of the above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_qqiu7wsdZ9js
https://dl.doubtnut.com/l/_N1avPlHtrcGU


12. Intramolecular hydrogen bond is present in

A. Water

B. o-nitrophenol

C. p-nitrophenol

D. methylamine

Answer: B

Watch Video Solution

13. Strength of hydrogen bond is intermediate between

A. Vander waal and covalent

B. Ionic and covalent

C. Ionic and metallic

https://dl.doubtnut.com/l/_N1avPlHtrcGU
https://dl.doubtnut.com/l/_6o6FXVDCeCd3
https://dl.doubtnut.com/l/_sYOCxgvwsEsk


D. Metallic and covalent

Answer: A

Watch Video Solution

14. The boiling point of a compound is raised by _________.

A. Intramolecular hydrogen bonding

B. Intermolecular hydrogen bonding

C. covalent bonding

D. Ionic covalent

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_sYOCxgvwsEsk
https://dl.doubtnut.com/l/_PPQ01xfcaWJX


15. Contrary to other hydrogen halides, hydrogen fluoride is liquid

because

A. Size of F atom is small

B. HF is a weak acid

C. HF molecules are hydrogen bonded

D. Fluorine is highly reactive

Answer: C

Watch Video Solution

16. HCI is a gas where/ as HF is a low boiling point liquid because :

A. H-F bond is strong

B. H-F bonding is weak

C. Molecules aggregate because of hydrogen bonding

D. HF is weak acid

https://dl.doubtnut.com/l/_3R9XMuWzEQ7Z
https://dl.doubtnut.com/l/_Jn6HDTBhZJAq


Answer: C

Watch Video Solution

17. The reason for exceptionally high boiling point of water is

A. Its high specific heat

B. Its high dielectric constant

C. Low ionization of water molecules

D. Hydrogen bonding in the molecules of water

Answer: D

Watch Video Solution

18. which of the following hydrogen bond is strongest in vapour phase ?

A. HF---HF

https://dl.doubtnut.com/l/_Jn6HDTBhZJAq
https://dl.doubtnut.com/l/_P0PwfQ6ohDoi
https://dl.doubtnut.com/l/_gK0VakA4Hffw


B. HF---HCl

C. HCl---HCl

D. HF---HI

Answer: A

Watch Video Solution

19. How many hydrogen-bonded water molecule(s) are associated in

?

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

CuSO4.5H2O

https://dl.doubtnut.com/l/_gK0VakA4Hffw
https://dl.doubtnut.com/l/_8m8gqJnLYIuN


20. The hydrogen bonds are encountered in  and .

The relative order of energies of hydrogen bonds is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HF , H2O, NH3 HF −
2

HF > H2O > H3N > HF −
2

H2O > HF −
2 > HF > NH3

HF > HF −
2 > H2O > NH3

HF −
2 > HF > H2O > NH3

21. Which of the following is sparingly soluble in water ?

A. 2,6 dihydrobenzoic acid

B. p-nitrophenol

C. o-nitrophenol

https://dl.doubtnut.com/l/_8m8gqJnLYIuN
https://dl.doubtnut.com/l/_ioRvAc8UfDg9
https://dl.doubtnut.com/l/_zZJmLzQ7zR7h


D. Ethanoic acid

Answer: C

Watch Video Solution

22. Which among the following compounds does not show hydrogen

bonding ?

A. Chlorofom

B. Ethyl alcohol

C. Acetic acid

D. Ethyl ether

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_zZJmLzQ7zR7h
https://dl.doubtnut.com/l/_ioUbPerPJZgZ


23. The boiling point of ethanol is higher as compared to the boiling of

diethyl ether though both have the same molecular formula. This is due

to 

A. Hydrogen bonding

B. Ionic bonding

C. Coordinating covalent bonding

D. Resonance

Answer: A

Watch Video Solution

,

24. Which of the following compounds in liquid state does not have

hydrogen bonding

A. 

B. 

H2O

HF

https://dl.doubtnut.com/l/_p314I6pWuEfO
https://dl.doubtnut.com/l/_qcteT4u2ZIYK


C. 

D. 

Answer: D

Watch Video Solution

NH3

C6H6

25. Which of the following compound can form hydrogen bonds

A. 

B. NaCl

C. 

D. 

Answer: D

Watch Video Solution

CH4

CHCl3

H2O

https://dl.doubtnut.com/l/_qcteT4u2ZIYK
https://dl.doubtnut.com/l/_v57whL2IDtTk


26. In which of the following compounds intramolecular hydrogen bond is

present

A. Ethyl alcohol

B. Water

C. Salicyladehyde

D. Hydrogen sulphide

Answer: C

Watch Video Solution

27. Hydrogne bonding is formed in compounds containing hydrogen and

_________.

A. Highly electronegative atoms

B. Highly electropositive atoms

C. Metal atoms with d-orbitals occupied

https://dl.doubtnut.com/l/_A3fKNngAH4SA
https://dl.doubtnut.com/l/_vlTNFtMZStne


D. Metalloids

Answer: A

Watch Video Solution

28. which one has the highest bp

A. Acetone

B. Ethyle alcohol

C. Diethyl ether

D. Chloroform

Answer: B

Watch Video Solution

29.  is a liquid while  is a gas.H2O H2S

https://dl.doubtnut.com/l/_vlTNFtMZStne
https://dl.doubtnut.com/l/_qbWk33pPfHO0
https://dl.doubtnut.com/l/_SggTs4K1jtpI


A. Covalent bonding

B. Molecular attraction

C. H-bonding

D. H-bonding and molecular attraction

Answer: C

Watch Video Solution

30.  has a much higher bp than  because

A.  has a larger molecular weight

B.  undergoes umbrella inversion

C.  forms hydrogen bond

D.  contains ionic bonds wheras  contains covalent bonds

Answer: C

Watch Video Solution

NH3 PH3

NH3

NH3

NH3

NH3 PH3

https://dl.doubtnut.com/l/_SggTs4K1jtpI
https://dl.doubtnut.com/l/_A18lGLKXytv0


31. Hydrogen bond energy is equal to

A. 3-7 cals

B. 30-70 cals

C. 3-10 cals

D. 30-70 cals

Answer: C

Watch Video Solution

32. Which of the following has minimum PH.

A. CsF

B. HCl

C. HF

https://dl.doubtnut.com/l/_A18lGLKXytv0
https://dl.doubtnut.com/l/_jlXy3zERSSeA
https://dl.doubtnut.com/l/_Blrnj1Hsmtjc


D. LiF

Answer: B

Watch Video Solution

33. Which of the following compound has the highest boiling point

A. HCl

B. HBr

C. 

D. 

Answer: C

Watch Video Solution

H2SO4

HNO3

https://dl.doubtnut.com/l/_Blrnj1Hsmtjc
https://dl.doubtnut.com/l/_1q57ydSVq8KW


34. Which one of the following compounds shows the presence of

intramolecular hydrogen bond?

A. Concentrated acetic acid

B. 

C. HCN

D. Cellulose

Answer: D

Watch Video Solution

H2O2

35. When two ice cubes are pressed over each other, they unite to form

one cube. Which of the following forces is responsible to hold them

together ?

A. Vander waal,s forces

B. Hydrogen bond formation

https://dl.doubtnut.com/l/_bJLBES1tr2AX
https://dl.doubtnut.com/l/_i4JY4HHde55P


C. Covalent attraction

D. Dipole-dipole attraction

Answer: B

Watch Video Solution

36. B.P of and  is explained by

A. Vander waal's forces

B. covalent bond is weaker than ionic bond

C. Hydrogen bond

D. Ionic bond

Answer: C

Watch Video Solution

H2O(100∘C) H2S( ≡ 42∘C)

https://dl.doubtnut.com/l/_i4JY4HHde55P
https://dl.doubtnut.com/l/_kg9Iu78UCilu


37. Assertion : Boiling point of p-nitrophenol is greater than that of o-

nitrophenol. 

Reason : There is intramolecular hydrogen bonding in p-nitrophenol and

intermolecular hydrogen bonding in o-nitrophenol.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if assertion is false but reason in true.

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_I6w4ri5qw3MP


38. Assertion : Ice is less dense than liquid water. 

Reason: There are vacant spaces between hydrogen bonded water

molecules in ice.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: A

Watch Video Solution

39. Assertion: and -nitrophenol can be separated by steam

distillation. 

o − p

https://dl.doubtnut.com/l/_L5uwPT0mdzwe
https://dl.doubtnut.com/l/_QJIDTS6WJstI


Reason: nitrophenols have intramolecular hydorgen bonding while -

nitrophenols exists as associated molecules.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: A

Watch Video Solution

o − p

40. Assertion : The nearly tetrahedral arrangement of the orbitals about

the oxygen atom allows each water molecules to form hydrogen bonds

with as many as four neighbouring water molecules. 

https://dl.doubtnut.com/l/_QJIDTS6WJstI
https://dl.doubtnut.com/l/_mfbZNvnkhT6S


Ordinary thinking (Types of bonding and force in solid )

Reason: In ice each molecule forms four hydrogen bonds as each

molecule is fixed in the space.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: A

Watch Video Solution

1. Which of the following does not apply to metallic bond ?

https://dl.doubtnut.com/l/_mfbZNvnkhT6S
https://dl.doubtnut.com/l/_U0yPpQIPKWnp


A. Overlaping valency orbitals

B. Mobile valency electrons

C. Delocalized electrons

D. Highly directed bonds

Answer: D

Watch Video Solution

2. Which of the following exhibits the weakest intermolecular forces?

A. He

B. HCl

C. 

D. 

Answer: A

Watch Video Solution

NH3

H2O

https://dl.doubtnut.com/l/_U0yPpQIPKWnp
https://dl.doubtnut.com/l/_8lEOcdqKDDh4


3. Which of the following is the correct electronic formula of chlorine

molecule

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

. .

:Cl:
. .

. .

Cl:
. .

. .

:Cl− :
. .

:
. .

Cl+ :
. .

. .

:Cl:
. .

Cl:

. .

:Cl:
. .

:Cl:

4. In melting lattice, structure of solid

A. Remain unchanged

B. Change

C. becomes compact

https://dl.doubtnut.com/l/_8lEOcdqKDDh4
https://dl.doubtnut.com/l/_u8JunpQiKizT
https://dl.doubtnut.com/l/_udJoxBAnD12C


D. None of the above

Answer: B

Watch Video Solution

5. Which of the following statement is true about 

A. It has coordinate and covalent bonds

B. It has only coordinate bonds

C. It has only electrovalent bonds

D. IT has electrovalent , covalent and coordinate bonds

Answer: D

Watch Video Solution

[Cu(NH3)4]SO4

6. Which of the following has the highest mp

https://dl.doubtnut.com/l/_udJoxBAnD12C
https://dl.doubtnut.com/l/_FfVux72Xdsv4
https://dl.doubtnut.com/l/_WK5HMeRgYomW


A. Pb

B. Diamond

C. Fe

D. Na

Answer: B

Watch Video Solution

7. Among the following the weakest one is

A. Metallic bond

B. Ionic bond

C. Van der waal's force

D. Covalent bond

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_WK5HMeRgYomW
https://dl.doubtnut.com/l/_X1rK6ReqxZgw


8. In the formation of a molecule by an atom ?

A. Attractive forces operate

B. Repulsive forces operates

C. Both attractive and repulsive forces operate

D. None of these

Answer: C

Watch Video Solution

9. Lattice energy of alkali metal chlorides follows the order

A. 

B. 

C. 

LiCl > NaCl > KCl > RbCl > CsCl

CsCl > NaCl > KCl > RbCl > LiCl

LiCl > CsCl > NaCl > KCl > RbCl

https://dl.doubtnut.com/l/_X1rK6ReqxZgw
https://dl.doubtnut.com/l/_jZNxYmwfWt6g
https://dl.doubtnut.com/l/_LrW0L5OpEP9t


D. 

Answer: A

Watch Video Solution

NaCl > LiCl > KCl > RbCl > CsCl

10. In the following metals which one has lowest probable inter-atomic

forces ?

A. Copper

B. Silver

C. Zinc

D. Mercury

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LrW0L5OpEP9t
https://dl.doubtnut.com/l/_agsMk79tNhAR


11. The number of ionic, convalent and coordinate bonds in  are

respectively

A. 1,3 and 1

B. 1,3 and 2

C. 1,2 and 3

D. 1,1 and 3

Answer: A

Watch Video Solution

NH4CI

12. In dry ice , there are :

A. only covalent bond

B. only ionic bond

C. only vander waal's force of attraction

D. covalent and vander waal's force of attraction

https://dl.doubtnut.com/l/_wLM7dUcCmA6H
https://dl.doubtnut.com/l/_M55v69j4TNwZ


Answer: D

Watch Video Solution

13. In solid argon , the atoms are held together by

A. Ionic bonds

B. Hydrogen bonds

C. Vander waal's forces

D. Hydrophobic forces

Answer: C

Watch Video Solution

14. Pure covalent molecules are ususlly held in a crystal structure by

A. Dipole-dipole attraction

https://dl.doubtnut.com/l/_M55v69j4TNwZ
https://dl.doubtnut.com/l/_nh0JGRYP7rGi
https://dl.doubtnut.com/l/_8EsoRgrA6oEM


B. Electrostatic attraction

C. Hydrogen bonds

D. Vander waal's attraction

Answer: D

Watch Video Solution

15. Which has the weakest bond

A. Diamond

B. Neon(solid)

C. KCl

D. Ice

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8EsoRgrA6oEM
https://dl.doubtnut.com/l/_2xc42eMbu8OS
https://dl.doubtnut.com/l/_mR10ytKj2W5M


16. Glycerol has strong intermolecular bonding therefore it is

A. Sweet

B. Reactive

C. Explosive

D. Viscous

Answer: B::D

Watch Video Solution

17. Which of the following statements is true

A. HF is less polar than HBr

B. Absolutely pure water does not contain any ions

C. Chemical bond formation take place when fores of attraction

overcome the force of repulsion

https://dl.doubtnut.com/l/_mR10ytKj2W5M
https://dl.doubtnut.com/l/_5cIoC21wWZoM


D. in covalency transference of electron takes place

Answer: C

Watch Video Solution

18. Both ionic and covalent bond is present in the following

A. 

B. 

C. 

D. NaOH

Answer: D

Watch Video Solution

CH4

KCl

SO2

19. Which type of bond is present in Xe molecule ?

https://dl.doubtnut.com/l/_5cIoC21wWZoM
https://dl.doubtnut.com/l/_iZcveNgaWm4o
https://dl.doubtnut.com/l/_fgoOh8KSgP7C


Critical thinking( Objective question)

A. Covalent

B. Ion-dipole

C. Van der waal's force

D. Dipole-dipole

Answer: C

Watch Video Solution

1. Which combination is best explained byh the co-ordinate covalent bond

A. 

B. 

C. 

D. 

H + + H2O

Cl + Cl

Mg + O2

1

2

H2 + I2

https://dl.doubtnut.com/l/_fgoOh8KSgP7C
https://dl.doubtnut.com/l/_DAluso6koDNv


Answer: A

Watch Video Solution

2.  are converted into monocations,  and  respectively.

Which of the following is wrong?

A. In  the N-N bond weakens

B. In  , the O-O bond order increases

C. In  paramagnetism decreases

D.  becomes diamagnetic

Answer: D

Watch Video Solution

N2 and O2 N +
2 O+

2

N2

O2

O2

N +
2

3. Which of the following species contains three bond pairs and one lone

pair around the central atom

https://dl.doubtnut.com/l/_DAluso6koDNv
https://dl.doubtnut.com/l/_qBNRXxaqiwy5
https://dl.doubtnut.com/l/_4dl9xifQ1Wxo


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2O

BF3

NH −
2

PCl3

4. Which of the following has the highest dipole moment ?

A. 

B. 

C. 

D. 

H

∣

C
∣

CH3

=

CH3

∣

C
∣

H

CH3

∣

C
∣

CH3

=

H

∣

C
∣

H

Cl

∣
=

∣

CH3

CH3

∣

C
∣

Cl

https://dl.doubtnut.com/l/_4dl9xifQ1Wxo
https://dl.doubtnut.com/l/_qd2ugfhPQC9L


Answer: A

Watch Video Solution

5. Which of the following arrangment of molecules is correct on the basis

of their dipole moments

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

BF3 > NF3 > NH3

NF3 > BF5 > NH3

NH3 > BF3 > NF3

NH3 > NF3 > BF3

6. Sulphur reacts with chlorine in 1:2 ration and forms X . Hydrolysis of X

gives a sulphur compound Y. what is the structure and hybridisation of

https://dl.doubtnut.com/l/_qd2ugfhPQC9L
https://dl.doubtnut.com/l/_ODLfNIWUeLEQ
https://dl.doubtnut.com/l/_Wa8Kg3hCjKqu


anion of Y 

A. Tetrahedral, 

B. Linear , sp

C. Pyramidal , 

D. Trigonal planar, 

Answer: C

Watch Video Solution

sp3

sp3

sp2

7. Bond length of ethane (I), ethene (II), acetylene (III) and benzene (IV)

follows the order

A. IgtIIgtIII gtIV

B. IgtIIgtIVgtIII

https://dl.doubtnut.com/l/_Wa8Kg3hCjKqu
https://dl.doubtnut.com/l/_I16DaDyMB9y7


C. IgtIVgtIIgtIII

D. IIIgtIVgtIIgtI

Answer: B

Watch Video Solution

8. Match the list I and list II and write the correct matching 

A. A-2,B-1,C-3,D-5,E-4

B. A-1,B-5,C-2,D-3,E-4

C. A-5,B-1,C-2,D-3,E-4

D. A-1,B-5,C-2,D-3,E-2

https://dl.doubtnut.com/l/_I16DaDyMB9y7
https://dl.doubtnut.com/l/_V7k1a3E8ghdI


Answer: C

Watch Video Solution

9.  is the symbol of ...... Ion

A. Oxide

B. Superoxidw

C. Peroxide

D. Monoxide

Answer: C

Watch Video Solution

O2 −
2

10. The values of electronegativity of atom A and B are 1.20 and 4.0

respectively. The percentage of ionic character of A-B bond is nearly

https://dl.doubtnut.com/l/_V7k1a3E8ghdI
https://dl.doubtnut.com/l/_FD3PtBBc72EJ
https://dl.doubtnut.com/l/_BoqwIHkgcGzB


A. 0.5

B. 0.43

C. 0.533

D. 0.7224

Answer: D

Watch Video Solution

11.  Fluorine reacts with dilute NaOH and forms a gaseous product A. The

bond angle in the molecule of A is

A. 

B. 

C. 

D. 

Answer: B

104∘ 40'

103∘

107∘

109∘ 28'

https://dl.doubtnut.com/l/_BoqwIHkgcGzB
https://dl.doubtnut.com/l/_BuQzbFdbJg9a


Watch Video Solution

12. Hybridisation state of chlorine in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ClF3

sp3

sp3d

sp3d2

sp3d3

13. Among the following , the compound that contains ionic, covalent and

coordinate linkage is

A. 

B. 

NH4Cl

NaCl

https://dl.doubtnut.com/l/_BuQzbFdbJg9a
https://dl.doubtnut.com/l/_alunNaCeskZ5
https://dl.doubtnut.com/l/_Q1bMmw8s5Lq6


C. CaOC

D. 

Answer: A

Watch Video Solution

NH3

14. Which one of the following contains ionic, covalent and co-ordinate

and coordinate linkage is

A. NaOH

B. NaCl

C. NaCN

D. NaNC

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Q1bMmw8s5Lq6
https://dl.doubtnut.com/l/_DbZuvpZBysiu
https://dl.doubtnut.com/l/_IIkl8pWnmPMO


15. The electronegativity of an element is low. The bond formed between

two identical atoms of the above element is most likely to be

A. Covalent

B. Metallic

C. Ionic

D. Co-ordinate covalent

Answer: B

Watch Video Solution

16. The magnetic moment of  is found to be 1.7 B.M. how

many unpaired electron (s) is/are present per molecule

A. 1

B. 2

C. 3

K3[Fe(CN)6]

https://dl.doubtnut.com/l/_IIkl8pWnmPMO
https://dl.doubtnut.com/l/_6Z2SHFgp8skn


D. 4

Answer: A

Watch Video Solution

17. It is believed that atoms combine with each other such that the

outermost shell acquires a stable configuration of 8 electrons. If stability

were attalned with 6 electrons rather than 8. What would be the formula

of the stable fluoride ion.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F −

F +

F 2 +

F 3 +

https://dl.doubtnut.com/l/_6Z2SHFgp8skn
https://dl.doubtnut.com/l/_J06Ve4Y8nD6k


18. Which of the following contains a coordinate and covalent bond

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N2H
+

5

BaCl2

HCl

H2O

19. Structure of  and hybridization of iodine in this structure are

A. , linear

B. , T-shaped

C. , see saw

D. , Octahedral

IF
+

4

sp3d

sp2d2

Sp3d

sp3d2

https://dl.doubtnut.com/l/_UdizImNZnO5Z
https://dl.doubtnut.com/l/_DJwMsXICpVxZ


Answer: C

Watch Video Solution

20. In which of the following the central atoms does not use  hybrid

orbitals in its bonding

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sp3

BeF −
3

OH +
3

NH −
2

NF3

21. The ionisation of hydrogen atom would give rise to

https://dl.doubtnut.com/l/_DJwMsXICpVxZ
https://dl.doubtnut.com/l/_0CHrjI0alP9G
https://dl.doubtnut.com/l/_fh42vAB0iIqp


A. Hybrid ion

B. Hydronium ion

C. Proton

D. Hydroxyl ion

Answer: C

Watch Video Solution

22. Which can described as a molecule with residual bonding capacity

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

BeCl2

NaCl

CH4

N2

https://dl.doubtnut.com/l/_fh42vAB0iIqp
https://dl.doubtnut.com/l/_QTqjLhIeLnHW


JEE Section (Only one choice correct answer)

1. Which one in the following contains ionic as well as covalent bond

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH4

H2

KCN

KCl

2. The number of electrons involved in the bond formation of 

molecule are ________.

A. 2

N2

https://dl.doubtnut.com/l/_QTqjLhIeLnHW
https://dl.doubtnut.com/l/_dBfZaIRXWT8Y
https://dl.doubtnut.com/l/_58zU21xgYa8m


B. 4

C. 6

D. 10

Answer: C

Watch Video Solution

3. Select the compound from the following which dissolves in water

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CCl4

CS2

CHCl3

C2H5OH

https://dl.doubtnut.com/l/_58zU21xgYa8m
https://dl.doubtnut.com/l/_fhfQsDc2Fr17
https://dl.doubtnut.com/l/_pxN0qaXjk86A


4. Molten sodium chloride conducts electricity due to the presence of

A. Free electrons

B. Free ions

C. Free molecules

D. Atoms of sodium and chlorine

Answer: B

Watch Video Solution

5. If molecule  has zero dipole moment, the sigma bonding orbitals

used by M (atomic number ) are

A. pure p

B. sp hybrid

C.  hybrid

D.  hybrid

MX3

< 21

sp2

sp3

https://dl.doubtnut.com/l/_pxN0qaXjk86A
https://dl.doubtnut.com/l/_JLcaK4icFHOt


Answer: C

Watch Video Solution

6. In which of the following is the angle between the two covalent bonds

greatest

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO2

CH4

NH3

H2O

7. Strongest intermolecular hydrogen bond is present in the following

molecules pairs

https://dl.doubtnut.com/l/_JLcaK4icFHOt
https://dl.doubtnut.com/l/_pHV1SWSflmMn
https://dl.doubtnut.com/l/_dHADRw6iRWkd


A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

SiH4 SiF4

CH3 −

O

∣ ∣

C − CH3 CHCl3

H −

O

∣ ∣

C − OH CH3 −

O

∣ ∣

C − OH

H2O H2

8. The ion that is isoelectronic with  is

A. 

B. 

C. 

D. 

Answer: A

CO

CN −

O+
2

O−
2

N +
2

https://dl.doubtnut.com/l/_dHADRw6iRWkd
https://dl.doubtnut.com/l/_mFYI3CGEgG9P


Watch Video Solution

9. Carbon tetrachloride has no net dipole moment because of 

A. its planar structure

B. its regular tetrahedral structure

C. Similar sizes of carbon and chlorine atoms

https://dl.doubtnut.com/l/_mFYI3CGEgG9P
https://dl.doubtnut.com/l/_vkKqCbEcg3qz


D. Similar electron affinities of carbon and chlorine

Answer: D

Watch Video Solution

10. Which molecules is linear

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NO2

ClO2

CO2

H2S

11. Which one among the following does not have the hydrogen bond?

https://dl.doubtnut.com/l/_vkKqCbEcg3qz
https://dl.doubtnut.com/l/_fxEBISVxlOUU
https://dl.doubtnut.com/l/_0HdxxLzsSpdZ


A. Phenol

B. Liquid 

C. water

D. liquid HCl

Answer: D

Watch Video Solution

NH3

12. Bonds presents in  is

A. Electrovalent and covalent

B. Electrovalent and coordinate covalent

C. Electrovalent , covalent and coordinate covalent

D. Covalent and coordinate covalent

Answer: C

Watch Video Solution

CuSO4.5H2O

https://dl.doubtnut.com/l/_0HdxxLzsSpdZ
https://dl.doubtnut.com/l/_9zNgFXzWYqoN


13. The compound butadiene has 

A. only Sp hybridized carbon atoms

B. only  hybridized carbon atoms

C. both sp and  hybridized carbon atoms

D.  and  hybridized carbon atoms

Answer: D

Watch Video Solution

1, 2 − :

sp2

sp2

sp, sp2 sp3

14. One hybridization of one  and one  orbital we get

A. Two mutually perpendicular orbitals

B. Two orbitals at 

C. Four orbitals directed tetrahedrally

s p

180∘

https://dl.doubtnut.com/l/_9zNgFXzWYqoN
https://dl.doubtnut.com/l/_ed4bkvbWDySw
https://dl.doubtnut.com/l/_TJM4t4bEy6mN


D. Three orbitals in a plane

Answer: B

Watch Video Solution

15. According to molecular orbital theory, the paramagnetism of 

molecule is due to the presence of

A. Unpaired electrons in the bonding  molecular orbital

B. Unpaired electrons in the antibonding  molecular orbital

C. unpaired electron in the bonding  molecular orbital

D. Unpaired electrons in the antibonding  molecular orbital

Answer: D

Watch Video Solution

O2

σ

σ

π

π

https://dl.doubtnut.com/l/_TJM4t4bEy6mN
https://dl.doubtnut.com/l/_LEONPNSU6Xpx


16. The molecule having one unpaired electron is

A. NO

B. CO

C. 

D. 

Answer: A

Watch Video Solution

CN −

O2

17. The bond between two identical non-metal atoms has a pair of

electrons:

A. Dissimilar shared between the two

B. By complete transfer from one atom to other

C. In a similar spin condition

D. Equally shared in between the two

https://dl.doubtnut.com/l/_918yQYFye9XC
https://dl.doubtnut.com/l/_OpcolFmrDQFE


Answer: D

Watch Video Solution

18. Which of the following contains a coordinate covalent bond?

A. 

B. 

C. HCl

D. 

Answer: A

Watch Video Solution

N2O5

BaCl2

H2O

19. The H-bond is strongest in

A. O-H...S

https://dl.doubtnut.com/l/_OpcolFmrDQFE
https://dl.doubtnut.com/l/_gMeLY21RRQRW
https://dl.doubtnut.com/l/_YU6MUY4Cyeg7


B. S-H....O

C. F-H....F

D. S-H....O

Answer: C

Watch Video Solution

20. The hybridization of sulphur in  is

A. sp

B. 

C. 

D. 

Answer: C

Watch Video Solution

SO2

sp3

sp2

dsp2

https://dl.doubtnut.com/l/_YU6MUY4Cyeg7
https://dl.doubtnut.com/l/_To3KgQVihz67
https://dl.doubtnut.com/l/_Vr3RjowttF3q


21. Zero dipole moment is present in

A. 

B. 

C. Cis, 1,2-dichloroethene

D. trans 1,2-dichloroethane

Answer: D

Watch Video Solution

NH3

H2O

22. The species in which the cantral atom uses  hybrid orbital in its

bonding is:

A. 

B. 

C. 

D. 

sp2

PH3

NH3

CH +
3

SbH3

https://dl.doubtnut.com/l/_Vr3RjowttF3q
https://dl.doubtnut.com/l/_eXVrfKLGwLuJ


Answer: C

Watch Video Solution

23. Polarization of electrons in acrolein may be written as:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

δ−

CH2 = CH −
det al+

C H = O

δ−

CH2 = CH − CH =
δ+

O

δ−

CH2 =
δ+

CH − CH = O

δ+

CH2 = CH − CH =
δ−

O

24. The molecule which has zero dipole moment is

A. CH2Cl2

https://dl.doubtnut.com/l/_eXVrfKLGwLuJ
https://dl.doubtnut.com/l/_lu1CgJ25QL0x
https://dl.doubtnut.com/l/_QnaDFzMOfWUu


B. 

C. 

D. 

Answer: A

Watch Video Solution

BF3

NF3

ClO2

25. The molecule which has pyramidal shape is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

PCl3

SO3

CO2 −
3

NO−
3

https://dl.doubtnut.com/l/_QnaDFzMOfWUu
https://dl.doubtnut.com/l/_v7GqjATW4JEF
https://dl.doubtnut.com/l/_YrQlOuhWL82S


26. The compound in which C uses its -hybrid orbitals for bond

formation is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sp3

H
∗

COOH

(H2N)2

∗

CO

(CH3)3

∗

COH

CH3

∗

CHO

27. Which one is paramagnetic from the following

A. 

B. NO

C. Both (a) and (b)

D. 

O−
2

CN −

https://dl.doubtnut.com/l/_YrQlOuhWL82S
https://dl.doubtnut.com/l/_ErvT7i7kn12x


Answer: C

Watch Video Solution

28. The type of hybrid orbitals used by chlorine atom in  is :

A. 

B. 

C. sp

D. None of these

Answer: A

Watch Video Solution

ClO−
2

sp3

sp2

29. The maximum possible number of hydrogen bonds a water molecule

can form is

https://dl.doubtnut.com/l/_ErvT7i7kn12x
https://dl.doubtnut.com/l/_lG2oQcPlOgOc
https://dl.doubtnut.com/l/_oJRIiqwzm45Q


A. 2

B. 4

C. 3

D. 1

Answer: B

Watch Video Solution

30. The high folowing points and insolution in orgaints solvents of

sulphanilic acid are due to its ……..structure

A. Simple ionic

B. Bipolar ionic

C. Cubic

D. Hexagonal

Answer: B

https://dl.doubtnut.com/l/_oJRIiqwzm45Q
https://dl.doubtnut.com/l/_NuP3jMcrtu8C


Watch Video Solution

31. The two types of bonds present in  are covalent and _____.

A. Three centre bond

B. Hydrogen bond

C. Two centre bond

D. None of the above

Answer: A

Watch Video Solution

B2H6

32. Which one is most ionic ?

A. 

B. 

C. MnO

P2O5

CrO3

https://dl.doubtnut.com/l/_NuP3jMcrtu8C
https://dl.doubtnut.com/l/_bnQu6C3hbgcs
https://dl.doubtnut.com/l/_oKQFoWVlAITX


D. 

Answer: C

Watch Video Solution

Mn2O7

33. In  the number of oxygen atoms bonded to each phosphorus

atom is……………………

A. 2

B. 3

C. 4

D. 2.5

Answer: C

Watch Video Solution

P4O10

https://dl.doubtnut.com/l/_oKQFoWVlAITX
https://dl.doubtnut.com/l/_fXrXgJ4aUgIY


34. The number of electrons that are paired in oxygen molecule is

A. 7

B. 8

C. 14

D. 16

Answer: C

Watch Video Solution

35. When  goes to , the  bond distance …………, and when 

goes to  the  bond distance…….

A. Decreases , increases

B. Increases, decreases

C. Increases, increases

D. None of these

N2 N +
2 N − N O2

O+
2 O − O

https://dl.doubtnut.com/l/_OuhcT8yr3ahd
https://dl.doubtnut.com/l/_jCkJoTa17nQv


Answer: B

Watch Video Solution

36. Among the following species, identify the isostuctural pairs 

A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

NF3. NO−
3 , BF3, H3O, HN3

[NF3, NO−
3 ] [BF3, H3O

+ ]

[NF3HN3] [NO−
3 , BF3]

[NF3, H3O
+ ] [NO−

3 , BF3]

[NF3, H3O
+ ] [HN3, BF3]

37. The number and type of bonds between carbon atoms in calcium

carbide are

https://dl.doubtnut.com/l/_jCkJoTa17nQv
https://dl.doubtnut.com/l/_y8CXlBSPUR1F
https://dl.doubtnut.com/l/_IYibvi9F94au


A. one sigma, one pi

B. one sigma, two pi

C. Two sigma, one pi

D. two sigma, two pi

Answer: B

Watch Video Solution

38. Arrange the following compounds in order of increasing dipole

moment: 

(i) toluene (ii) m-dichloro benzene 

(iii) o-dichloro benzene (iv) p-dichloro benzene

A. IltIVltIIltII

B. IVltIltIIltIII

C. IVltIltIIIltII

D. IVltIIltIltIII

https://dl.doubtnut.com/l/_IYibvi9F94au
https://dl.doubtnut.com/l/_JN3bsl9nAh0s


Answer: B

Watch Video Solution

39. Among ,  and ,unpaired electrons is present

in .

A.  and 

B.  and 

C.  only

D.  only

Answer: C

Watch Video Solution

KO2, ALOΘ
2 BaO2 NO+

2

NO+
2 BaO2

KO2 AlO−
2

KO2

BaO2

40. Which contains both polar and non-polar bonds ? .

https://dl.doubtnut.com/l/_JN3bsl9nAh0s
https://dl.doubtnut.com/l/_KjGYr02qTX3d
https://dl.doubtnut.com/l/_9dwFFzo0JvSQ


A. 

B. HCN

C. 

D. 

Answer: A

Watch Video Solution

NH4Cl

H2O2

CH4

41. The critical temperature of water is higher than that of  because

the  molecule has

A. Fewer electrons than 

B. Two covalent bonds

C. V-shaped

D. Dipole moment

Answer: D

O2

H2O

O2

https://dl.doubtnut.com/l/_9dwFFzo0JvSQ
https://dl.doubtnut.com/l/_xHwdIx8j3rMx


Watch Video Solution

42. Which of the following compounds has -hybridisation?

A. 

B. 

C. 

D. CO

Answer: B

Watch Video Solution

sp2

CO2

SO2

N2O

43. Among the following the compounds , the one that is polar and has

central atom with  hydridisation is

A. 

B. 

sp2

H2CO3

BF3

https://dl.doubtnut.com/l/_xHwdIx8j3rMx
https://dl.doubtnut.com/l/_A73r7omqJKFO
https://dl.doubtnut.com/l/_sPSuNPc97DAG


C. 

D. 

Answer: A

Watch Video Solution

N2O

HClO2

44. Asseration: The elctronic structure of  is: 


 


Reason: structure is not allowed because octet around  cannot be

O3

O

https://dl.doubtnut.com/l/_sPSuNPc97DAG
https://dl.doubtnut.com/l/_baWKhWCe09mj


expanded 

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_baWKhWCe09mj


45. Statement I  is predomionantly a covalent compound. 


Statement II Electronegatvity difference between  and  is too small

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. if both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: C

Watch Video Solution

LiCl

Li Cl

46. The geometry and the type of hybrid orbitals present about the

central atom in  is :BF3

https://dl.doubtnut.com/l/_baWKhWCe09mj
https://dl.doubtnut.com/l/_5LDcWg9KiIv2
https://dl.doubtnut.com/l/_QfVPkD5LKKcB


A. Linera, sp

B. Trigonal planar, 

C. Tetrahedral , 

D. Pyramidal , 

Answer: B

Watch Video Solution

sp2

sp3

sp3

47. The shape of  molecule is

A. Linear

B. Pyramidal

C. Tetrahedral

D. Square planar

Answer: D

Watch Video Solution

XeF4

https://dl.doubtnut.com/l/_QfVPkD5LKKcB
https://dl.doubtnut.com/l/_X61mVO3IZS1L


48. Which of the following resonating structure of  is the most

contributing ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N2O

N ≡
−

N −
+

O

N −
+

N ≡
−

O

+

N = N −
−

O

N − N = O

49. The correct order of dipole moment is :

A. 

B. 

C. 

CH4 < NF3 < NH3 < H2O

NF3 < CH4 < NH3 < H2O

NH3 < NF3 < CH4 < H2O

https://dl.doubtnut.com/l/_X61mVO3IZS1L
https://dl.doubtnut.com/l/_igjmhg45A8xM
https://dl.doubtnut.com/l/_6UobsFpYoIIP


D. 

Answer: A

Watch Video Solution

H2O < NH3 < NF3 < CH4

50. The correct order of increasig  bond length of 

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C − O

CO, CO2 −
3 , CO2

CO2 −
3 < CO2 < CO

CO2 < CO2 −
3 < CO

CO < CO2 −
3 < CO2

CO < CO2 < CO2 −
3

https://dl.doubtnut.com/l/_6UobsFpYoIIP
https://dl.doubtnut.com/l/_wfpu5SAMX7Bu


51. The geometry of  and its dipole moment are :

A. Angular and non-zero

B. Angular and zero

C. Linear and non-zero

D. Linear and zero

Answer: A

Watch Video Solution

H2S

52. In the compound 

 the  bond is of

A. 

B. 

C. 

D. 

CH2 = CH − CH2 − CH2 − C ≡ CH C2 − C3

sp − sp2

sp3 − sp3

sp − sp3

sp2 − sp3

https://dl.doubtnut.com/l/_rneaVNkH0OGc
https://dl.doubtnut.com/l/_irTUnGQ9vLru


Answer: D

Watch Video Solution

53. The molecular shapes of  are :

A. The same, with 2, 0 and 1 lone pair of electrons respectively

B. The same, with 1,1 and 1 lone pairs of electrons respectively

C. Different, with 0,1 and 2 lone pairs of electrons respectively

D. Different with 1,0 and 2 lone pairs of electrons respectively.

Answer: D

Watch Video Solution

SF4, CF4  and XeF4

54. The hybridization of atomic orbitals of nitrogen is , and 

 respectively are

NO+
2 , NO−

3

NH
+

4

https://dl.doubtnut.com/l/_irTUnGQ9vLru
https://dl.doubtnut.com/l/_nmxe9iz0QjuG
https://dl.doubtnut.com/l/_qmaapgxo9wWE


A.  and  respectively

B.  and  respectively

C.  and  respectively

D.  and  respectively

Answer: B

Watch Video Solution

sp, sp3 sp2

sp, sp2 sp3

sp2, sp sp3

sp2, sp3 sp

55. The order of dipole moment of the following molecules is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CHCl3 > CH2Cl2 > CH3Cl > CCl4

CH2Cl2 > CH3Cl > CHCl3 > CCl4

CH3Cl > CH2Cl2 > CHCl3 > CCl4

CH2Cl2 > CHCl3 > CH3Cl > CCl4

https://dl.doubtnut.com/l/_qmaapgxo9wWE
https://dl.doubtnut.com/l/_88tqgF0bCgYM


56. The common features among the species  and 

A. bond order three and isoelectronic

B. Bond order three and weak field ligands

C. Bond order two and -acceptors

D. Isoelectronic and weak field ligands

Answer: A

Watch Video Solution

CN − , CO NO+

π

57. The correct order of hybridization of the central atom in the following

species  and  is

A.  and 

B. 

C. 

NH3, [PtCl4]2 − , PCl5, BCl3

dsp2, dsp3, sp2 sp3

sp3, dsp2, dsp3, sp2

dsp2, sp2, sp3, dsp3

https://dl.doubtnut.com/l/_88tqgF0bCgYM
https://dl.doubtnut.com/l/_NJE8UZzRz9dM
https://dl.doubtnut.com/l/_Hmm9KXGapi38


D. 

Answer: B

Watch Video Solution

dsp2, sp3, sp2, dsp3

58. Specify the coordination geometry around and the hybridisation of 

and  atoms in  complex of  and .

A. N: Tetrahedral , ,: B tetrahedral 

B. N: Pyramidal , B: Pyramidal , 

C. N : Pyramidal , ,: B: Planar 

D. N: Pyramidal , , B: tetrahedral , 

Answer: A

Watch Video Solution

N

B 1: 1 BF3 NH3

sp3 sp3

sp3, sp3

sp3 sp2

sp3 sp3

https://dl.doubtnut.com/l/_Hmm9KXGapi38
https://dl.doubtnut.com/l/_pMvPgJJmwK5j


59. Identify the least stable ion amongst the following:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Li−

Be−

B−

C −

60. Which of the following molecular species has unpaired electrons(s) ? .

A. 

B. 

C. 

D. 

N2

F2

O−
2

O2 −
2

https://dl.doubtnut.com/l/_rZ2FekT3Xhe6
https://dl.doubtnut.com/l/_e6EKUpVdUJmx


Answer: C

Watch Video Solution

61. Which of the following are isoelectronic and isostructural ? 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NO−
3 , CO2 −

3 , ClO−
3 , SO3

NO−
3 , CO2 −

3

SO3, NO−
3

ClO3, CO2 −
3

CO2 −
3 , SO3

62. According to  whch of the following statement about magnetic

character and bond order is corrent regarding  .

MOT

O⊕
2

https://dl.doubtnut.com/l/_e6EKUpVdUJmx
https://dl.doubtnut.com/l/_p53JKGYXQyuK
https://dl.doubtnut.com/l/_2k9gEtTFETa0


A. Paramagnetic and bond order 

B. Paramagnetic and Bond order 

C. Diamagnetic and Bond order 

D. Diamagnetic and Bond order 

Answer: B

Watch Video Solution

< O2

> O2

< O2

> O2

63. The acid having O - O bond is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2S2O3

H2S2O6

H2S2O8

H2S4O6

https://dl.doubtnut.com/l/_2k9gEtTFETa0
https://dl.doubtnut.com/l/_oVutKurzV2AN


64. Which species has the maximum number of lone pair of electrons on

the central atom ? .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[ClO3] −

XeF4

SF4

[I3] −

65. If the bond length of CO bond in carbon monoxide is , then

what is the value of CO bond length in  ?

A. 1.15Å

B. 1.128Å

1.128Å

Fe(CO)5

https://dl.doubtnut.com/l/_oVutKurzV2AN
https://dl.doubtnut.com/l/_JNfhlEdojsfo
https://dl.doubtnut.com/l/_wyb5uddCaDMK


C. 1.72Å

D. 1.118Å

Answer: A

Watch Video Solution

66. The species having bond order differnet from that in  is .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO

NO−

NO+

CN −

N2

https://dl.doubtnut.com/l/_wyb5uddCaDMK
https://dl.doubtnut.com/l/_MWAOmGvebPqq


67. Among the following , the paramagnetic compound is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na2O2

O3

N2O

KO2

68. Arrange the following resonating structures in order of increasing

stability 

A. (I)gt(II)gt(IV)gt(III)

B. (I)gt(III)gt(II)gt(IV)

C. (II)gt(I)gt(III)gt(IV)

CH2 =
+

N =
−

N
( I )

    H2

+

C = N =
−

N
( II )

    H2

−

C −
+

N ≡ N
( III )

    H2

−

C − N =
+

N
( IV )

https://dl.doubtnut.com/l/_qNfaZU9HQzUC
https://dl.doubtnut.com/l/_i9gz1FtrFR10


D. (III)gt(I)gt(IV)gt(II)

Answer: B

Watch Video Solution

69. The species having pyramidal shape is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SO3

BrF3

SiO2 −
3

OSF2

https://dl.doubtnut.com/l/_i9gz1FtrFR10
https://dl.doubtnut.com/l/_Jm68DMBLWjGp


70. Assuming that Hund's rule is violated the bond order and magnetic

nature of the diatomic molecle  is

A. 1 and diamagnetic

B. 0 and diamagnetic

C. 1 and paramagnetic

D. 0 and paramagnetic

Answer: A

Watch Video Solution

B2

71. Which one of the following molecules is expected to exhibit

diamagnetic behaviour? 

(i)  (ii)  


(iii)  (iv) 

A. 

N2 O2

S2 C2

C2

https://dl.doubtnut.com/l/_HVryn2DWPGyO
https://dl.doubtnut.com/l/_Fa1Pkrl4vfwL


B. 

C. 

D. 

Answer: A::B

Watch Video Solution

N2

O2

S2

72. Stability of the species  and  increases in the order of

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Li2, Li−
2 Li+

2

Li2 < Li+
2 < Li−

2

Li−
2 < Li+

2 < Li2

Li2 < Li−
2 < Li+

2

Li−
2 < Li2 < Li+

2

https://dl.doubtnut.com/l/_Fa1Pkrl4vfwL
https://dl.doubtnut.com/l/_aD3Fso0fDczT
https://dl.doubtnut.com/l/_wkggXTXvRdZ0


73. Which of the following properties is not shown by  ?

A. It is a diamagnetic in gaseous state

B. It is a netural oxide

C. It combines with oxygen to form nitrogen dioxide

D. It's bond order is 2.5

Answer: A

Watch Video Solution

NO

74. Assuming  mixing is  operative, the paramagnetic

species among the following is .

A. 

B. 

C. 

D. 

2s − 2p NOT

Be2

B2

C2

N2

https://dl.doubtnut.com/l/_wkggXTXvRdZ0
https://dl.doubtnut.com/l/_MncA1T2voOin


Answer: C

Watch Video Solution

75. The intermolecular interaction that is dependent on the inverse cube

of distance between the molecules is

A. Ion-ion interaction

B. Ion-dipole interaction

C. London force

D. Hydrogen bond

Answer: B

Watch Video Solution

76. Which of the following species is not paramagnetic?

https://dl.doubtnut.com/l/_MncA1T2voOin
https://dl.doubtnut.com/l/_8T3X4z9UIUfD
https://dl.doubtnut.com/l/_8zgHldPlzgap


A. 

B. 

C. 

D. NO

Answer: A

Watch Video Solution

CO

O2

B2

77. Which of the following are Lewis acids?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

AlCl3 SiCl4

PH3 SiCl4

BCl3 AlCl3

PH3 BCl3

https://dl.doubtnut.com/l/_8zgHldPlzgap
https://dl.doubtnut.com/l/_Aqgn5q7qLxyJ


78. Total number of lone pair of electrons in 3  ion is

A. 6

B. 9

C. 12

D. 3

Answer: B

Watch Video Solution

I −
3

79. According to molecular orbital theory, which of the following will not

be a viable molecule?

A. 

B. 

C. 

He+
2

H −
2

h2 −
2

https://dl.doubtnut.com/l/_Aqgn5q7qLxyJ
https://dl.doubtnut.com/l/_o9QKE9DoQamI
https://dl.doubtnut.com/l/_1MFXTxyAWi2J


JEE Section (More than one correct answer)

D. 

Answer: C

Watch Video Solution

He2 +
2

80. Which of the following compounds contain(s) no covalent bond(s)? 

A. 

B. KCl

C. 

D. 

Answer: B

Watch Video Solution

KCl, PH3, O2, B2H6, H2SO4

KCl, H2SO4

KCl, B2H6

KCl, B2H6, PH3

https://dl.doubtnut.com/l/_1MFXTxyAWi2J
https://dl.doubtnut.com/l/_pnEnQppdr0OD


1.  is isostructral with

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

CO2

HgCl2

C2H2

SnCl2

NO2

2. The linear struture is assumed by :

A. 

B. 

C. 

D. 

SnCl2

NCO−

CS2

NO+
2

https://dl.doubtnut.com/l/_pulFfE7FdlZH
https://dl.doubtnut.com/l/_Om0yNOni8x0X


Answer: B::C::D

Watch Video Solution

3. Which of the following have identical bond order?

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

CN −

O−
2

NO+

CN +

4. The molecule that will have dipole moment is:

A. 2,2-Dimethylpropane

https://dl.doubtnut.com/l/_Om0yNOni8x0X
https://dl.doubtnut.com/l/_kOZZ6rqlFZVT
https://dl.doubtnut.com/l/_uWA2Acjw3VG3


B. Trans-2-pentene

C. Cis-3-Hexene

D. 2,2,3,3,-tetramethylbutane

Answer: B::C

Watch Video Solution

5. Pick out the isoelectronic structure from the following 

 


A. I and II

B. III and IV

C. I and III

D. II,III and IV

Answer: B::D

I. CH +
3         II. H3O

+

III. NH3              IV CH −
3

https://dl.doubtnut.com/l/_uWA2Acjw3VG3
https://dl.doubtnut.com/l/_sYfsPzJI80iJ


Watch Video Solution

6. Which of the following hydrides are ionic

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

CaH2

BaH2

SrH2

BeH2

7.  anion has which of the following characterstics

A. Bonds of unequal length

B.  hybridization of C atom

C. Resonance stabilization

CO2 −
3

sp2

https://dl.doubtnut.com/l/_sYfsPzJI80iJ
https://dl.doubtnut.com/l/_pqaU8WNejRZA
https://dl.doubtnut.com/l/_OxA9Z0Qc1h3e


D. Same bond angles

Answer: B::C::D

Watch Video Solution

8. Which of the following conducts electricity in the fused state

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

BeCl2

MgCl2

SrCl2

BaCl2

https://dl.doubtnut.com/l/_OxA9Z0Qc1h3e
https://dl.doubtnut.com/l/_YQt9mjnR4WVL


9. Hydrogen bonding plays a central role in which of the following

phenomena?

A. Ice floats in water

B. Higher Lewis basicity of primary amines that tertiary amines in

aqueous solution

C. Formic acid is more acidic than acetic acid

D. 

Answer: A::B::D

Watch Video Solution

10. According to Molecular Orbital Theory,

A.  is expected to be diamagnetic

B.  expected to have a longer bond length than 

C.  and  have the same bond order

C 2 −
2

O2 +
2 O2

N +
2 N −

2

https://dl.doubtnut.com/l/_sVszy2e6hOsJ
https://dl.doubtnut.com/l/_v3ThmLiRaWXO


D.  has the same energy as two isolated He atoms

Answer: A::C

Watch Video Solution

He+
2

11. Which of the following process is/are assciated with change of

hybridisation of the underlined compounds?

A.  ppt. dissolved in NaOH

B.  is dissolved in THF

C.  vapour is passed thorugh liq. HF

D. Solidification of  vapour

Answer: A::C::D

Watch Video Solution

Al(OH)3––––––––––

B2H6––––––

SiF4–––––

PCl5––––––

https://dl.doubtnut.com/l/_v3ThmLiRaWXO
https://dl.doubtnut.com/l/_PilPCX0CV8o0


JEE Section (Reasoning type question)

12. Which of the following statements are not correct

A. All C-O bonds in  are equal but not in 

B. All C-O bonds in  are equal but not in 

C. C-O bond length in  is longer than C-O bond length in 

D. C-O bond length in  and C-O bond length in  are

equal

Answer: C::D

Watch Video Solution

CO2 −
3 H2CO3

HCO−
2 HCO2H

HCO−
2

CO2 −
3

HCO−
2 CO2 −

3

https://dl.doubtnut.com/l/_beVeLmhTn3Ue


1. Statement I The electronic structure of  is 


 


Statement II 

structure is not allowed because octet around  cannot be expanded.

A. Statement 1: is true, statement 2 is true : statement 2 is a correct

explanation for statement 1

B. Statement 1 is true, statement 2 is true , statement 2 is not a

correct explanation for statement 1

O3

O

https://dl.doubtnut.com/l/_KlKFvGVgn5Ey


C. Statement 1 is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: B

Watch Video Solution

2. Statement 1:  is planar at each nitrogen atom 


Statement 2: In , the bond angle H-N-H is  and bond the N-N

bond length are not equal

A. Statement 1: is true, statement 2 is true : statement 2 is a correct

explanation for statement 2

B. Statement 1 is true, statement 2 is true , statement 2 is not a

correct explanation for statement 2

C. Statement 1 is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

N2F
+

3

N2H 120∘

https://dl.doubtnut.com/l/_KlKFvGVgn5Ey
https://dl.doubtnut.com/l/_62kJvpPgLHk4


Answer: C

View Text Solution

3. Assertion : Carbon has unique ability to form  multiple bonds

with itself and with other atomic of small size and high electronegativety. 

Reason : Heaviur elements of group  do not form  bonds

because their atomic orbital are too large and diffuse to have effective

sideways overapping.

A. Statement 1: is true, statement 2 is true : statement 2 is a correct

explanation for statement 3

B. Statement 1 is true, statement 2 is true , statement 2 is not a

correct explanation for statement 3

C. Statement 1 is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: B

pπ − pπ

14th pπ − pπ

https://dl.doubtnut.com/l/_62kJvpPgLHk4
https://dl.doubtnut.com/l/_Pl70nxbF06TN


Watch Video Solution

4. Assertion : 

F bond angle p is equal to the bond angle Q but not precisely equal to

. 


Reason :The molecule is T- shapes and there is repulsion between lone

pairs of electrons.

90∘

https://dl.doubtnut.com/l/_Pl70nxbF06TN
https://dl.doubtnut.com/l/_PogpFK2pwyWy


JEE Section (Comprehension type question)

A. Statement 1: is true, statement 2 is true : statement 2 is a correct

explanation for statement 4

B. Statement 1 is true, statement 2 is true , statement 2 is not a

correct explanation for statement 4

C. Statement 1 is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: A

Watch Video Solution

1. According to MOT, two atomic orbitals overlap resulting in the

formation of molecular orbital formed. Number of atomic orbitals

overlapping together is equal to the molecule orbital formed. The two

atomic orbital thus formed by LCAO (linear combination of atomic

https://dl.doubtnut.com/l/_PogpFK2pwyWy
https://dl.doubtnut.com/l/_gGXWXsxb2Kzg


orbital) in the phase or in the different phase are known as bonding and

antibonding molecular orbitals respectively. The energy of bonding

molecular orbital is lower than that of the pure atomic orbitals by an

amount . This known as the stabilization energy. The enerby of

antibonding molecular orbital in increased by  (destabilisation

energy). 

Q. How many nodal plane is present in  bonding molecular orbital

?

A. Zero

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

Δ

Δ'

σs and p

https://dl.doubtnut.com/l/_gGXWXsxb2Kzg


2. According to MOT, two atomic orbitals overlap relsulting in the

formation of molecular orbital. Number of atomic orbitals overlapping

together is equal to the molecular orbital formed. The two atomic orbital

formed by LCAO (linear combination of atomic orbital) in the same phase

or in the different phase are known as bonding and antibonding

molecular orbitals respectively. theenergy of bonding molecular orbital is

less than that of the pure atomic orbital by an amount . this is known

as the stabilization energy. the energy of antibonding molecular orbital is

increased by  (destabilisation energy) 


The bond order of  is equal to that of

A. 

B. 

C. 

D. None

Answer: C

Watch Video Solution

Δ

' Δ'

N −
2

O2

O2 −
2

O+
2

https://dl.doubtnut.com/l/_gXWmxFqxmFHz


3. According to MOT, two atomic orbitals overlap relsulting in the

formation of molecular orbital. Number of atomic orbitals overlapping

together is equal to the molecular orbital formed. The two atomic orbital

formed by LCAO (linear combination of atomic orbital) in the same phase

or in the different phase are known as bonding and antibonding

molecular orbitals respectively. theenergy of bonding molecular orbital is

less than that of the pure atomic orbital by an amount . this is known

as the stabilization energy. the energy of antibonding molecular orbital is

increased by  (destabilisation energy) 


Which among the following pairs contain both paramagnetic species

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

W t h Vid S l ti

Δ

' Δ'

O2 −
2 N −

2

O−
2 N2

O2 N2

O2 N −
2

https://dl.doubtnut.com/l/_gXWmxFqxmFHz
https://dl.doubtnut.com/l/_50BJCOlAMdxy


Watch Video Solution

4. Which of the following statement (s) is true

A. Higher the bond order lesser the bond length

B. Higher the bond order greater the bond length

C. Higher the bond order lesser the bond energy

D. Higher the bond order lesser the number of bonds

Answer: A

Watch Video Solution

5. Which of the following combination of orbitals is correct

A. 

B. 

C. 

https://dl.doubtnut.com/l/_50BJCOlAMdxy
https://dl.doubtnut.com/l/_8xaBOEH7CsZo
https://dl.doubtnut.com/l/_VYd7dgehtYjX


D. 

Answer: C

View Text Solution

6. Which of the following statements is not regarding bonding molecular

orbitals

A. Bonding molecular orbitals possess less energy than the atomic

orbitals from which they are formed

B. Bonding molecular orbitals have low electron density between the

two nuclei

C. Electron in bonding molecular orbital contributes to the attraction

between atoms

D. They are formed when the lobes of the combining atomic orbitals

have the same sign

https://dl.doubtnut.com/l/_VYd7dgehtYjX
https://dl.doubtnut.com/l/_eUCZZ7iVNx21


JEE Section (Integer type question)

Answer: B

Watch Video Solution

7. If x-axis is the molecular axis, the -molecular orbitals are formed by

the overlap of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π

s + pz

Px + Py

Pz + Pz

Px + Px

https://dl.doubtnut.com/l/_eUCZZ7iVNx21
https://dl.doubtnut.com/l/_jASJMaNDfxMW


1. Based on VSEPR theory, the number of  angles in 

is

Watch Video Solution

90∘F − Br − F BrF5

2. A list of species having the formula of  is given below 

and  


Defining shape on the basis of the locatiion of  and  atoms, the total

number of species having a square planar shape is

Watch Video Solution

XZ4

XeF4, SF4, SiF4, BF −
4 , BrF −

4 , [Cu(NH3)4]2 + , [FeCl4]2 − , [CoCl4]2 −

[PtCl4]2 −

X Z

3. The total number of lone pair of electrons in  is

Watch Video Solution

N2O3

https://dl.doubtnut.com/l/_1WqSsj6FS07q
https://dl.doubtnut.com/l/_RfkhJvAFS8hj
https://dl.doubtnut.com/l/_yfGMbAVTNn4u


4. Among the triatomic molecules/ions

 and , the total

number of linear molecules (s)/ion(s) where the hybridisation of the

central atom does not have contribution from the - orbitals (s) is

[atomic number of  and ]

Watch Video Solution

BeCl2, N −
3 , N2O, NO+

2 , O3, SCl2, lCl−
2 , l−

3 XeF2

d

S = 16, Cl = 17, I = 53 Xe = 54

5. Among  and , the number of

diamagnetic species is 

(Atomic numbers:

)

Watch Video Solution

H2, He+
2 , Li2, Be2, B2, C2, N2, O−

2 F2

H = 1, He = 2, Li = 3, Be = 4, B = 5, C = 6, N = 7, O = 8, F = 9

6. This section contains some integer type question 

The ratio of  to  bonds in mesitylene is

Watch Video Solution

σ π

https://dl.doubtnut.com/l/_M26WvHnmScux
https://dl.doubtnut.com/l/_g4kiOL8sZDzf
https://dl.doubtnut.com/l/_2K1L9pm1WjGL


JEE Section (Matrix match type question)

Watch Video Solution

7. Diatomic molecule has a dipole moment of  If its bond  what

fraction of an electronic charge exists on each atom ? .

Watch Video Solution

1.2D 1.0Å

8. This section contains some integer type question 

Estimate the percent ionic character of the HBr molecule, given that the

dipole moment  is 0.63 D and HBr bond length 187.5 pm

Watch Video Solution

(μ)

1. Match each of the diatomic molecules in Column I with its

property/properties in Column II. 

https://dl.doubtnut.com/l/_2K1L9pm1WjGL
https://dl.doubtnut.com/l/_cFE5qyHqWZbW
https://dl.doubtnut.com/l/_r0Y37TcmoH7e
https://dl.doubtnut.com/l/_cooYhQ5gi10G


Watch Video Solution

2. Match the orbital overlap figures shown in Column I with the

description given in Column II and select the correct answer using the

codes given below the Columns. 

Watch Video Solution

https://dl.doubtnut.com/l/_cooYhQ5gi10G
https://dl.doubtnut.com/l/_BeJ1jSmxK30Y


Watch Video Solution

3. Match the compounds listed in Column I with their relevant

characterstics listed in Column II 

View Text Solution

4. Match the compounds listed in column I with their relevant

characaterstics listed in Column II 

https://dl.doubtnut.com/l/_BeJ1jSmxK30Y
https://dl.doubtnut.com/l/_5ggBW6NXz8fX
https://dl.doubtnut.com/l/_7OqGZ6bDjZSI


JEE Section (Jee (advanced ) 2018)

View Text Solution

1. Match each set of hybrid orbitals from List -I with complex (es) given in

List-II 

https://dl.doubtnut.com/l/_7OqGZ6bDjZSI
https://dl.doubtnut.com/l/_dNryRIjMsIXZ


Watch Video Solution

https://dl.doubtnut.com/l/_dNryRIjMsIXZ

